UNITED STATES BANKRUPTCY COURT DISTRICT OF DELAWARE

In re:	:	
	:	Chapter 11
ONCO INVESTMENT COMPANY,	:	
a Delaware corporation, et al.,	:	Jointly Administered
<u> </u>	:	Case No. 04-10558 (DDS)
Dahtawa		

Objection Deadline: May 2, 2005Hearing Date: To be determined.

THIRD INTERIM AND FINAL APPLICATION OF JONES DAY FOR COMPENSATION FOR SERVICES RENDERED AND REIMBURSEMENT OF EXPENSES FOR THE PERIOD FROM FEBRUARY 23, 2004 THROUGH JANUARY 31, 2005

Name of Applicant:	Jones Day ("Jones Day")
Authorized to Provide Services to:	The above-captioned reorganized debtors
Date of Retention:	March 23, 2004 (nunc pro tunc to February 23, 2004)
Period for which Compensation and Reimbursement is sought (Third Interim Period):	October 1, 2004 through January 31, 2005
Amount of Compensation requested for the Third Interim Period:	\$ <u>1,991,260.65</u>
Amount of Expense Reimbursement requested for the Third Interim Period:	\$_191,409.83 ¹
Period for which Compensation and Reimbursement is sought (Final):	February 23, 2004 through January 31, 2005
Amount of Compensation requested for the period February 23, 2004 through January 31, 2005:	\$ <u>6,392,348.75</u>
Amount of Expense Reimbursement requested for the period February 23, 2004 through	
January 31, 2005:	\$ 345,913.75
This is an: X interim X	final application

This amount reflects a compromise, described below, with the Fee Auditor (as such term is defined below) regarding certain expenses attributable to local transportation charges.

Prior Monthly Applications:

Dated	Filed	Period Covered	Requested Fees	Requested Expenses	Date of Certificate of No Objection	Paid Fees	Paid Expenses
5-05-04	5-05-04 (D.I. 576)	2-23-04 through 2-29-04	\$178,160 35	\$6,599.05	5-26-04 (D.I. 935)	\$169,084 68	\$6,599.05
5-27-04	5-27-04 (D.I. 943)	3-01-04 through 3-31-04	\$606,299.50	\$30,742.12	6-17-04 (D I 1215)	\$602,741 58	\$30,742 12
6-09-04	6-09-04 (D.I. 1069)	4-01-04 through 4-30-04	\$805,529 85	\$37,145.10	6-30-04 (D.I. 1279)	\$786,015 23	\$37,145.10
6-23-04	6-23-04 (D.I. 1238)	5-01-04 through 5-31-04	\$591,218.30	\$19,097.00	7-16-04 (D.I. 1358)	\$590,250.92	\$19,097 00
8-11-04	8-11-04 (D.I. 1483)	6-01-04 through 6-30-04	\$479,292.00	\$15,449.72	9-01-04 (D.I. 1579)	\$383,433.60	\$15,449.72
9-02-04	9-02-04 (D I 1581)	7-01-04 through 7-31-04	\$600,379.75	\$15,271.05	10-18-04 (D.I. 1778)	\$480,303.80	\$15,271.05
10-19-04	10-19-04 (D.I. 1789)	8-01-04 through 8-31-04	\$492,027 55	\$22,541.30	11-08-04 (D.I. 1894)	\$416,163.34	\$22,541.30
11-10-04	11-10-04 (D.I. 1903)	9-01-04 through 9-30-04	\$677,695.55	\$12,033.21	12-03-04 (D I 2064)	\$542,156.44	\$12,033 21
12-09-04	12-09-04 (D.I. 2082)	10-01-04 through 10-31-04	\$609,595.75	\$20,233.75	12-30-04 (D.I. 2134)	\$487,676 60	\$20,233.75
1-05-05	1-05-05 (D.L. 2140)	11-01-04 through 11-30-04	\$503,873.70	\$28,295.22	1-27-05 (D.I. 2178)	\$403,098.96	\$28,295.22
1-26-05	1-26-05 (D.I. 2180)	12-01-04 through 12-31-04	\$288,258.05	\$8,068.26	2-16-05 (D.I. 2258)	\$230,606 44	\$8,068.26
2-25-05	2-25-05 (D.I. 2272)	1-01-05 through 1-31-05	\$589,533.15	\$137,498.94	3-18-05 (D.I. 2315)	\$0	\$0

Prior Interim Applications:

Dated	Filed	Period Covered	Requested Fees	Requested Expenses	Date of Certificate of No Objection	Approved Fees	Approved Expenses
7-07-04	7-09-04 (D.I. 1322)	2-23-04 through 5-31-04	\$2,181,208.00	\$93,583.27	n/a	\$2,151,693.25	\$89,982.43
11-15-04	11-15-04 (D.L. 1931)	6-01-04 through 9-30-04	\$2,249,394.85	\$65,295.28	n/a	Pending	Pending

CL1-1283374v1 -2-

Ť:	kreper Name	Title	Bur Year	Billing Rate	Hours		Total Fees
		·					
RACHEL DULCIE	ALLEN BRAND	PARTNER PARTNER	1989 1981	335 520	2.20 0.50		737 00 260.00
KATHLEEN	BURKE	PARTNER	1973	385	31.50		12.127.50
CHRISTOPHER	CARSON	PARTNER	1965	615	4 30		2,644 50
BRAD	ERENS	PARTNER	1991	550	0.50		275.00
CHARLES	HARDIN JR HARDIN JR	PARTNER PARTNER	1987 1987	510 530	6 40 0.50	••	3.264.00 265.00
CHARLES PAUL	HARNER	PARTNER	1990	695	1.40		973.00
MICHELLE	HARNER	PARTNER	1995	225	8 00	٠	1.800.00
MICHELLE	HARNER	PARTNER	1995	450	286 30		128.835.00
MICHELLE	HARNER	PARTNER	1995	525	3.30 3.00	••	1.732 50 1,192 50
DAVID DAVID	HEIMAN HEIMAN	PARTNER PARTNER	1971 1971	397.5 795	65 80		52,311.00
DAVID	HEIMAN	PARTNER	1971	825		••	00,00
WILLIAM	HERZBERGER	PARTNER	1987	405	17 80		7.209.00
RONALD	JANKE	PARTNER	1974	450	0.90		405.00
CARL	JENKS	PARTNER	1982 1984	610 485	1 50 9.60		915.00 4,365,00
MARK RICHARD	KNOWLES KOSNIK	PARTNER PARTNER	1983	650	12.20		7.930.00
HEATHER	LENNOX	PARTNER	1992	262 5	42.60	•	11.182 50
HEATHER	LENNOX	PARTNER	1992	297.5	10.30	•	3,064.25
HEATHER	LENNOX	PARTNER	1992	525	306.00		160,650.00
HEATHER	LENNOX	PARTNER	1992	595 475	43 80 9.70	••	26,061-00 4,607-50
MARY MARY	MALONEY MALONEY	PARTNER PARTNER	1987 1987	525	14.60	••	7,665 00
STEPHEN	MIXTER	PARTNER	1986	440	22.90		10,076.00
STEPHEN	MIXTER	PARTNER	1986	455	84.00	**	38.220.00
IOHN	NEWMAN JR	PARTNER	1970	650	1 80		1.170.00
DAVID	PORTER	PARTNER	1981	560 575	137 10 43 30	••	76.776.00 24.897.50
DAVID EDWARD	PORTER PURNELL	PARTNER PARTNER	1981 1990	450	10.50		4,725.00
EDWARD	PURNELL	PARTNER	1990	475	12 80	••	6,080.00
RACHEL	RAWSON	PARTNER	1991	375	32.00		12,000.00
RACHEL	RAWSON	PARTNER	1991	395	62.90	••	24,845 50
RICHARD	REPPERT	PARTNER	1974	350 390	0.20 1.50	••	70.00
RICHARD JEANNE	REPPERT RICKERT	PARTNER PARTNER	1974 1980	530	130		585.00 689.00
CANDACE	RIDGWAY	PARTNER	1988	525	0.30		157 50
LOUIS	RORIMER	PARTNER	1975	430	2.10		903.00
JAMES	SALERNO	PARTNER	1993	560	7.00	_	3,920,00
EDWARD	SEBOLD SEBOLD	PARTNER PARTNER	1991 1991	185 370	19 50 126 10	•	3,607 50 46,657.00
EDWARD TOM	SMITH	PARTNER	1972	685	0.30		205 50
SCOTT	SPECHT	PARTNER	1979	515	1.00		515.00
RICHARD	WERDER JR	PARTNER	1984	645	50.70		32,701 50
ERIN	KARZMER	OF COUNSEL	1990	435	234.50	••	102,007 50
ERIN TRACY	KARZMER PLOTT	OF COUNSEL OF COUNSEL	1990 1991	465 370	186.30 6.60		49,429 50 2,442.00
FREDERICK	RERKO	OF COUNSEL	1973	495	8.50		4.207 50
CHARLES	STEINES	COUNSEL	1977	330	1.00		330.00
MARTHA	WACH	COUNSEL	1994	360	2.50		900.00
KATHLEEN	AMER	ASSOCIATE	2004	160	13.40		2.144 00
JEREMY CARL	BEYDA BLACK	ASSOCIATE ASSOCIATE	N/A 1998	225 162.5	15.60 6.40		3,510.00 1,040.00
CARL	BLACK	ASSOCIATE	1998	325	362.30		117,747 50
CARL:	BLACK	ASSOCIATE	1998	375	69.70	••	26,137 50
PEARSON	BOWNAS	ASSOCIATE	1997	280	7 80		2.184.00
HOWARD	CHU COOLBAUGH	ASSOCIATE ASSOCIATE	2004 2001	155 195	8 00 279 90		1.240 00 54.580.50
STEPHEN STEPHEN	COOLBAUGH	ASSOCIATE	2001	220	138 60	••	30,492.00
MATTHEW	ENGOTT	ASSOCIATE	2001	215	2.20		473 00
PATRICIA	ESCHBACH-HALL	ASSOCIATE	1999	245	39.10		9.579.50
PATRICIA	ESCHBACH-HALL	ASSOCIATE	1999	275	37.00	••	10.175 00
MONICA MONICA	FERRER FERRER	ASSOCIATE ASSOCIATE	1996 1996	415 430	253.00 156.00	••	104,995 00 67,080.00
ANDREW	FIORELLA	ASSOCIATE	2003	155	47.30		7.331.50
ANDREW	FIORELLA	ASSOCIATE	2003	180	0.10	••	18.00
KYLE	FOLEY	ASSOCIATE	2003	240	8 90		2.136.00
ILANA	GLAZIER	ASSOCIATE	2000	325	38 40		12,480,00
ERIC ERIC	GOODMAN GOODMAN	ASSOCIATE ASSOCIATE	2003 2003	155 160	178.10 11.80	••	27,605 50 2,124.00
CHELSEA	GRAYSON	ASSOCIATE	1998	355	10.80		3.834.00
TRAVIS	HEIDORF	ASSOCIATE	2003	155	24.60		3,813.00
TRAVIS	HEIDORF	ASSOCIATE	2003	180	102 50	••	18,450.00
KAREN	HONG	ASSOCIATE	2004	160	10.20		1.632.00
MELISSA RYAN	HORN HOUSEAL	ASSOCIATE ASSOCIATE	2003 2004	155 230	90.90 46.00		14,089 50 10,580.00
TIMOTHY	HUDSON	ASSOCIATE	2004	155	31.60		4.898.00
ALEXANDER	JUNGE	ASSOCIATE	2004	155	3 50		542 50

^{*} All fees for nonworking travel are charged at one-half the normal hourly billing rate.

1284452_1 XLS 1

^{**} Rate increase effective January 1, 2005.

			Bar	Billing			
Time	ekeeper Name	Title	Year	Rate	Hours		Total Fees
GUS	KALLERGIS	ASSOCIATE	1999	240	131.40		31.536 00
GUS	KALLERGIS	ASSOCIATE	1999	300	4.40	••	1,320.00
SHANA	KLEIN	ASSOCIATE	2001	195 155	33 20 11.40		6,474.00 1,767.00
LEA LISA	KRIVINSKAS KUNKLE	ASSOCIATE ASSOCIATE	N/A 1994	365	1 80		657.00
JENNIFER	LEWIS	ASSOCIATE	1995	330	2 70		891.00
NICHOLAS	MILLER	ASSOCIATE	1998	285	0.80		228.00
DAVID	MILLS	ASSOCIATE	2002	175	3.40		595.00
CASSANDRA	MOTT	ASSOCIATE	1999	245	3 50		857.50
R JASON	OBLANDER	ASSOCIATE	2000	215	49 80		10,707.00
RJASON	OBLANDER	ASSOCIATE	2000	235	41 80	••	9,823.00
VIPUL	PATEL	ASSOCIATE	2003 2003	155 180	223 90 120.70	••	34,704 50 21,726.00
VIPUL CHRISTINE	PATEL PRZYBYSZ	ASSOCIATE ASSOCIATE	2004	155	9,40		1,457,00
CHRISTINE	PRZYBYSZ	ASSOCIATE	2004	160	35 80	••	5,728.00
DIANE	ROSE	ASSOCIATE	1984	355	6.80		2,414.00
DIANE	ROSE	ASSOCIATE	1984	360	4 10	**	1.476.00
LESLIE	SCHAFER	ASSOCIATE	2000	260	125 80		32,708,00
LESLIE	SCHAFER	ASSOCIATE	2000	290	197.20	••	57.188.00
STEFAN	SCHNOPP	ASSOCIATE	1997	280	121 40	••	117,992.00
STEFAN	SCHNOPP	ASSOCIATE	1997	295 115	183 00 6.20	•	53,985.00 713.00
TATJANA TATJANA	STOLJAROVA STOLJAROVA	ASSOCIATE ASSOCIATE	2003 2003	210	14 10		2,961.00
TATJANA	STOLJAROVA	ASSOCIATE	2003	230	172.60	••	39,698,00
TRACY	STRATFORD	ASSOCIATE	1998	270	13.30		3,591.00
TRACY	STRATFORD	ASSOCIATE	1998	300	2.40	••	720.00
THOMAS	WILSON	ASSOCIATE	2003	155	347 50		53,862.50
THOMAS	WILSON	ASSOCIATE	2003	200	63 50	**	12.700.00
JASON	WOLFE	ASSOCIATE	N/A	225	17 50		3,937.50
GEORGE	ZILICH CORRIGAN	ASSOCIATE SR STAFF ATTY	2004 1993	155 185	28.30 7.00		4.386.50 1.295.00
KAREN KAREN	CORRIGAN	SR STAFF ATTY	1993	190	6.90	••	1.311.00
LYNNE	FISCHER	STAFF ATTY	1996	160	2.00		320.00
MARCIA	BURSTON	LEGAL ASST		117	52 50		6,142 50
MARCIA	BURSTON	LEGAL ASST		125	4.60	••	575.00
AMANDA	COCHRAN	LEGAL ASST		205	1 30		266 50
JEAN-PIERRE	DELABRE	LEGAL ASST		127	4,00		508.00
STACY CARINA	DEZSI DOTSON	LEGAL ASST LEGAL ASST		155 102	6.30 1.50		976 50 153.00
CARINA	DOTSON	LEGAL ASST		102	1 60	••	194.40
KELLI	HALEY	LEGAL ASST		155	0.30		46 50
MARY	HEMANN	LEGAL ASST		131	119.40		15.641.40
MARY	HEMANN	LEGAL ASST		140	24.70	••	3,458.00
LANESHA	JOHNSON	LEGAL ASST		107	2 80		299.60
LANESHA	JOHNSON	LEGAL ASST		115	5 70	**	655.50
MICHELLE	KROFEL KROFEL	LEGAL ASST LEGAL ASST		140 150	2.60 6.80	••	364.00 1,020.00
MICHELLE BRADLEY	MILLER	LEGAL ASST		63	34 40		2.167.20
BRADLEY	MILLER	LEGAL ASST		70	18 40	••	1.288 00
ALISSA	ROVNY	LEGAL ASST		100	5.00		500.00
BETTY	YAKOVICH	LEGAL ASST		139	0.20		27 80
BETTY	YAKOVICH	LEGAL ASST		145	2.00	••	290.60
SUZANNE	KOSTON	I EGAL SUPPORT		95	1 50		142.50
MELISSA	VOTAW	LEGAL SUPPORT		151 160	20.90 2.40	••	3.155 90 384.00
MELISSA DAVREEN	VOTAW DIXON	LEGAL SUPPORT PROJECT ASST		63	2.60		163 80
GAIL	NASH	PROJECT ASST		65	14 30		929.50
JOHN	PAOLANO	PROJECT ASST		60	19.00		1.140.00
MICHAEL	PARRIS	PROJECT ASST		45	1 30		58.50
NATALIE	SAVARESE	PROJECT ASST		63	12 10		762.30
LLOYD	AMSTER	STAFF		60	1.00		60.00
					6.516.30		1,991,260.65
LAWYERS		TOTAL BLENDED RATE			6.146.90		1.949,890.25 \$317.22
NON-LAWYERS	S	TOTAL BLENDED RATE			369.40		41,370.40 \$111.99
GRAND TOTAL	,				6.516.30		\$1,991,260.65
		BLENDED RATE					\$305.58

1284452_1 XLS 2

^{*} All fees for nonworking travel are charged at one-half the normal hourly billing rate.

^{**} Rate increase effective January 1, 2005.

			Bar	Billing		
Time	keeper Namo	Title	Year	Raic	Hours	Total Fees
Case Administ	ration					
MICHELLE	HARNER	PARTNER	1995	450	0.30	135.00
HEATHER CARL	LENNOX BLACK	PARTNER ASSOCIATE	1992 1998	525 325	0.80 5.40	420.00 1.755.00
CARL	BLACK	ASSOCIATE	1998	375	0.30	112 50
LESLIE	SCHAFER	ASSOCIATE	2000	260	0.30	78.00
THOMAS	WILSON	ASSOCIATE	2003	155	2.00	310.00
MARCIA	BURSTON	LEGAL ASST LEGAL ASST		117 131	6.50 5.80	760.50 759 80
MARY MARY	HEMANN HEMANN	LEGAL ASST		140	140 **	196,00
LANESHA	JOHNSON	LEGAL ASST		115	1 70	195 50
LANESHA	JOHNSON	LEGAL ASST		107	2 70 **	288 90
BETTY	YAKOVICH	LEGAL ASST		139 63	0.20 2.60	27 80 163 80
DAVREEN GAIL	DIXON NASH	PROJECT ASST PROJECT ASST		65	12 30	799.50
	TOTAL				42 30	6,002 30
Creditor Inqui	ries					
MICHELLE	HARNER	PARTNER	1995	450	1 60	810.00
HEATHER	LENNOX	PARTNER	1992	525	0.30	157 50
HEATHER	LENNOX	PARTNER ASSOCIATE	1992 1998	595 375	0.20 ** 0.70	119.00 262.50
CARL CARL	BLACK BLACK	ASSOCIATE	1998	325	5.70 **	1.852.50
	TOTAL				870	3,201 50
Meetings						
DAVID	HEIMAN	PARTNER	1971	795	8.30	6.598.50
HEATHER	LENNOX	PARTNER	1992	525	9.10	4,777.50
	TOTAL				17.40	11,376.00
	tracts/Unexpired Len		LANC	150	(16	105.00
MICHELLE HEATHER	HARNER LENNOX	PARTNER PARTNER	1995 1992	450 525	1 10 0.50	495.00 262.50
CARL	BLACK	ASSOCIATE	1998	375	6.50 **	2,437.50
CARL	BLACK	ASSOCIATE	1998	325	22.40	7,280.00
GUS	KALLERGIS	ASSOCIATE	1999	300	0.30 **	90,00
GUS	KALLERGIS	ASSOCIATE ASSOCIATE	1999 2003	240 200	3 10 26:00 **	744.00 5.200.00
THOMAS	WILSON WILSON	ASSOCIATE	2003	155	37.50	5.812.50
MARY	HEMANN	LEGAL ASST		131	5.50	720.50
	TOTAL				102.90	23,042.00
Automatic Sta	y/Adequate Protection	<u>!</u>				
MICHELLE	HARNER	PARTNER	1995	450	1.00	450.00
HEATHER HEATHER	LENNOX LENNOX	PARTNER PARTNER	1992 1992	525 595	1 80 0.40 **	945.00 238.00
RACHEL	RAWSON	PARTNER	1991	375	0.40	150.00
CARL	BLACK	ASSOCIATE	1998	325	3.00	975.00
CARL	BLACK	ASSOCIATE	1998	375	0.40	150.00
ERIC GUS	GOODMAN KALLERGIS	ASSOCIATE ASSOCIATE	2003 1999	155 240	1.00 1.40	155 00 336.00
THOMAS	WILSON	ASSOCIATE	2003	155	23 90	3.704 50
	TOTAL				33 30	7,103 50
Plan of Reorga	inization/Disclosure S	tatement				
KATHLEEN	BURKE	PARTNER	1973	385	27 10	10,433 50
BRAD	ERENS	PARTNER	1991	550	0.50 3.30 **	275.00
MICHELLE	HARNER HARNER	PARTNER PARTNER	1995 1995	525 450	150.20	1.732.50 67.590.00
PAUL	HARNER	PARTNER	1990	695	1.40	973 00
DAVID	HEIMAN	PARTNER	1971	795	40.90	32.515 50
RICHARD	KOSNIK	PARTNER PARTNER	1983	650	3 10	2.015.00 50,505.00
HEATHER HEATHER	LENNOX LENNOX	PARTNER	1992 1992	525 595	96.20 25.20 **	14,994.00
MARY	MALONEY	PARTNER	1987	475	0.50	237 50
EDWARD	PURNELL	PARTNER	1990	475	0.80	380.00
RACHEL	RAWSON	PARTNER	1991	395	8 60 **	3,476.00
RACHEL EDWARD	RAWSON SEBOLD	PARTNER PARTNER	1991 1991	375 370	2 20 45 80	825.00 16,946.00
TOM	SMITH	PARTNER	1972	685	0.30	205 50
RICHARD	WERDER JR	PARTNER	1984	645	21.00	13.545.00
ERIN	KARZMER KARZMER	OF COUNSEL	1990 1990	0 325	0,00 28.00	0.00
ERIN ERIN	KARZMER	OF COUNSEL OF COUNSEL	1990	435 465	7.20 **	12.180.00 3.348.00
KATHLEEN	AMER	ASSOCIATE	2004	160	11.40	1,824.00
JEREMY	BEYDA	ASSOCIATE	N/A	225	8.60	1.935.00
CARL.	BLACK	ASSOCIATE	1998	375	38 80 **	14.550.00
CARL PEARSON	BLACK BOWNAS	ASSOCIATE ASSOCIATE	1998 1997	325 280	163 70 7 80	53.202.50 2.184.00
HOWARD	CHU	ASSOCIATE	2004	155	8.00	1.240.00
STEPHEN	COOLBAUGH	ASSOCIATE	2001	220	1.20	264.00
STEPHEN	COOLBAUGH	ASSOCIATE	2001	195	0 70	136.50
PATRICIA PATRICIA	ESCHBACH-HALL ESCHBACH-HALL		1999 1999	275 245	1.80 ** 1.20	495.00 294.00
	nerver and that I's Ithick	- warmen and the	1,,,,	W-+J		*25.00

1284452_I.XLS 1

^{*} All fees for nonworking travel are charged at one-half the normal hourly billing rate

^{**} Rate increase effective January 1, 2005

Timestacpur Name	OGLEBAY NORTON COMPANY						
MONICA FERRER ASSOCIATE 1996 410 22.40 ** 9.632.00 MONICA FERRER ASSOCIATE 1996 415 81.00 MONICA FERRER ASSOCIATE 1996 415 81.00 SINDREW FIDRELLA ASSOCIATE 2003 155 31.40 SINDREW FIDRELLA ASSOCIATE 2003 155 18.90 SINDREW FIDRELLA ASSOCIATE 2003 155 78.80 SINDREW FIDRELLA ASSOCIATE 2003 155 78.80 SINDREW FIDRELLA ASSOCIATE 2003 155 78.80 SINDREMELISA HORN ASSOCIATE 2003 155 14.00 SINDREMELISA RESOCIATE 1999 245 3.50 SINDREMELISA RESOCIATE 1999 245 3.50 SINDREMELISA RESOCIATE 1999 245 3.50 SINDREMELISA RESOCIATE 2003 180 1.50 SINDREME SINDREME 2003 200 1.10 SINDREME 2003 180 1.50 SINDREME 2003	Timek	zentr Name	Title	Bar Year	Billing Rate	Hours	Total Fees
MONICA	7444						
ANDREW FIOLEY ASSOCIATE 2003 155 34-0 9.2136-00 PARTYCLE FOLEY ASSOCIATE 2003 180 10.70 ** 1.926-00 PARTYCLE FOLEY ASSOCIATE 2003 155 149-30 22.314-19 PARTYCLE FOLEY ASSOCIATE 2003 155 149-30 22.314-19 PARTYCLE FOLEY ASSOCIATE 2003 155 149-30 22.314-19 PARTYCLE PA	MONICA	FERRER	ASSOCIATE	1996	430		3100=100
RYLE FOLEY ASSOCIATE 2003 240 890 2.136.00 REIC GOODMAN ASSOCIATE 2003 155 149 30 2.1316.00 REIC GOODMAN ASSOCIATE 2003 155 149 30 2.1314 50 MIRLIESA HANDIN ASSOCIATE 2003 155 149 30 2.1314 50 MIRLIESA HANDIN ASSOCIATE 2004 155 31 60 4.898.00 REIC COORD ASSOCIATE 2004 155 31 60 4.898.00 REIC COORD ASSOCIATE 1999 240 23 40 5.616.00 REIC COORD ASSOCIATE 1999 240 23 40 5.616.00 REIC COORD ASSOCIATE 1999 240 23 40 5.616.00 REIC COORD ASSOCIATE 1999 245 31 60 228.00 REIC CASSANDIA MOIT ASSOCIATE 1999 245 35 0.80 228.00 REIC CASSANDIA MOIT ASSOCIATE 1999 245 35 0.80 228.00 REIC CASSANDIA MOIT ASSOCIATE 2003 180 150 270.00 REIC CASSANDIA MOIT ASSOCIATE 2003 260 11 80 270.00 REIC CASSANDIA MOIT ASSOCIATE 2003 260 11 80 270.00 REIC CASSANDIA MOIT ASSOCIATE 2003 260 11 80 270.00 REIC CASSANDIA MOIT ASSOCIATE 2003 260 11 80 270.00 REIC CASSANDIA MOIT ASSOCIATE 1997 295 41 10 "* 12.09 50 STEFAN SCHAPER ASSOCIATE 1997 295 41 10 "* 12.09 50 STEFAN SCHAPER ASSOCIATE 1997 295 41 10 "* 12.09 50 STEFAN SCHAPER ASSOCIATE 1997 295 41 10 "* 12.09 50 STEFAN SCHAPER ASSOCIATE 1997 295 41 10 "* 12.09 50 REIC CASSANDIA MOIT MOINT ASSOCIATE 1997 295 41 10 "* 12.09 50 REIC CASSANDIA MOIT MOINT ASSOCIATE 2003 210 0.10 22.785 00 REIC CASSANDIA MORE MOINT ASSOCIATE 2003 210 0.10 22.785 00 REIC CASSANDIA MORE MOINT ASSOCIATE 2003 210 0.10 22.785 00 REIC CASSANDIA MORE MORE MORE MORE MORE MORE MORE MORE	MONICA	FERRER					
ERIC GOODMAN ASSOCIATE 2003 180 10.70 ** 1.926.00 ERIC GOODMAN ASSOCIATE 2003 155 149.00 22.3141 50	ANDREW						
ERIC GOODMAN ASSOCIATE 2003 155 149 3.0 2.3.141 50 MINLESA HONN ASSOCIATE 2003 155 7.8 80 12.214 00 11 MINGTHY HUDSON ASSOCIATE 2003 155 7.8 80 12.214 00 11 MINGTHY HUDSON ASSOCIATE 1999 240 234 0. 4.5816.00 12 MINCHOLAS MINLER ASSOCIATE 1999 240 234 0. 4.5816.00 12 MINCHOLAS MINLER ASSOCIATE 1999 245 140 23 0. 6.080 2280 00 12 MINCHOLAS MINLER ASSOCIATE 1999 245 15 0. 80 2280 00 2280 00 12 MINCHOLAS MINLER ASSOCIATE 1999 245 15 0. 80 2280 00 2280 01 180 0. 150 270 00 00 12 MINCHOLAS MINLER ASSOCIATE 2000 260 11 80 0. 150 270 00 00 12 MINCHOLAS MINLER ASSOCIATE 2000 260 11 80 0. 150 270 00 00 00 00 00 00 00 00 00 00 00 00 0	KYLE	FOLEY					
MELISSA HORN ASSOCIATE 2003 155 78 80 12.214.00 GUS KALLERGIS ASSOCIATE 1999 240 23 40 4.898.00 GUS KALLERGIS ASSOCIATE 1999 240 23 40 5.616.00 KALLERGIS ASSOCIATE 1999 240 23 40 5.616.00 KALLERGIS ASSOCIATE 1999 245 23 0.80 228.00 KASSANDAN MILLER ASSOCIATE 1999 245 13 50 80 228.00 KASSANDAN MILLER ASSOCIATE 1999 245 13 50 80 228.00 KASSANDAN MILLER ASSOCIATE 1999 245 13 50 837.59 KIPHOLAS MILLER ASSOCIATE 2000 290 21 70 70 783.00 KIPHOLAS SCHAFER ASSOCIATE 2000 290 27 70 783.00 KIPHOLAS MILSON ASSOCIATE 2003 210 0.10 21 00 KIPHOLAS MILSON ASSOCIATE 2003 210 0.10 21 00 KIPHOLAS MILSON ASSOCIATE 2003 210 0.10 22.785.00 KIPHOLAS MILSON ASSOCIATE 2003 200 0.0 0.2 78.00 KIPHOLAS MILSON ASSOCIATE 2003 200 0.0 0.0 79.00 KIPHOLAS MILSON ASSOCIATE 2003 200 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0	ERIC						
TIMOTTHY HUDSON ASSOCIATE 1999 240 234 03 40 5361600 GUS ALLERGIS ASSOCIATE 1999 240 234 0 5361600 INCHOLAS MILLER ASSOCIATE 1999 245 130 88 228 00 80 20 80 20	ERIC						
COUSTICE CALLERGIS ASSOCIATE 1999 240 234 0 5.616.00	MELISSA						
LEA KRIVINSKAS ASSOCIATE 1998 285 0.80 2280 CASSANDRA MOTT ASSOCIATE 1999 245 3 50 80 2280 CASSANDRA MOTT ASSOCIATE 1999 245 3 50 875 50 WIPLI, PATEL ASSOCIATE 2000 260 1180 150 2700 CASSANDRA MOTT ASSOCIATE 2000 270 1270 TO	TIMOTHY						
NICHOLAS MILLER ASSOCIATE 1998 285 0.80 228.00 CASSANDIAN MOTT ASSOCIATE 1999 245 350 80 228.00 CASSANDIAN MOTT ASSOCIATE 1999 245 350 80 270.00 LESSLIE SCHAFER ASSOCIATE 2000 180 150 270.00 LESSLIE SCHAFER ASSOCIATE 2000 260 118 0 150 270.00 LESSLIE SCHAFER ASSOCIATE 2000 260 118 0 150 270.00 LESSLIE SCHAFER ASSOCIATE 2000 270 120 118 0 10.00 270.00 LESSLIE SCHAFER ASSOCIATE 1997 295 4 10 10 12.00 50 118 118 118 118 118 118 118 118 118 11							
CASSANDRA MOTT ASSOCIATE 1999 245 3 50 887 50 WIPLI PATEL ASSOCIATE 2003 180 1 50 2700 WIPLI PATEL ASSOCIATE 2000 260 1180 1 50 2700 WIPLI PATEL ASSOCIATE 2000 260 1180 3,068 00 LESLIE SCHAFER ASSOCIATE 2000 290 270 ** 78300 STEFAN SCHNOPP ASSOCIATE 1997 295 410 ** 1209 50 STEFAN SCHNOPP ASSOCIATE 1997 295 410 ** 1209 50 STEFAN SCHNOPP ASSOCIATE 1997 295 410 ** 1209 50 STEFAN SCHNOPP ASSOCIATE 2003 210 0.10 2100 FINAL ASSOCIATE 2003 210 0.10 22.785 00 FINAL ASSOCIATE 2003 210 0.10 22.785 00 FINAL ASSOCIATE 2003 210 0.10 22.785 00 FINAL ASSOCIATE 2003 200 0.20 ** 4.000 MARCIA BURSTON LEGAL ASST 117 9 50 1.111 50 MARY HEMANN LEGAL ASST 117 9 50 1.111 50 MARY HEMANN LEGAL ASST 117 9 50 1.111 50 STEFAN MARY HEMANN LEGAL ASST 115 150 217 50 GAIL NASH PROJECT ASST 150 150 97 50 TOTAL TOT							
VIPUL PATEL ASSOCIATE 2003 180 150 270,000							
LESLIE SCHAFER ASSOCIATE 2000 260 11 80 3,068.00 LESLIE SCHAFER ASSOCIATE 2000 290 270 ** 780.00 STEPAN SCHNOPP ASSOCIATE 1997 295 4 10 ** 12.09 50 STEFAN SCHNOPP ASSOCIATE 1997 295 4 10 ** 12.09 50 STEFAN SCHNOPP ASSOCIATE 1997 290 31 50 8.820.00 FATATIANA STULAROVA ASSOCIATE 2003 210 0.10 22.785.00 FATATIANA STULAROVA ASSOCIATE 2003 155 147.00 22.785.00 FATATIANA STULAROVA ASSOCIATE 2003 155 147.00 ** 24.00 MARCIA BURSTON LEGAL ASST 117 9.50 1.1115.00 MARCIA BURSTON LEGAL ASST 117 9.50 1.1115.00 MARCY HEMANN LEGAL ASST 140 150 ** 210.00 BETTY YAROVICH LEGAL ASST 140 150 ** 7210.00 BETTY YAROVICH LEGAL ASST 140 150 ** 775.00 MARIAN SH PROJECT ASST 145 150 275.00 MARIAN SH PROJECT ASST 145 150 275.00 MICKIELLE HARNER PARTNER 1995 450 266 11.70 LIVE, SBIR, LOURS OF AMERICAN PARTNER 1997 125 0.30 2.247.50 MICKIELLE LENNOX PARTNER 1997 125 0.30 2.247.50 MICKIELLE LENNOX PARTNER 1992 295 0.10 ** 295.00 MICKIELLE LENNOX PARTNER 1991 370 180 666.00 MICKIELLE LENNOX PARTNER 1991 370 180 666.00 MICKIELLE BANDD PARTNER 1995 450 0.50 2.644.50 MICKIELLE HARNER PROJECT ASST 165 0.20 130.00 MICKIELLE HARNER PROJECT ASST 167 0.20 130.00 MICKIELLE HARNER PARTNER 1995 450 0.50 2.644.50 MICKIELLE HARNER PARTNER 1995 450							
LESLIE SCHAFER ASSOCIATE 1997 295 410 ** 1295 STEFAN SCHNOPP ASSOCIATE 1997 295 3150 \$8.820.00							
STEFAN SCHNOPP ASSOCIATE 1997 295 4 10 ** 1209 50 STEFAN SCHNOPP ASSOCIATE 1997 290 31 50 8.820.00 FATIANA STULJAROVA ASSOCIATE 2003 210 0.10 22.785.00 FATIANA STULJAROVA ASSOCIATE 2003 210 0.10 22.785.00 MARCIA BURSTON LEGAL ASST 117 9 50 1.1115 50 MARCIA BURSTON LEGAL ASST 117 9 50 1.1115 50 217.00 MARCIA BURSTON LEGAL ASST 117 9 50 1.1115 50 217.00 MARCIA BURSTON LEGAL ASST 114 15 150 217.00 MARCIA BURSTON LEGAL ASST 140 150 ** 210.00 MARCIA BURSTON LEGAL ASST 140 150 ** 210.00 MARCIA MARY HEMANN LEGAL ASST 140 150 ** 210.00 MARCIA MARY HEMANN LEGAL ASST 145 150 277.00 MARCIA MARY HEMANN LEGAL ASST 145 150 277.00 MARCIA MARY HEMANN LEGAL ASST 145 150 277.00 MARCIA MARCI							
STEFAN SCHNOPP ASSOCIATE 1997 280 31.50 8.820.00 TATJANA STOLJAROVA ASSOCIATE 2003 210 0.10 2.20 TATJANA STOLJAROVA ASSOCIATE 2003 210 0.10 2.20 THOMAS WILSON ASSOCIATE 2003 155 147.00 22.785.00 THOMAS WILSON ASSOCIATE 2003 200 0.20 4.00 MARCIA BURSTON LEGAL ASST 117 95 0.1.111.50 MARY HEMANN LEGAL ASST 117 95 0.1.111.50 MARY HEMANN LEGAL ASST 131 92.0 1.205.20 BETTY YAKOVICH LEGAL ASST 140 150 *** TOTAL 1.384.30 449,627.20 LILE, SILE, LOSTE OF ANTEL CHARLES HARDIN IR PARTNER 1987 510 150 76.500 MICHELE HARNER PARTNER 1997 550 150 76.500 MICHELE HARNER PARTNER 1997 550 11.90 TOTAL 1.384.30 449,627.20 LILE, SILE, LOSTE OF ANTEL LENNOX PARTNER 1997 550 10 *** PEDWARD SEBOLD PARTNER 1997 370 180 CARL BLACK ASSOCIATE 1998 325 26.60 6.695.00 GUS KALLERGIS ASSOCIATE 1998 325 20.60 6.695.00 GUS KALLERGIS ASSOCIATE 1998 325 20.60 6.695.00 GUS KALLERGIS ASSOCIATE 1998 325 20.60 6.695.00 MARCIA BURSTON LEGAL ASST 177 400 468.00 MARCIA BURSTON LEGAL ASST 1984 485 9.00 4.365.00 MARCIA BURSTON LEGAL ASST 1984 485 9.00 4.365.00 MARCIA BURSTON LEGAL ASST 1997 50 0.50 225.00 MARCIA BURSTON LEGAL ASST 1998 485 9.00 4.365.00 MARCIA BURSTON LEGAL ASST 1998 485 9.00 4.365.00 MARCIA BURSTON LEGAL ASST 1997 400 178 00 0.50 225.00 MARCIA BURSTON LEGAL ASST 1998 485 9.00 4.365.00 MARCIA BURSTON LEGAL ASST 1998 485 9.00 4.365.00 MARCIA BURSTON LEGAL ASST 1997 400 178 00 0.50 225.00 MARCIA BURSTON LEGAL ASST 1998 485 9.00 4.365.00 MARCIA BURSTON LEGAL ASST 1998 485 9.00 4.365.00 MARCIA BURSTON LEGAL ASST 1997 400 178 00 0.50 225.00 MARCIA BURSTON LEGAL ASST 1998 450 0.50 225.00 MARCIA BURSTON LEGAL ASST 1998 400 178 00 0.50 225.00 MARCIA BURSTON LEGAL ASST 1998 400 178 00 0.50 225.00 MARCIA BURSTON LEGAL ASST 1998 400 0.50 225.00 MARCIA BURSTON LEGAL ASST 1998 400 0.50 225.00 MARCIA BURSTON LEGAL ASST 1998 400 0.50 0.20 0.20 0.20 0.20 0.20 0.20 0.							,05.00
TATIANA STOLJAROVA ASSOCIATE 2003 1210 1.0 22.08 201 175 147.00 22.785.00 175 147.00 22.785.00 175 147.00 22.785.00 175 147.00 22.785.00 175 147.00 22.785.00 175 147.00 22.785.00 175 147.00 22.785.00 175 175 175 175 175 175 175 175 175 175							
THOMAS WILSON ASSOCIATE 2003 155 147.00 22.785.00 MARCIA BURSTON LEGAL ASST 117 9 50 1.111 50 1.005.00 MARCY HEMANN LEGAL ASST 117 9 50 1.111 50 1.005.00 MARCY HEMANN LEGAL ASST 110 150 1.005.00 1.005.00 MARCY HEMANN LEGAL ASST 140 150 150 1.005.00 1.005.00 MARCY HEMANN LEGAL ASST 140 150 150 17.00 MARCY HEMANN LEGAL ASST 140 150 150 17.00 MARCY HEMANN LEGAL ASST 140 150 17.00 MARCY MARCH LEGAL ASST 140 150 17.00 MARCH LEGAL ASST 140 150 17.00 MARCH LEGAL ASST 140 150 17.00 MARCH LEGAL							
THOMAS WILSON ASSOCIATE 2003 200 0.20 ** 4000 MARCIA BURSTON LEGAL ASST 117 950 1.111.50 MARY HEMANN LEGAL ASST 131 920 1.205.20 MARY HEMANN LEGAL ASST 131 920 1.205.20 MARY HEMANN LEGAL ASST 145 150 210.50 BETTY YAKOVICH LEGAL ASST 145 150 277.50 GAIL NASH PROJECT ASST 65 150 97.50 GAIL NASH PROJECT ASST 65 150 97.50 MICHELLE HARNER PARTNER 1987 510 1.50 7.65.00 MICHELLE HARNER PARTNER 1997 250 26.60 11.970.00 MICHELLE HARNER PARTNER 1991 250 3.00 DAVID HEMAN PARTNER 1992 595 810 4.252.50 MICHELLE LENNOX PARTNER 1992 595 810 4.252.50 MEATHER LENNOX PARTNER 1991 370 180 665.00 CARL BLACK ASSOCIATE 1998 325 20.60 6.695.00 GUS KALLERGIS ASSOCIATE 1999 240 15.00 3.600.00 SHANA KLEIN ASSOCIATE 2001 195 33.20 6.474 00 MARCIA BURSTON LEGAL ASST 663 117 4.00 468.00 MARCIA BURSTON LEGAL ASST 663 117 4.00 468.00 MARCIA BURSTON PARTNER 1995 450 20.00 6.474 00 MARCIA BURSTON LEGAL ASST 663 10.00 36,016.50 Cath Collatera/DIP Financing DULICIE BRAND PARTNER 1995 450 0.50 225.00 MARCIA BURSTON LEGAL ASST 663 10.00 36,016.50 CASH COLLER BRAND PARTNER 1995 450 0.50 226.00 MARCIA BURSTON LEGAL ASST 663 10.00 36,016.50 CASH COLLER BRAND PARTNER 1995 450 0.50 226.00 MARCIA BURSTON LEGAL ASST 663 10.00 36,016.50 CASH COLLER BRAND PARTNER 1995 450 0.50 225.00 MARCIA BRAND PARTNER 1995 450 0.50 225.00 MARCY MALONEY PARTNER 1995 450 0.50 225.00 MARCHELLE RAWSON PARTNER 1997 405 178 0.7.209.00 MARCHELLE RAWSO							
MARCIA BURSTON LEGAL ASST 117 9 50 1.111 50							
MARY HEMANN LEGAL ASST 131 9 20 1.205 20 MARY HEMANN LEGAL ASST 140 150 * 210 00 BETTY YAKOVICH LEGAL ASST 145 150 217 50 GAIL. NASH PROJECT ASST 65 150 97 50 TOTAL USE, Sole, Lense of Assets CHARLES HARDIN R PARTNER 1987 510 150 765 00 DAVID HEMANN PARTNER 1997 450 26 60 11,970 00 DAVID HEMANN PARTNER 1997 252 810 4.252 50 DAVID HEMANN PARTNER 1991 252 83.0 247 50 HEATHER LENNOX PARTNER 1992 525 810 4.252 50 EDWARD SEBOLD PARTNER 1991 370 180 666,095 00 GUS KALLERGIS ASSOCIATE 1999 240 15 00 1,600 00 GUS KALLERGIS ASSOCIATE 1999 240 15 00 1,600 00 SHANA KLEIN ASSOCIATE 1999 240 15 00 1,600 00 SHANA KLEIN ASSOCIATE 1999 325 20 60 6,695 00 GUS KALLERGIS ASSOCIATE 1999 320 60 6,74 00 HIGHELD HARNER PARTNER 1965 615 430 264 450 MARCIA BURSTON LEGAL ASST 65 020 130 0 CHRISTOPHER CARSON PARTNER 1981 50 0.50 226 00 CHRISTOPHER CARSON PARTNER 1985 50 0.50 226 00 CHRISTOPHER CARSON PARTNER 1985 450 0.50 225 00 CHRISTOPHER CARSON PARTNER 1987 405 178 07 7.299 00 MARK KNOWLES PARTNER 1987 405 178 07 7.299 00 MARK KNOWLES PARTNER 1987 405 178 07 7.299 00 MARY MALONEY PARTNER 1987 525 220 110 100 00 MARY MALONEY PARTNER 1987 525 20 00 10,076 00 STEPHEN MIXTER PARTNER 1997 515 100 10,076 00 STEPHEN MIXTER PARTNER 1998 305 54 10 * 22.309 55 LAMBS SALERNO PARTNER 1991 375 220 00 10,076 00 STEPHEN MIXTER PARTNER 1999 325 00 00 1,076 00 STEPHEN MIXTER PARTNER 1999 325 00 00 1,076 00 STEPHEN MIXTER PARTNER 1991 375 240 00 10,076 00 STEPHEN MIXTER PARTNER 1991 370 660 00 2,442 00 MARY MALONEY PARTNER 1991 370 660 00 2,442 00 MARY MALONEY PARTNER 1991 370 660 00 2,442 00 MARY MALONEY PARTNER 1999 355 410 * 22.309 00 MARY MALONEY PARTNER 1999 355 410 * 22.309 00 MARY MALONEY P				2003		0.40	70.00
MARY							
BETTY							
CAIL NASH PROJECT ASST 65 1 50 97 50							
Ust, Sale, Lense of Assets CHARLES HARDIN JR PARTNER 1987 510 1 50 765 00							
U.K. Saik. Lease of Assets	GAIL.		PROJECT Maat		ÇÜ		
CHARLES HARDIN IR PARTNER 1987 510 1.50 75.50 MINCHELLE HARNER PARTNER 1995 450 26.60 11.970.00 DAVID HEIMAN PARTNER 1991 325 0.30 2.47.50 MEATHER LENNOX PARTNER 1992 525 8.10 4.252.50 MEATHER LENNOX PARTNER 1992 525 8.10 4.252.50 EDWARD SEBOLD PARTNER 1991 370 1.80 666.00 CARL BLACK ASSOCIATE 1998 325 20.60 6.695.00 3.600.00 SHANA KLEIN ASSOCIATE 1999 240 15.00 3.600.00 SHANA KLEIN ASSOCIATE 1999 240 15.00 3.600.00 MARCIA BURSTON LEGAL ASST 117 4.00 468.00 MARCIA BURSTON LEGAL ASST 117 4.00 468.00 MARCIA BURSTON LEGAL ASST 117 4.00 468.00 MARCIA BURSTON PARTNER 1981 520 0.50 2.644.50 MINCHELLE HARNER PARTNER 1995 450 5.50 2.644.50 MINCHELLE HARNER PARTNER 1995 450 0.50 2.644.50 MINCHELLE HARNER PARTNER 1997 405 17.80 0.4365.00 43.650.00 43		TOTAL				1,304.30	447,027.20
CHARLES HARDIN IR PARTNER 1987 510 1.50 75.50 MINCHELLE HARNER PARTNER 1995 450 26.60 11.970.00 DAVID HEIMAN PARTNER 1991 325 0.30 2.47.50 MEATHER LENNOX PARTNER 1992 525 8.10 4.252.50 MEATHER LENNOX PARTNER 1992 525 8.10 4.252.50 EDWARD SEBOLD PARTNER 1991 370 1.80 666.00 CARL BLACK ASSOCIATE 1998 325 20.60 6.695.00 3.600.00 SHANA KLEIN ASSOCIATE 1999 240 15.00 3.600.00 SHANA KLEIN ASSOCIATE 1999 240 15.00 3.600.00 MARCIA BURSTON LEGAL ASST 117 4.00 468.00 MARCIA BURSTON LEGAL ASST 117 4.00 468.00 MARCIA BURSTON LEGAL ASST 117 4.00 468.00 MARCIA BURSTON PARTNER 1981 520 0.50 2.644.50 MINCHELLE HARNER PARTNER 1995 450 5.50 2.644.50 MINCHELLE HARNER PARTNER 1995 450 0.50 2.644.50 MINCHELLE HARNER PARTNER 1997 405 17.80 0.4365.00 43.650.00 43	Har. Sale. Leuce	of Assets					
MICHELLE HARNER PARTNER 1995 450 26.60 11.970.00			PARTNER	1987	510	1.50	765.00
DAVID HEIMAN PARTNER 1971 825 0.30 2.47.50 HEATHER LENNOX PARTNER 1992 525 8.10 4.252.50 HEATHER LENNOX PARTNER 1992 525 8.10 4.252.50 616.675 0.452.50 616.675							
HEATHER							
HEATHER							
EDWARD SEBOLD PARTNER 1991 370 180 666.09 CARL BLACK ASSOCIATE 1998 325 20.60 6.695 00 GUS KALLERGIS ASSOCIATE 1999 240 15.90 3.600 00 SHANA KLEIN ASSOCIATE 2001 195 33 20 6.474 00 THOMAS WILSON ASSOCIATE 2003 155 520 806 00 MARCIA BURSTON LEGAL ASST 117 4.00 468 00 GAIL NASH PROJECT ASST 65 0.20 13 00 GAIL NASH PROJECT ASST 65 0.20 13 00 ULI CIE BRAND PARTNER 1981 520 0.50 2.604 00 CHRISTOPHER CARSON PARTNER 1981 520 0.50 2.604 00 CHRISTOPHER CARSON PARTNER 1995 450 0.50 2.604 00 WILLIAM HERZBERGER PARTNER 1995 450 0.50 2.25 00 WILLIAM HERZBERGER PARTNER 1995 450 0.50 2.25 00 WILLIAM HERZBERGER PARTNER 1995 450 0.50 2.25 00 MARK KNOWLES PARTNER 1995 450 0.50 2.25 00 MARK KNOWLES PARTNER 1994 485 9.00 4.365 00 MARK KNOWLES PARTNER 1994 485 9.00 4.365 00 MARY MALONEY PARTNER 1994 485 9.00 4.365 00 MARY MALONEY PARTNER 1995 450 0.50 105 00 STEPHEN MIXTER PARTNER 1996 440 22 90 10.076 0.00 STEPHEN MIXTER PARTNER 1996 455 840 0 1.076 0.00 STEPHEN MIXTER PARTNER 1996 455 840 0 1.076 0.00 RACHEL RAWSON PARTNER 1991 375 29 30 10.076 0.00 RACHEL RAWSON PARTNER 1991 375 29 30 10.076 0.00 RACHEL RAWSON PARTNER 1991 375 29 30 10.076 0.00 RACHEL RAWSON PARTNER 1991 375 29 30 10.098 730 MARES SALERNO PARTNER 1991 370 660 2.442 0.00 SCOTT SPECHT PARTNER 1993 370 600 7.00 3.920.00 SCOTT SPECHT PARTNER 1991 370 660 2.442 0.00 SCOTT SPECHT PARTNER 1991 370 660 2.442 0.00 SCOTT SPECHT PARTNER 1999 375 290 10.076 0.00 SCOTT SPECHT PARTNER 1999 375 0.00 2.00 0.00 CARL BLACK ASSOCIATE 1999 375 0.00 2.00 0.00 0.00 CARL BLACK ASSOCIATE 1999 375 0.00 3.834 0.00 10.08 73 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0							
CARL BLACK ASSOCIATE 1998 325 20.60 6.695.00 GUS KALLERGIS ASSOCIATE 1999 240 15.00 3.600.00 SHANA KLEIN ASSOCIATE 2001 195 33.20 6.474.00 THOMAS WILSON ASSOCIATE 2003 155 5.20 806.00 MARCIA BURSTON LEGAL ASST 117 4.00 468.00 GAIL NASH PROJECT ASST 65 0.20 13.00 36,016.50 TOTAL 116.60 TOTAL							
GUS KALLERGIS ASSOCIATE 1999 240 15.00 3.600 09 SHANA KLEIN ASSOCIATE 2001 195 33 20 6.474 60 THOMAS WILSON ASSOCIATE 2003 155 520 806 00 MARCIA BURSTON LEGAL ASST 117 4.00 468 00 MARCIA BURSTON LEGAL ASST 65 0.20 13.00 DIL CIE BRAND PROJECT ASST 65 0.20 13.00 CHRISTOPHER CARSON PARTNER 1981 520 0.50 260 00 CHRISTOPHER CARSON PARTNER 1985 615 4.30 2.644.50 MICHELLE HARNER PARTNER 1985 615 4.30 2.644.50 MICHELLE HARNER PARTNER 1985 450 0.50 225.00 MARK KNOWLES PARTNER 1984 485 9.00 4.365.00 MARK KNOWLES PARTNER 1984 485 9.00 4.365.00 MARK KNOWLES PARTNER 1984 485 9.00 1.076.00 STEPHEN MIXTER PARTNER 1986 440 22.90 10.076.00 STEPHEN MIXTER PARTNER 1986 440 22.90 10.076.00 STEPHEN MIXTER PARTNER 1986 440 22.90 10.076.00 STEPHEN MIXTER PARTNER 1986 455 84.00 3.82.20.00 ARACHEL RAWSON PARTNER 1991 375 29.30 10.987.50 ARACHEL RAWSON PARTNER 1991 375 29.30 10.987.50 ARACHEL RAWSON PARTNER 1991 375 29.30 10.987.50 ARACHEL RAWSON PARTNER 1993 50 7.00 3.920.00 MARTHAR SALERNO PARTNER 1991 375 29.30 10.987.50 ARACHEL RAWSON PARTNER 1993 505 54.10 515.00 ARATHA WACH COUNSEL 1991 370 66.0 2.442.00 ARATHA WACH COUNSEL 1994 360 2.50 PARTICIA ESCHBACH-HALL ASSOCIATE 1998 325 0.90 292.50 PARTICIA ESCHBACH-HALL ASSOCIATE 1998 325 0.90 292.50 PARTICIA ESCHBACH-HALL ASSOCIATE 1999 275 8.80 52.20.00 ARACHEL RAWSON ASSOCIATE 2003 155 0.80 3.834.00 ARACHA COUNSEL 1994 360 2.50 900.00 ARATHA WACH COUNSEL 1999 375 8.50 4.207.50 ARACHEL RAWSON ASSOCIATE 2003 155 0.80 3.834.00 ARACHA BLACK ASSOCIATE 2003 160 100.50 51.50 ARACHEL RAWSON ASSOCIATE 2003 175.00 50.00 50.00 ARACHELLE SCHBACH-HALL ASSOCIATE 2003 160 100.50 50.00 ARACHA BURSTON							
SHANA KLEIN ASSOCIATE 2001 195 33 20 6,474 00 THOMAS WILSON ASSOCIATE 2003 155 5 20 80 60 00 MARCIA BURSTON LEGAL ASST 117 4.00 468 00 GAIL NASH PROJECT ASST 65 0.20 13 00 TOTAL 16.00 36,016.50 Cash Collateral/DIP Financing DULCIE BRAND PARTNER 1981 520 0.50 260 00 CHRISTOPHER CARSON PARTNER 1965 615 4.30 2.644.50 MICHELLE HARNER PARTNER 1995 450 0.50 225.00 MICHELLE HARNER PARTNER 1995 450 0.50 225.00 MICHELLE HARNER PARTNER 1987 405 17 80 7.209 00 MARK KNOWLES PARTNER 1984 485 9.00 4,365.00 HEATHER LENNOX PARTNER 1984 485 9.00 4,365.00 HEATHER LENNOX PARTNER 1987 525 2.80 1,470.00 STEPHEN MIXTER PARTNER 1986 440 22 90 10.076.00 STEPHEN MIXTER PARTNER 1986 440 22 90 10.076.00 STEPHEN MIXTER PARTNER 1986 440 22 90 10.076.00 STEPHEN MIXTER PARTNER 1991 375 29 30 10.987.50 JAMES SALERNO PARTNER 1991 370 660 2.442.00 FREDERICK RERKO OF COUNSEL 1991 370 660 2.442.00 FREDERICK RERKO OF COUNSEL 1991 370 660 2.442.00 FREDERICK RERKO OF COUNSEL 1993 360 7.00 3.020.00 MARTHA WACH COUNSEL 1993 360 7.00 3.020.00 MARTHA WACH COUNSEL 1993 360 7.00 3.020.00 TRACY PLOTT OF COUNSEL 1991 370 660 2.442.00 FREDERICK RERKO OF COUNSEL 1993 360 7.00 3.020.00 TRACY PLOTT OF COUNSEL 1994 360 2.50 90.00 TRACY PLOTT OF COUNSEL 1994 360 9.00 TRACY PLOTT OF COUNSEL 1994 360 9.00							
THOMAS WILSON ASSOCIATE 2003 155 5 20 806 00 MARCIA BURSTON LEGAL ASST 117 4.00 468 00 GAIL NASH PROJECT ASST 65 0.20 13 00 36,016.50 TOTAL 116.60 36,016.50 116.60 36,016.50 TOTAL 116.60 36,016.50 116.50 116.60 36,016.50 116							
MARCIA BURSTON LEGAL ASST 117 4.00 468.00 GAIL NASH PROJECT ASST 65 0.20 13.00 Cash Collatera/DIF Financing DULCIE BRAND PARTNER 1981 520 0.50 260.00 CHRISTOPHER CARSON PARTNER 1965 615 4.30 2.644.50 MICHELLE HARNER PARTNER 1995 450 0.50 225.00 WILLIAM HERZBERGER PARTNER 1997 405 17.80 7.209.00 MARK KNOWLES PARTNER 1984 485 9.00 4,365.00 MARY MALONEY PARTNER 1984 485 9.00 4,365.00 STEPHEN MIXTER PARTNER 1986 440 22.90 10,076.00 STEPHEN MIXTER PARTNER 1986 440 22.90 10,076.00 STEPHEN MIXTER PARTNER 1986 455 8400 *** 21,240.00							
Cash Collateral/DIP Financing DULCIE BRAND PARTNER 1981 520 0.50 260 00							
TOTAL 116.60 36,016.50 Cash Collateral/DIP Financing DULCIE BRAND PARTNER 1981 520 0.50 260.00 CHRISTOPHER CARSON PARTNER 1995 450 0.50 225.00 WILLIAM HERZBERGER PARTNER 1995 450 0.50 7.209.00 MARK KNOWLES PARTNER 1987 405 17.80 7.209.00 MARK KNOWLES PARTNER 1984 485 9.00 4.365.00 MARY MALONEY PARTNER 1997 525 0.20 10.076.00 STEPHEN MIXTER PARTNER 1986 440 22.90 10.076.00 STEPHEN MIXTER PARTNER 1986 455 84.00 *** 213.69.20 RACHEL RAWSON PARTNER 1991 375 29.30 10.987.50 RACHEL RAWSON PARTNER 1991 375 29.30	GAIL						
DULCIE BRAND PARTNER 1981 520 0.50 260.00 CHRISTOPHER CARSON PARTNER 1995 450 0.50 2244.50 MICHELLE HARNER PARTNER 1995 450 0.50 225.00 WILLIAM HERZBERGER PARTNER 1987 405 17.80 7.209.00 MARK KNOWLES PARTNER 1984 485 9.00 4,365.00 MARY MALONEY PARTNER 1987 525 0.20 105.00 MARY MALONEY PARTNER 1987 525 280 1,470.00 STEPHEN MIXTER PARTNER 1986 440 22.90 10,076.00 STEPHEN MIXTER PARTNER 1996 455 84.00 ** 21,269.50 RACHEL RAWSON PARTNER 1991 375 29.30 10,987.50 RACHEL RAWSON PARTNER 1991 375 29.30 10,987.50							
DULCIE BRAND PARTNER 1981 520 0.50 260.00 CHRISTOPHER CARSON PARTNER 1995 450 0.50 2244.50 MICHELLE HARNER PARTNER 1995 450 0.50 225.00 WILLIAM HERZBERGER PARTNER 1987 405 17.80 7.209.00 MARK KNOWLES PARTNER 1984 485 9.00 4,365.00 MARY MALONEY PARTNER 1987 525 0.20 105.00 MARY MALONEY PARTNER 1987 525 280 1,470.00 STEPHEN MIXTER PARTNER 1986 440 22.90 10,076.00 STEPHEN MIXTER PARTNER 1996 455 84.00 ** 21,269.50 RACHEL RAWSON PARTNER 1991 375 29.30 10,987.50 RACHEL RAWSON PARTNER 1991 375 29.30 10,987.50							
CHRISTOPHER CARSON PARTNER 1965 615 4.30 2.644.50 MICHELLE HARNER PARTNER 1995 450 0.50 225 00 WILLIAM HERZBERGER PARTNER 1998 450 0.50 225 00 MARK KNOWLES PARTNER 1987 405 17 80 7.209 00 MARK KNOWLES PARTNER 1984 485 9.00 4.365.00 MARK KNOWLES PARTNER 1984 485 9.00 4.365.00 MARY MALONEY PARTNER 1987 525 28 0.20 105 00 MARY MALONEY PARTNER 1986 440 22 90 10.076.00 STEPHEN MIXTER PARTNER 1986 440 22 90 10.076.00 STEPHEN MIXTER PARTNER 1986 455 84 00 ** 38,220.00 RACHEL RAWSON PARTNER 1991 395 54 10 ** 21.369 50 RACHEL RAWSON PARTNER 1991 395 54 10 ** 21.369 50 RACHEL RAWSON PARTNER 1991 375 29 30 10.987 50 JAMES SALERNO PARTNER 1991 375 29 30 10.987 50 JAMES SALERNO PARTNER 1993 560 7.00 3.920.00 SCOTT SPECHT PARTNER 1993 560 7.00 3.920.00 SCOTT SPECHT PARTNER 1979 515 1.00 515.00 FREDERICK RERKO OF COUNSEL 1991 370 660 2.442.00 FREDERICK RERKO OF COUNSEL 1991 370 660 2.442.00 FREDERICK RERKO OF COUNSEL 1994 360 2 50 900.00 CARL BLACK ASSOCIATE 1998 325 0.90 292.50 PATRICIA ESCHBACH-HALL ASSOCIATE 1999 245 130 118 50 RYAN HOUSEAL ASSOCIATE 1998 355 10.80 3.834.00 STRAVIS HEIDORF ASSOCIATE 2003 180 102 50 18.450.00 RYAN HOUSEAL ASSOCIATE 2003 180 102 50 18.450.00 AGRICA BURSTON LEGAL ASST 117 0.40 46.80 MARCIA BURSTON LEGAL ASST 117 0.40 46.80 MARCIA BURSTON LEGAL ASST 110 180 194.40 MICHELLE KROFEL LEGAL ASST 110 180 194.40 MICHELLE KROFEL LEGAL ASST 110 180 194.40 MICHELLE KROFEL LEGAL ASST 110 170 0.00 140.0	Cash Collateral						
MICHELLE HARNER PARTNER 1995 450 0.50 225 00 WILLIAM HERZBERGER PARTNER 1987 405 17 80 7.209 00 MARK KNOWLES PARTNER 1984 485 9.00 4365.00 HEATHER LENNOX PARTNER 1992 525 0.20 105 00 MARY MALONEY PARTNER 1986 440 22 90 10,076.00 STEPHEN MIXTER PARTNER 1986 445 580 10,076.00 STEPHEN MIXTER PARTNER 1986 440 22 90 10,076.00 STEPHEN MIXTER PARTNER 1986 455 84.00 ** 38,220.00 RACHEL RAWSON PARTNER 1991 395 54 10 ** 21,369 50 RACHEL RAWSON PARTNER 1991 375 29 30 19,987 50 10,987 50 10,987 50 10,987 50 10,987 50 10,987 50 10,987 50	DULCIE	BRAND					
WILLIAM HERZBERGER PARTNER 1987 405 17 80 7.209 08 MARK KNOWLES PARTNER 1994 485 90.0 4,365.00 MARK KNOWLES PARTNER 1992 525 0.20 105.00 MARY MALONEY PARTNER 1987 525 280 1,470.00 STEPHEN MIXTER PARTNER 1986 440 22 90 10,076.00 STEPHEN MIXTER PARTNER 1986 455 84 00 *** 21,369.50 RACHEL RAWSON PARTNER 1991 375 29.30 10,987.50 RACHEL RAWSON PARTNER 1991 375 29.30 10,987.50 JAMES SALERNO PARTNER 1991 375 29.30 10,987.50 JAMES SALERNO PARTNER 1991 370 660 2,442.00 TRACY PLOTT OF COUNSEL 1991 370 660 2,442.00							
MARK KNOWLES PARTNER 1984 485 9.00 4,365.00 HEATHER LENNOX PARTNER 1992 525 0.20 105.00 MALONEY PARTNER 1987 525 2.80 1,470.00 STEPHEN MIXTER PARTNER 1986 440 22.90 10,076.00 STEPHEN MIXTER PARTNER 1986 455 84.00 ** 38,220.00 RACHEL RAWSON PARTNER 1991 375 29.30 10,987.50 Jones 54.10 ** 21,369.50 RACHEL RAWSON PARTNER 1991 375 29.30 10,987.50 Jones 50 JAMES SALERNO PARTNER 1993 560 7.00 3,920.00 SCOTT SPECHT PARTNER 1993 560 7.00 3,920.00 SCOTT SPECHT PARTNER 1993 360 7.00 3,920.00 SCOTT SPECHT PARTNER 1993 375 29.30 4242.00 A 4	MICHELLE						
HEATHER	WILLIAM						
MARTY MALONEY PARTNER 1987 525 280 1,470.00							
STEPHEN MIXTER PARTNER 1986 440 22 90 10,076.00 STEPHEN MIXTER PARTNER 1986 455 84.00 *** 38,220.00 RACHEL RAWSON PARTNER 1991 395 54 10 *** 21,369 50 RACHEL RAWSON PARTNER 1991 375 29 30 10,987 50 JAMES SALERNO PARTNER 1991 375 29 30 10,987 50 JAMES SALERNO PARTNER 1991 370 660 7.00 3,920,00 SCOTT SPECHT PARTNER 1991 370 660 2,442,00 FREDERICK RERKO OF COUNSEL 1991 370 660 2,442,00 MARTHA WACH COUNSEL 1994 360 2,50 900,00 CARL BLACK ASSOCIATE 1998 325 0.90 292.50 PATRICIA ESCHBACH-HALL ASSOCIATE 1998 355							
STEPHEN MIXTER PARTNER 1986 455 84 00 ** 38,220.00 RACHEL RAWSON PARTNER 1991 395 54 10 ** 21,369 50 RACHEL RAWSON PARTNER 1991 375 29 30 10,987 50 10,987	MARY						
RACHEL RAWSON PARTNER 1991 375 54 10 ** 21.369 50 RACHEL RAWSON PARTNER 1991 375 29 30 10.987 50 ALERNO PARTNER 1991 375 29 30 10.987 50 ALERNO PARTNER 1993 560 7.00 3.920.00 SCOTT SPECHT PARTNER 1997 515 1.00 515.00 51							
RACHIEL RAWSON PARTNER 1991 375 29 30 10.98750 10.						01.00	30,420.00
JAMES SALERNO PARTNER 1993 560 7.00 3.920.00						27 10	21.000 50
SCOTT SPECHT PARTNER 1979 515 1.00 515.00 TRACY PLOTT OF COUNSEL 1991 370 660 2,442.00 FREDERICK RERKO OF COUNSEL 1991 370 660 2,442.00 MARTHA WACH COUNSEL 1994 360 2 50 900.00 CARL BLACK ASSOCIATE 1998 325 0.90 292.50 PATRICIA ESCHBACH-HALL ASSOCIATE 1999 245 1 30 318.50 PATRICIA ESCHBACH-HALL ASSOCIATE 1999 245 1 30 318.50 CHELSEA GRAYSON ASSOCIATE 1998 355 10.80 3.814.00 CHELSEA GRAYSON ASSOCIATE 2003 180 102.50 ** 18.430.00 TRAVIS HEIDORF ASSOCIATE 2003 180 102.50 ** 18.430.00 RYAN HOUSEAL ASSOCIATE 2004 230 30 <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>							
TRACY PLOTT OF COUNSEL 1991 370 6 60 2,442.00 FREDERICK RERKO OF COUNSEL 1991 370 6 60 2,442.00 MARTHA WACH COUNSEL 1994 360 2 50 900,00 CARL BLACK ASSOCIATE 1998 325 0.90 292.50 PATRICIA ESCHBACH-HALL ASSOCIATE 1999 245 1 30 318 50 PATRICIA ESCHBACH-HALL ASSOCIATE 1999 275 8 80 ** 2,420.00 CHELSEA GRAYSON ASSOCIATE 1998 355 10.80 3.834.00 TRAVIS HEIDORF ASSOCIATE 2003 155 24.60 3.813.00 TRAVIS HEIDORF ASSOCIATE 2003 180 102.50 ** 18.450.00 RYAN HOUSEAL ASSOCIATE 2004 230 3.00 690.00 LESLIE SCHAFER ASSOCIATE 2000 290 1							
FREDERICK RERKO OF COUNSEL 1973 495 8 50 4.207 50 MARTHA WACH COUNSEL 1994 360 2 50 900,00 CARL BLACK ASSOCIATE 1998 325 0.90 .00 PATRICIA ESCHBACH-HALL ASSOCIATE 1999 245 1 30 318 50 PATRICIA ESCHBACH-HALL ASSOCIATE 1999 275 8 80 ** 2,420,00 CHELSEA GRAYSON ASSOCIATE 1998 355 10.80 3,834,00 TRAVIS HEIDORF ASSOCIATE 2003 155 24,60 3,813,00 TRAVIS HEIDORF ASSOCIATE 2003 155 24,60 3,813,00 RYAN HOUSEAL ASSOCIATE 2003 158 10,25 ** 18,450,00 RYAN HOUSEAL ASSOCIATE 2004 230 30 690,00 690,00 LESLIE SCHAFER ASSOCIATE 2000 290	SCOTT						
MARTHA WACH COUNSEL 1994 360 2 50 900,00 CARL BLACK ASSOCIATE 1998 325 0.90 292,50 PATRICIA ESCHBACH-HALL ASSOCIATE 1999 245 1 30 318 50 PATRICIA ESCHBACH-HALL ASSOCIATE 1999 275 8 80 ** 2,420,00 CHELSEA GRAYSON ASSOCIATE 1998 355 10.80 3,834,00 TRAVIS HEIDORF ASSOCIATE 2003 155 24,60 3,813,00 RYAN HOUSEAL ASSOCIATE 2003 180 102,50 ** 18,450,00 RYAN HOUSEAL ASSOCIATE 2004 230 3,00 690,00 RYAN HOUSEAL ASSOCIATE 2000 290 194,50 ** 56,405,00 RYAN HOUSEAL ASSOCIATE 2000 260 108 70 28,262,00 74,710,00 74,710,00 72,940,00 74,710,00 74,910,00 </td <td>TRACY</td> <td>PLOTT</td> <td>OF COUNSEL</td> <td>1991</td> <td>370</td> <td>6.60</td> <td>2,442.00</td>	TRACY	PLOTT	OF COUNSEL	1991	370	6.60	2,442.00
CARL BLACK ASSOCIATE 1998 325 0.90 292.50 PATRICIA ESCHBACH-HALL ASSOCIATE 1999 245 1 30 318 50 PATRICIA ESCHBACH-HALL ASSOCIATE 1999 275 8 80 ** 2,420.00 CHELSEA GRAYSON ASSOCIATE 1998 355 10.80 3.813.00 TRAVIS HEIDORF ASSOCIATE 2003 155 24.60 3.813.00 RYAN HOUSEAL ASSOCIATE 2004 220 30 690.00 RYAN HOUSEAL ASSOCIATE 2000 290 194 50 ** 56,405.00 LESLIE SCHAFER ASSOCIATE 2000 290 194 50 ** 56,405.00 LESLIE SCHAFER ASSOCIATE 2000 290 194 50 ** 56,405.00 LESLIE SCHAFER ASSOCIATE 2000 290 194 50 ** 56,405.00 TATJANA STOLJAROVA	FREDERICK						
PATRICIA ESCHBACH-HALL ASSOCIATE 1999 245 1 30 318 50 PATRICIA ESCHBACH-HALL ASSOCIATE 1999 275 8 80 ** 2,420,00 CHELSEA GRAYSON ASSOCIATE 1998 355 10.80 3.834,00 TRAVIS HEIDORF ASSOCIATE 2003 155 24.60 3.813,00 TRAVIS HEIDORF ASSOCIATE 2003 180 102 50 ** 18.450,00 RYAN HOUSEAL ASSOCIATE 2004 230 3.00 690,00 690,00 LESLIE SCHAFER ASSOCIATE 2000 290 194 50 ** 56,405,00 LESLIE SCHAFER ASSOCIATE 2000 290 194 50 ** 56,405,00 LESLIE SCHAFER ASSOCIATE 2000 290 194 50 ** 56,405,00 TATIANA STOLJAROVA ASSOCIATE 2003 210 114,00 2.940,00 TATIANA<	MARTHA						
PATRICIA ESCHBACH-HALL ASSOCIATE 1999 275 8 80 ** 2,420.00 CHELSEA GRAYSON ASSOCIATE 1998 355 10.80 3.834.00 TRAVIS HEIDORF ASSOCIATE 2003 155 24.60 3.813.00 TRAVIS HEIDORF ASSOCIATE 2003 180 102.50 ** 18.450.00 RYAN HOUSEAL ASSOCIATE 2004 230 300 690.00 690.00 LESLIE SCHAFER ASSOCIATE 2000 290 194.50 ** 56,405.00 LESLIE SCHAFER ASSOCIATE 2000 260 108 70 28.262.00 7.00 194.50 ** 56,405.00 10.00 2.940.00 7.00 14.00 2.940.00 7.00 14.00 2.940.00 7.00 14.00 2.940.00 7.00 17.60 ** 39,698.00 7.00 17.00 46.80 7.00 46.80 7.00 7.00 7.00 7.00 7.00	CARL						
CHELSEA GRAYSON ASSOCIATE 1998 355 10.80 3.834.00 TRAVIS HEIDORF ASSOCIATE 2003 180 102.50 ** 18.450.00 RYAN HOUSEAL ASSOCIATE 2003 180 102.50 ** 18.450.00 RYAN HOUSEAL ASSOCIATE 2004 230 3.00 690.00 LESLIE SCHAFER ASSOCIATE 2000 290 194.50 ** 56,405.00 TATIANA STOLJAROVA ASSOCIATE 2000 260 108.70 22.82.62.00 TATIANA STOLJAROVA ASSOCIATE 2003 210 14.00 2.94.00 MARCIA BURSTON LEGAL ASST 117 0.40 46.80 MARCIA BURSTON LEGAL ASST 115 0.40 37.50 CARINA DOTSON LEGAL ASST 108 180 194.40 MICHELLE KROFEL LEGAL ASST 140 2.60 364.00							
TRAVIS HEIDORF ASSOCIATE 2003 155 24.60 3.813.00 TRAVIS HEIDORF ASSOCIATE 2004 230 102.50 ** 18.450.00 RYAN HOUSEAL ASSOCIATE 2004 230 3 00 699.00 LESLIE SCHAFER ASSOCIATE 2000 290 194.50 ** 56,405.00 LESLIE SCHAFER ASSOCIATE 2000 260 108.70 28.262.00 TATIANA STOLJAROVA ASSOCIATE 2003 210 14.00 2.940.00 TATIANA STOLJAROVA ASSOCIATE 2003 210 172.60 ** 39.698.00 MARCIA BURSTON LEGAL ASST 117 0.40 46.80 ** 3175.00 CARINA DOTSON LEGAL ASST 125 30 ** 3175.00 CARINA DOTSON LEGAL ASST 140 2.60 364.00 MICHELLE KROFEL LEGAL ASST 150							-,
TRAVIS HEIDORF ASSOCIATE 2003 180 102 50 ** 18.450.00 RYAN HOUSEAL ASSOCIATE 2004 230 3 00 690.00 LESLIE SCHAFER ASSOCIATE 2000 290 194 50 ** 56,405.00 LESLIE SCHAFER ASSOCIATE 2000 260 108 70 28.262.00 TATIANA STOLJAROVA ASSOCIATE 2003 210 14.00 2.940.00 TATIANA STOLJAROVA ASSOCIATE 2003 210 17.60 ** 39.698.00 MARCIA BURSTON LEGAL ASST 117 0.40 46.80 MARCIA BURSTON LEGAL ASST 108 180 194.40 MICHELLE KROFEL LEGAL ASST 10 2.60 364.00 MICHELLE ROFEL LEGAL ASST 150 6.80 ** 1.020.00 BRADLEY MILLER LEGAL ASST 70 17 10 ** 1.197.00 <							
RYAN HOUSEAL ASSOCIATE 2004 230 3 00 690.00 LESLIE SCHAFER ASSOCIATE 2000 290 194 50 ** 56,405.00 LESLIE SCHAFER ASSOCIATE 2000 260 108 70 22.262.00 TATIANA STOLJAROVA ASSOCIATE 2003 210 14.00 2.940.00 TATIANA STOLJAROVA ASSOCIATE 2003 230 172.60 ** 39,698.00 MARCIA BURSTON LEGAL ASST 117 0.40 46.80 MARCIA BURSTON LEGAL ASST 125 3.00 ** 375.00 CARINA DOTSON LEGAL ASST 108 180 194.40 MICHELLE KROFEL LEGAL ASST 140 2.60 364.00 MICHELLE KROFEL LEGAL ASST 150 6.80 ** 1.920.00 BRADLEY MILLER LEGAL ASST 70 17 10 ** 1.197.00 BETTY YAKOVICH LEGAL ASST 63 <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>							
LESLIE SCHAFER ASSOCIATE 2000 290 194 50 ** 56,405.00 LESLIE SCHAFER ASSOCIATE 2000 260 108 70 28,262.00 TATIANA STOLJAROVA ASSOCIATE 2003 210 14.00 2.990.00 TATIANA STOLJAROVA ASSOCIATE 2003 230 172.60 ** 39,698.00 MARCIA BURSTON LEGAL ASST 117 0.40 46.80 MARCIA MARCIA BURSTON LEGAL ASST 125 3.00 ** 375.00 CARINA DOTSON LEGAL ASST 108 180 194.40 MICHELLE KROFEL LEGAL ASST 140 2.60 364.00 MICHELLE KROFEL LEGAL ASST 150 6.80 ** 1.020.00 BRADLEY MILLER LEGAL ASST 63 34.40 2.167.20 BETTY YAKOVICH LEGAL ASST 145 0.50 72.50 SUZANNE							,
LESLIE SCHAFER ASSOCIATE 2000 260 108 70 28.262.00 TATIANA STOLJAROVA ASSOCIATE 2003 210 14.00 2.940.00 TATIANA STOLJAROVA ASSOCIATE 2003 230 172.60 ** 39,698.00 MARCIA BURSTON LEGAL ASST 117 0.40 46.80 MARCIA BURSTON LEGAL ASST 125 3.00 ** 375.00 CARINA DOTSON LEGAL ASST 108 180 194.40 MICHELLE KROFEL LEGAL ASST 140 2.60 364.00 MICHELLE KROFEL LEGAL ASST 150 6.80 ** 1.020.00 BRADLEY MILLER LEGAL ASST 70 17 10 ** 1.197.00 BRADLEY MILLER LEGAL ASST 63 34.40 2.167.20 BRADLEY MILLER LEGAL ASST 145 0.50 72.50 SUZANNE KOSTON LEGAL SUPPORT							
TATJANA STOLJAROVA ASSOCIATE 2003 210 14.00 2.940.00 TATJANA STOLJAROVA ASSOCIATE 2003 230 172.60 ** 39,698.00 MARCIA BURSTON LEGAL ASST 117 0.40 46.80 MARCIA BURSTON LEGAL ASST 125 3.00 ** 375.00 CARINA DOTSON LEGAL ASST 108 180 194.40 MICHELLE KROFEL LEGAL ASST 140 2.60 364.00 MICHELLE KROFEL LEGAL ASST 150 6.80 ** 1.020.00 BRADLEY MILLER LEGAL ASST 70 17 10 ** 1.197.00 BRADLEY MILLER LEGAL ASST 63 34.40 2.167.20 BRADLEY YAKOVICH LEGAL ASST 145 0.50 72.50 SUZANNE KOSTON LEGAL SUPPORT 95 150 142.50 MICHELLE PARRIS PROJECT ASST 45 <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>							
TATIANA STOLIAROVA ASSOCIATE 2003 230 172.60 ** 39,698.00 MARCIA BURSTON LEGAL ASST 117 0.40 ** 46.80 MARCIA BURSTON LEGAL ASST 125 3.00 ** 375.00 CARINA DOTSON LEGAL ASST 108 180 194.40 MICHELLE KROFEL LEGAL ASST 140 2.60 364.00 MICHELLE KROFEL LEGAL ASST 150 6.80 ** 1.020.00 BRADLEY MILLER LEGAL ASST 70 17 10 ** 1.197.00 BETTY YAKOVICH LEGAL ASST 63 34.40 2.167.20 BETTY YAKOVICH LEGAL ASST 145 0.50 72.50 SUZANNE KOSTON LEGAL SUPPORT 95 150 142.50 MICHAEL PARRIS PROJECT ASST 45 1 30 58.50	LESLIE						
MARCIA BURSTON LEGAL ASST 117 0.40 46.80 MARCIA BURSTON LEGAL ASST 125 3.00 ** 375.00 CARINA DOTSON LEGAL ASST 108 1 80 194.40 MICHELLE KROFEL LEGAL ASST 140 2.60 364.00 MICHELLE KROFEL LEGAL ASST 150 6.80 ** 1.020.00 BRADLEY MILLER LEGAL ASST 70 17.10 ** 1.197.00 BRADLEY MILLER LEGAL ASST 63 34.40 2.167.20 BRADLEY YAKOVICH LEGAL ASST 145 0.50 72.50 SUZANNE KOSTON LEGAL SST 95 1.50 142.50 MICHAEL PARRIS PROJECT ASST 45 1.30 58.50							
MARCIA BURSTON LEGAL ASST 125 3 00 ** 375.00 CARINA DOTSON LEGAL ASST 108 180 194.40 MICHELLE KROFEL LEGAL ASST 140 2.60 364.00 MICHELLE KROFEL LEGAL ASST 150 6.80 ** 1.020.00 BRADLEY MILLER LEGAL ASST 70 17 10 ** 1.197.00 BRADLEY MILLER LEGAL ASST 63 34.40 2.167.20 BRADLEY YAKOVICH LEGAL ASST 145 0.50 72.50 SUZANNE KOSTON LEGAL SUPPORT 95 1.50 142.50 MICHAEL PARRIS PROJECT ASST 45 1 30 58.50				2003			1
CARINA DOTSON LEGAL ASST 108 1 80 194 40 MICHELLE KROFEL LEGAL ASST 140 2 60 364 00 MICHELLE KROFEL LEGAL ASST 150 6 80 ** 1.020 00 BRADLEY MILLER LEGAL ASST 70 17 10 ** 1.197 00 BRADLEY MILLER LEGAL ASST 63 34 40 2.167 20 BETTY YAKOVICH LEGAL ASST 145 0.50 72 50 SUZANNE KOSTON LEGAL SUPPORT 95 1 50 142 50 MICHAEL PARRIS PROJECT ASST 45 1 30 58 50							
MICHELLE KROFEL LEGAL ASST 140 2 60 364 00 MICHELLE KROFEL LEGAL ASST 150 6 80 ** 1.020 00 BRADLEY MILLER LEGAL ASST 70 17 10 ** 1.197 00 BRADLEY MILLER LEGAL ASST 63 34.40 2.167 20 BETTY YAKOVICH LEGAL ASST 145 0.50 72.50 SUZANNE KOSTON LEGAL SUPPORT 95 1 50 142.50 MICHAEL PARRIS PROJECT ASST 45 1 30 58.50	MARCIA						
MICHELLE KROFEL LEGAL ASST 150 6.80 ** 1.020 00 BRADLEY MILLER LEGAL ASST 70 17 10 ** 1.197 00 BRADLEY MILLER LEGAL ASST 63 34.40 2.167 20 BETTY YAKOVICH LEGAL ASST 145 0.50 72.50 SUZANNE KOSTON LEGAL SUPPORT 95 1 50 142.50 MICHAEL PARRIS PROJECT ASST 45 1 30 58.50							
BRADLEY MILLER LEGAL ASST 70 17 10 ** 1.197.00 BRADLEY MILLER LEGAL ASST 63 34.40 2.167.20 BETTY YAKOVICH LEGAL ASST 145 0.50 72.50 SUZANNE KOSTON LEGAL SUPPORT 95 1.50 142.50 MICHAEL PARRIS PROJECT ASST 45 1.30 58.50							
BRADLEY MILLER LEGAL ASST 63 34.40 2.167.20 BETTY YAKOVICH LEGAL ASST 145 0.50 72.50 SUZANNE KOSTON LEGAL SUPPORT 95 150 142.50 MICHAEL PARRIS PROJECT ASST 45 1 30 58.50							
BETTY YAKOVICH LEGAL ASST 145 0.50 72.50 SUZANNE KOSTON LEGAL SUPPORT 95 1.50 142.50 MICHAEL PARRIS PROJECT ASST 45 1.30 58.50							
SUZANNE KOSTON LEGAL SUPPORT 95 1 50 142.50 MICHAEL PARRIS PROJECT ASST 45 1 30 58.50							
MICHAEL PARRIS PROJECT ASST 45 1 30 58.50							
201AL 962.18 271,676.90	MICHAEL		PROJECT ASST		45		
		TOTAL				A01-10	411,676.90

^{*} All fees for nonworking travel are charged at one-half the normal hourly billing rate

^{**} Rate increase effective January 1, 2005

	(GLEBAY NORTO				
Time	keeper Name	Title	Bar Year	Billing Rate	Hours	Total Fees
h						······································
Claims Admini MICHELLE	stration HARNER	PARTNER	1995	450	1 50	675.00
HEATHER	LENNOX	PARTNER	1992	595	0.50 **	297 50
HEATHER	LENNOX	PARTNER	1992	525	5 90	3,097.50
CARL.	BLACK	ASSOCIATE	1998	325	25 30	8.222.50
CARL ILANA	BLACK GLAZIER	ASSOCIATE ASSOCIATE	1998 2000	375 325	3 60 ** 17 90	1.350.00 5.817.50
ERIC	GOODMAN	ASSOCIATE	2003	155	10.50	1.627 50
GUS	KALLERGIS	ASSOCIATE	1999	300	4 10 **	1.230.00
GUS	KALLERGIS	ASSOCIATE	1999	240	30.36 2.70 **	7.272.00
THOMAS THOMAS	WILSON WILSON	ASSOCIATE ASSOCIATE	2003 2003	200 155	2.70 ** 31.70	540,00 4,913 50
MARCIA	BURSTON	LEGAL ASST	+000	117	4.40	514 80
STACY	DEZSI	LEGAL ASST		155	6.30	976,50
MARY	HEMANN	LEGAL ASST		131	12.90	1,689 90
NATALIE	SAVARESE TOTAL	PROJECT ASST		63	3.40 161.00	214.20 38,438.40
Court Hearing						
KATHLEEN	BURKE	PARTNER	1973	385	1 30	500.50
MICHELLE	HARNER	PARTNER	1995	450	23 50	10.575.00
DAVID	HEIMAN	PARTNER	1971	795	0.50	397 50
HEATHER	LENNOX	PARTNER PARTNER	1992 1992	595 525	2.80 ** 102.10	1,666 00 53,602.50
HEATHER EDWARD	LENNOX SEBOLD	PARTNER	1991	370	60.20	22.274 00
RICHARD	WERDER JR	PARTNER	1984	645	29.70	19.156.50
CARL	BLACK	ASSOCIATE	1998	325	23 40	7.605.00
CARL	BLACK	ASSOCIATE	1998	375	0.50 **	187 50
ERIC MARCIA	GOODMAN BURSTON	ASSOCIATE LEGAL ASST	2003	155 117	I 10 0 70	170.50 81 90
MARY	HEMANN	LEGAL ASST		131	6.30	B25 30
LLOYD	AMSTER	STAFF		60	1.00	60.00
	TOTAL				253.10	117,102.20
***************************************	rate/Real Estate					
RACHEL	ALLEN	PARTNER	1989	335	2.20	737.00
KATHLEEN CHARLES	BURKE HARDIN JR	PARTNER PARTNER	1973 1987	385 510	0.10 4.90	38.50 2,499.00
CHARLES	HARDIN JR	PARTNER	1987	530	0.50 **	265 00
MICHELLE	HARNER	PARTNER	1995	450	22 80	10,260.00
DAVID	HEIMAN	PARTNER	1971	825	0.50	412 50
RONALD RICHARD	JANKE KOSNIK	PARTNER PARTNER	1974 1983	450 650	0 90 9 10	405.00 5.915.00
HEATHER	LENNOX	PARTNER	1992	525	13 70	7.192 50
HEATHER	LENNOX	PARTNER	1992	595	3.80 **	2.261.00
MARY	MALONEY	PARTNER	1987	475	2 10	997 50
MARY DAVID	MALONEY PORTER	PARTNER PARTNER	1987 1981	525 560	170 ** 130.80	892 50 73 248 00
DAVID	PORTER	PARTNER	1981	575	43.30 **	24,897.50
EDWARD	PURNELL.	PARTNER	1990	450	3.50	1.575.00
EDWARD	PURNELL	PARTNER	1990	475	0.50	237 50
RACHEL RICHARD	RAWSON	PARTNER	1991	375	0 (0 1 50 **	37 50
RICHARD	REPPERT REPPERT	PARTNER PARTNER	1974 1974	390 350	1.50 ** 0.20	585.00 70.00
JEANNE	RICKERT	PARTNER	1980	530	1.30	689.00
LOUIS	RORIMER	PARTNER	1975	430	2.10	903.00
ERIN	KARZMER	OF COUNSEL	1990	465	98 00 **	45,570.00
ERIN KATHLEEN	KARZMER AMER	OF COUNSEL ASSOCIATE	1990 2004	435 160	199.90 2.00	86,956.50 320.00
JEREMY	BEYDA	ASSOCIATE	N/A	225	7.00	1.575.00
CARL.	BLACK	ASSOCIATE	1998	375	3 10 **	1.162 50
CARL	BLACK	ASSOCIATE	1998	325	21 30	6.922 50
STEPHEN STEPHEN	COOLBAUGH COOLBAUGH	ASSOCIATE ASSOCIATE	2001 2001	195 220	278 90 137.40 **	54.385 50 30.228.00
MATTHEW	ENGOTT	ASSOCIATE	2001	215	2.20	473.00
PATRICIA	ESCHBACH-HALL		1999	275	8.60 **	2.365.00
PATRICIA	ESCHBACH-HALL		1999	245	11 20	2.744.00
MONICA	FERRER	ASSOCIATE	1996	415	171 20	71.048.00
MONICA MONICA	FERRER FERRER	ASSOCIATE ASSOCIATE	1996 1996	0 430	0,00 130.20 **	0.00 55,986.00
KAREN	HONG	ASSOCIATE	2004	160	10.20	1,632.00
RYAN	HOUSEAL	ASSOCIATE	2004	230	43.00	9.890.00
GUS	KALLERGIS	ASSOCIATE	1999	240	0.90	216 00
LISA	KUNKLE	ASSOCIATE	1994	365	1.00	365.00
JENNIFER R JASON	LEWIS OBLANDER	ASSOCIATE ASSOCIATE	1995 2000	330 235	2 70 41 80 **	891 00 9.823.00
R JASON	OBLANDER	ASSOCIATE	2000	215	49 80	10,707.00
VIPUL	PATEL	ASSOCIATE	2003	180	119.20 **	21,456.00
VIPUL	PATEL	ASSOCIATE	2003	155	223 90	34,704 50
CHRISTINE CHRISTINE	PRZYBYSZ	ASSOCIATE ASSOCIATE	2004 2004	160 155	35.80 ** 9.40	5.728.00
DIANE	PRZYBYSZ ROSE	ASSOCIATE	2004 1984	360	410 **	1,457.00 1,476.00
DIANE	ROSE	ASSOCIATE	1984	355	6.80	2,414.00
LESLIE	SCHAFER	ASSOCIATE	2000	260	4.40	1.144.00
STEFAN	SCHNOPP	ASSOCIATE	1997	295	178 90 **	52,775 50

All fees for nonworking travel are charged at one-half the normal hourly billing rate.

^{**} Rate increase effective January 1. 2005

,		GLEDAT NORTO					
			Bar	Billing			
Time	keeper Name	Title	Year	Rate	Hours		Total Fees
STEFAN	cctntonn	ASSOCIATE	1997	280	385 50		107.940.00
THOMAS	SCHNOPP	ASSOCIATE	2003	155	180		279.00
THOMAS	WILSON WILSON	ASSOCIATE	2003	200	5 30	••	1.060 00
JASON	WOLFE	ASSOCIATE	N/A	225	17.50		3,937 50
GEORGE	ZILICH	ASSOCIATE	2004	155	28 30		4.386.50
KAREN	CORRIGAN	SR STAFF ATTY	1993	185	7.00		1.295.00
KAREN	CORRIGAN	SR STAFF ATTY	1993	190	6.90	••	1.311.00
AMANDA	COCHRAN	LEGAL ASST	****	205	1.30		266.50
CARINA	DOTSON	LEGAL ASST		102	1.50		153.00
KELLI	HALEY	LEGAL ASST		155	0.30		46.50
LANESHA	JOHNSON	LEGAL ASST		115	4 00		460.00
BRADLEY	MILLER	LEGAL ASST		70	1.30		91.00
MELISSA	VOTAW	LEGAL SUPPORT		160	2.40	••	384 00
MELISSA	VOTAW	LEGAL SUPPORT		151	20 90		3.155 90
NATALIE	SAVARESE	PROJECT ASST		63	8 70		548 10
	TOTAL				2.541 20		773,847.00
****	FA/U,S, Trustee Repor BLACK	ASSOCIATE	1998	375	1.20	••	450.00
CARL CARL	BLACK	ASSOCIATE	1998	325	0.30		97.50
THOMAS	WILSON	ASSOCIATE	2003	155	0.50		124.00
THOMAS	WILSON	ASSOCIATE	2003	200		••	480.00
11100000	TOTAL	ADDOCHTE	2005	200	4.70		1,151 50
	* * - * - *						,
Employee Mat	ters						
MICHELI E	HARNER	PARTNER	1995	450	21 00		9,450.00
DAVID	HEIMAN	PARTNER	1971	795	2.00		1.590.00
HEATHER	LENNOX	PARTNER	1992	595	0.20	••	119.00
HEATHER	1 ENNOX	PARTNER	1992	525	13 70		7,192 50
MARY	MALONEY	PARTNER	1987	475	5.00		2.375.00
MARY	MALONEY	PARTNER	1987	525	5.30	••	2.782 50
EDWARD	SEBOLD	PARTNER	1991	370	17 90		6,623.00
ERIN	KARZMER	OF COUNSEL	1990	465 375	0.50	••	232.50 412.50
CARL.	BLACK	ASSOCIATE	1998 1998	325	1.10 21.30		6,922.50
CARL STEPHEN	BLACK COOLBAUGH	ASSOCIATE ASSOCIATE	2001	195	0.30		58.50
PATRICIA	ESCHBACH-HALL		1999	275			4.895.00
PATRICIA	ESCHBACH-HALL		1999	245	25.40		6,223.00
MONICA	FERRER	ASSOCIATE	1996	415	0.50		207.50
ILANA	GLAZIER	ASSOCIATE	2000	325	20.50		6,662.50
ERIC	GOODMAN	ASSOCIATE	2003	180	1 10		198.00
MELISSA	HORN	ASSOCIATE	2003	155	12 10		1.875.50
LISA	KUNKLE	ASSOCIATE	1994	365	0.80		292.00
THOMAS	WILSON	ASSOCIATE	2003	200	0.30		60,00
MARY	HEMANN	LEGAL ASST		131	2.20		288.20
	TOTAL				169.00		58,459.70
Tax Advice CARL	JENKS	PARTNER	1982	610	1 50		915.00
MARY	MALONEY	PARTNER	1982	525	4.80		2,520.00
MARY	MALONEY	PARTNER	1987	475	2 10		997 50
EDWARD	PURNELL	PARTNER	1990	475	11 50	**	5.462.50
EDWARD	PURNELL	PARTNER	1990	450	7.00		3,150.00
CANDACE	RIDGWAY	PARTNER	1988	525	0.30		157 50
ERIN	KARZMER	OF COUNSEL	1990	465	0.60		279.00
CHARLES	STEINES	COUNSEL	1977	330	1.00		330.00
CARL	BLACK	ASSOCIATE	1998	325	0.40		130.00
MONICA	FERRER	ASSOCIATE	1996	430	3.40		1,462.00
THOMAS	WILSON	ASSOCIATE	2003	155	19 90		3.084.50
• • • •	TOTAL				52 50		18,488 00

All fees for nonworking travel are charged at one-half the normal hourly billing rate

^{**} Rate increase effective January 1, 2005

		OGLEBAY NORTO				
Tjmel	keeper Name	Title	Bar Year	Billing Rate	Hoors	Total Fees

	rsary Proceedings	D. D. D. TATED	1077	105	7.00	1 166 00
KATHLEEN MICHELLE	BURKE HARNER	PARTNER PARTNER	1973 1995	385 450	3.00 12.00	1,155.00 5,400.00
HEATHER	LENNOX	PARTNER	1992	525	2 90	1.522.50
HEATHER	LENNOX	PARTNER	1992	595	190 **	1.130 50
EDWARD	SEBOLD	PARTNER	1991	370	0.40	148.00
EDWARD	SEBOLD	PARTNER ASSOCIATE	1991 1998	0 325	0.00 5.00	0.00 1,625.00
CARL CARL	BLACK BLACK	ASSOCIATE	1998	375	1.00	375.00
ANDREW	FIORELLA	ASSOCIATE	2003	155	6.00	930.00
ANDREW	FIORELLA	ASSOCIATE	2003	180	0.10	18.00
ERIC	GOODMAN	ASSOCIATE	2003	155	10.90	1,689 50
ALEXANDER DAVID	JUNGE MILLS	ASSOCIATE ASSOCIATE	2004 2002	155 175	3 50 3 40	542.50 595.00
LESLIE	SCHAFER	ASSOCIATE	2000	260	0.40	104.00
TRACY	STRATFORD	ASSOCIATE	1998	270	13 30	3.591.00
TRACY	STRATFORD	ASSOCIATE	1998	300	2,40 **	720.00
THOMAS	WILSON	ASSOCIATE	2003	155	5.00	775.00 117.00
MARCIA JEAN-PIERRE	BURSTON DEL ABRE	LEGAL ASST LEGAL ASST		117 127	1.00 4.00	508.00
MARY	HEMANN	LEGAL ASST		131	4 10	537.10
MARY	HEMANN	LEGAL ASST		140	100 **	140.00
ALISSA	ROVNY	LEGAL ASST		100	5.00	500.00
JOHN	PAOLANO	PROJECT ASST		60	19 00 105.30	1.140.00 23,263.10
	TOTAL				103.30	23,203.10
	tention/Fee Issues					
MICHELLE	HARNER	PARTNER	1995	450	0.50	225.00
HEATHER	LENNOX	PARTNER	1992 1998	525 325	1 70 12.30	892 50 3,997 50
CARL CARL	BLACK BLACK	ASSOCIATE ASSOCIATE	1998	375	0.20	75.00
LESLIE	SCHAFER	ASSOCIATE	2000	260	0.20	52.00
THOMAS	WILSON	ASSOCIATE	2003	155	22.10	3,425 50
THOMAS	WILSON	ASSOCIATE	2003	200	4 40 **	880.00
LYNNE MARY	FISCHER HEMANN	STAFF ATTY LEGAL ASST	1996	160 140	2.00 3.90 **	320.00 546.00
MARY	HEMANN	LEGAL ASST		131	26.80	3.510.80
	TOTAL				74.10	13,924 30
F						
Fee Application HEATHER	LENNOX	PARTNER	1992	525	6.80	3.570.00
HEATHER	LENNOX	PARTNER	1992	595	510 **	3.034 50
CARL	BLACK	ASSOCIATE	1998	325	12.80	4,160.00
CARL	BLACK	ASSOCIATE	1998	375	5.28 **	1.950.00
THOMAS THOMAS	WILSON WILSON	ASSOCIATE ASSOCIATE	2003 2003	200 155	22.20 ** 50.50	4,440.00 7,827.50
MARCIA	BURSTON	LEGAL ASST	*00,5	125	1.60 **	200.00
MARCIA	BURSTON	LEGAL ASST		117	25 50	2.983.50
MARY	HEMANN	LEGAL ASST		131	46.60	6.104.60
MARY	HEMANN	LEGAL ASST		140	16 90 **	2.366.00
LANESHA GAIL	JOHNSON NASH	LEGAL ASST PROJECT ASST		107 65	0.10 0.30	10.70 19.50
OME	TOTAL	TROVEET ABBT		0.3	193.60	36,666 30
Nonworking Ti		DADTNEO	1005	225	e nn ·	1 200 20
MICHELLE DAVID	HARNER HEIMAN	PARTNER PARTNER	1995 1971	225 397.5	8.00 * 3.00 *	1.800.00 1.192.50
HEATHER	LENNOX	PARTNER	1971	297.5	10.30	3,064.25
HEATHER	LENNOX	PARTNER	1992	262.5	42.60	11.182 50
EDWARD	SEBOLD	PARTNER	1991	185	19 50 *	3,607.50
CARL TATJANA	BLACK	ASSOCIATE ASSOCIATE	1998 2003	162.5 115	6.10 * 6.20 *	1,040.00 713.00
IVIIVAV	STOLJAROVA TOTAL	MOSOCIATE	1003	113	96.00	22.599.75
Ashestos Matte						
MICHELLE DAVID	HARNER HEIMAN	PARTNER PARTNER	1995 1971	450 795	23.20 13.60	10,440.00 10,812.00
HEATHER	LENNOX	PARTNER	1971	793 595	2.00	1.190.00
HEATHER	LENNOX	PARTNER	1992	525	41.40	21.735.00
CARL	BLACK	ASSOCIATE	1998	325	18 50	6.012.50
CARL	BLACK	ASSOCIATE	1998	375	710 **	2.662.50
ERIC GUS	GOODMAN KALLERGIS	ASSOCIATE ASSOCIATE	2003 1999	155 240	5.30 57.30	821 50 13,752 00
THOMAS	WILSON	ASSOCIATE	2003	155	0.10	15.50
MARCIA	BURSTON	LEGAL ASST		117	0.50	58.50
	TOTAL				169.00	67,499 50

1284452_F.XLS

All fees for nonworking travel are charged at one-half the normal hourly billing rate

^{••} Rate increase effective January 1, 2005

			Bar	Billing		
Timekeeper Name		Tille	Year	Raie	Hours	Total Fees
Shareholder I	nvestigation					
MICHELLE	HARNER	PARTNER	1995	450	0.30	135.00
DAVID	HEIMAN	PARTNER	1971	795	0.50	397.50
HEATHER	LENNOX	PARTNER	1992	525	0.80	420.00
HEATHER	LENNOX	PARTNER	1992	595	1.60	· 952.00
IOHN	NEWMAN JR	PARTNER	1970	650	1 80	1,170.00
DAVID	PORTER	PARTNER	1981	560	6.30	3.528.00
ERIN	KARZMER	OF COUNSEL	1990	435	6.60	2.871.00
ANDREW	FIORELLA	ASSOCIATE	2003	155	6.90	1.069.50
STEFAN	SCHNOPP	ASSOCIATE	1997	280	4,40	1.232.00
	TOTAL				29.20	11,775.00
	GRAND TOTAL				6,516.30	1,991.260.65

1284452_1.XES

All fees for nonworking travel are charged at one-half the normal hourly billing rate

^{**} Rate increase effective January 1, 2005

Timate		Title	Bar	Billing	Hours	Total Fee
Timekceper Name		Title	Year	Rate	поигѕ	1 otal rec
SHARON	ALEXANDER	PARTNER	1990	410 00	0.60	246.00
RACHEL ROBERT	ALLEN AVERY	PARTNER PARTNER	1989 1971	335.00 550.00	17 20 7 80	5.762.00 4,290.00
DULCIE	BRAND	PARTNER	1981	520.00	0.50	260.00
KATHLEEN	BURKE	PARTNER	1973	385.00	33 60	12.936.00
CHRISTOPHER	CARSON	PARTNER	1965	615.00	4 30 **	2.644 50
CHRISTOPHER	CARSON	PARTNER	1965	590.00	0.50	295.00
THOMAS	DANIELS	PARTNER	1986	540.00	1 00	540.00
ANDREW	DEMETRIOU	PARTNER	1979	520.00	3.60	1.872.00
JEFFREY	ELLMAN	PARTNER	1991	525.00	0.80	420.00
BRAD	ERENS	PARTNER	1991	550.00	0.50 n.so. ••	275.00 265.00
CHARLES	HARDIN JR HARDIN JR	PARTNER PARTNER	1987 1987	530.00 510.00	0.50 ** 11.50	5.865.00
CHARLES PAUL	HARNER	PARTNER	1990	695.00	1 40	973.00
MICHELLE	HARNER	PARTNER	1995	525.00	3 30 **	1,732 50
MICHELL E	HARNER	PARTNER	1995	450.00	1.182 70	532.215.00
MICHELLE	HARNER	PARTNER	1995	225.00	47 00 *	10,575.00
DAVID	HEIMAN	PARTNER	1971	825.00	0.80 **	660,00
DAVID	HEIMAN	PARTNER	1971	795.00	353 90	281,350.50
DAVID	HEIMAN	PARTNER	1971	397 50	16.00 *	6.360.00
WILLIAM	HERZBERGER	PARTNER	1987	405.00	17.80 **	7,209.00
WILLIAM	HERZBERGER	PARTNER	1987	390,00	17.20	6.708.00
RONALD	JANKE	PARTNER	1974	450.00 610.00	0 90	405 00 18,910.00
CARL	JENKS	PARTNER	1982		31.00	
MARK	KNOWLES	PARTNER PARTNER	1984 1984	485 00 475.00	9,00 ** 10.80	4.365.00 5.130.00
MARK RICHARD	KNOWLES KOSNIK	PARTNER	1984	650.00	175.30	113.945.00
JEFFREY	LEAVITT	PARTNER	1983	545.00	28 50	15.532 50
HEATHER	LENNOX	PARTNER	1992	\$95.00	43 80 **	26,061.00
HEATHER	LENNOX	PARTNER	1992	525.00	1,099.40	577.185.00
HEATHER	LENNOX	PARTNER	1992	297 50	10.30 *	3.064 25
HEATHER	LENNOX	PARTNER	1992	262 50	126.90	33.311.25
TROY	LEWIS	PARTNER	1987	500.00	11.40	5.700.00
RORY	LYONS	PARTNER	1985	450.00	7 50	3.375.00
J ERIC	MAKI	PARTNER	1987	550,00	2.00	1.100.00
MARY	MALONEY	PARTNER	1987	525.00	14 60 **	7.665.00
MARY	MALONEY	PARTNER	1987	475.00	70.50	33,487 50
STEPHEN	MIXTER	PARTNER	1986	455.00	84 00 **	38,220.00
STEPHEN	MIXTER	PARTNER	1986	440,00	152 80 3 10	67.232.00 2.015.00
JOHN DAVID	NEWMAN JR PORTER	PARTNER PARTNER	1970 1981	650.00 575.00	43 30 **	24.897.50
DAVID	PORTER	PARTNER	1981	560.00	438.80	245.728.01
EDWARD	PURNELL.	PARTNER	1990	475.00	12.80 **	6,080.00
EDWARD	PURNELL.	PARTNER	1990	450.00	96.80	43.560.00
RACHEL.	RAWSON	PARTNER	1991	395.00	62 90 **	24.845 5€
RACHEL	RAWSON	PARTNER	1991	375 00	297 90	111,712 50
RACHEL.	RAWSON	PARTNER	1991	187 50	10.50	1.968 75
JOHN	REGO	PARTNER	1988	475.00	3 90	1.852 50
RICHARD	REPPERT	PARTNER	1974	390.00	1.50 **	585.00
RICHARD	REPPERT	PARTNER	1974	350.00	1.30	455.00
JEANNE	RICKERT	PARTNER PARTNER	1980 1988	530.00 525.00	1 30 0.30	689.00 157.50
CANDACE LOUIS	RIDGWAY RORIMER	PARTNER	1975	430.00	6.00	2.580.00
JAMES	SALERNO	PARTNER	1993	560.00	7 00 **	3.920.00
JAMES JAMES	SALERNO	PARTNER	1993	540.00	16.50	8,910.00
EDWARD	SEBOLD	PARTNER	1991	370.00	338.00	125.060.00
EDWARD	SEBOLD	PARTNER	1991	185.00	25.50 *	4,717 50
TOM	SMITH	PARTNER	1972	685.00	0.30	205 50
EDGAR	SNOW JR	PARTNER	1987	365.00	0 60	219.00
SCOTT	SPECHT	PARTNER	1979	515 00	00.1	\$15.00
RICHARD	WERDER JR	PARTNER	1984	645.00	205 70	132.676.50
ERIN	KARZMER	OF COUNSEL	1990	465.00	106.30 **	49,429 50
ERIN	KARZMER	OF COUNSEL	1990	435 00	724.80	315,288.00
TRACY	PLOTT	OF COUNSEL	1991	370.00	6.60	2,442.00
FREDERICK	RERKO	OF COUNSEL	1973	495.00	8 5D	4.207 \$6
CHARLES	STEINES	COUNSEL	1977	330.00 360.00	1.00	330.00 900.00
MARTHA TANVIR	WACH ALAM	COUNSEL ASSOCIATE	1994 2003	240.00	2 50 186 50	44.760.0
KATHLEEN	AMER	ASSOCIATE	2003	160.00	13.40	2.144,00
JEREMY	BEYDA	ASSOCIATE	2001	225.00	15.60	3.510.00
CARL.	BLACK	ASSOCIATE	1998	375.00	69 70 **	26.137 50
CARL	BLACK	ASSOCIATE	1998	325.00	1,646.50	535.112 58
CARL	BLACK	ASSOCIATE	1998	162.50	24.80	4,030.00
PEARSON	BOWNAS	ASSOCIATE	1997	280.00	110.90	31,052.00
GEOFFREY	BROW	ASSOCIATE	1999	360 00	4 90	1.764.00
HOWARD	CHU	ASSOCIATE	2004	155 00	8.00	1.240.00
JONATHAN	COLE	ASSOCIATE	2001	320.00	9 80	3.136.00
STEPHEN	COOLBAUGH	ASSOCIATE	2001	220.00	138.60 **	30,492.00
STEPHEN	COOLBAUGH	ASSOCIATE	2001	195 00	871 60	169.962.00
MATTHEW	COSENTINO	ASSOCIATE		225.00	4.00	900.00
MATTHEW	ENGOTT	ASSOCIATE ASSOCIATE	2001 1999	215.00	2.20 37.00 **	473.00 10.175.00
PATRICIA	ESCHOACH-HALL			275 00		

All fees for nonworking travel are charged at one-half the normal hourly billing rate.

^{**} Rate increase effective January 1, 2005

^{***} Rate increase effective July 1, 2004

Timekeeper Name		Title	Bar Year	Billing Rate	Hours	Total Fo
PATRICIA	ESCHBACH-HALL	ASSOCIATE	1999	245.00	165 00	40,425
MONICA	FERRER	ASSOCIATE	1996	430.00	156.00 **	67,080.
MONICA	FERRER	ASSOCIATE	1996	415.00	1,139.90	473,058
NDREW	FIORELLA	ASSOCIATE	2003	180.00	0.10	18.
NDREW	FIORELLA	ASSOCIATE	2003	155 00	345.00	53,475
YLE	FOLEY	ASSOCIATE	2003	240.00	8 90	2.136.
COTT	FRIEDMAN	ASSOCIATE	1998	380.00	65.00 2.50	24.700,0
ARRIE	GIOVINE	ASSOCIATE	2000 2000	305.00 325.00	46.00	762 14,950.
LANA HRISTOPHER	GLAZIER GLEASON	ASSOCIATE ASSOCIATE	2000	220.00	7.50	1,650.
RIC	GOODMAN	ASSOCIATE	2003	180.00	1180 **	2.124
RIC	GOODMAN	ASSOCIATE	2003	155.00	759 50	117.722
HELSEA	GRAYSON	ASSOCIATE	1998	355.00	10.80	3.834
RIAN	GREER	ASSOCIATE	1999	360.00	53 30	19.188
RAVIS	HEIDORF	ASSOCIATE	2003	180.00	102.50 **	18,450.
RAVIS	HEIDORF	ASSOCIATE	2003	155.00	248 70	38,548
AREN	HONG	ASSOCIATE	2004	160.00	10.20	1.632
EL ISSA	HORN	ASSOCIATE	2003	155.00	90 90	14,089
YAN	HOUSEAL	ASSOCIATE	2004	230.00	237.50 ***	54,625
YAN	HOUSEAL	ASSOCIATE	2004	225.00	185.50	41,737
ARY ELIZABETH	HUBER	ASSOCIATE	1997	290.00	0.50	145
IMOTHY	HUDSON	ASSOCIATE	2004	155.00	42.40	6,572
LEXANDER	JUNGE	ASSOCIATE	2004	155 00	15 00	2.325
US	KALLERGIS	ASSOCIATE	1999	300.00	4.40 **	1.320
US	KALLERGIS	ASSOCIATE	1999	240 80	282.00	67,680
HANA	KLEIN	ASSOCIATE	2001	195 00	268.60 3.00 •	52.377
HANA	KLEIN	ASSOCIATE ASSOCIATE	2001	97 50	5 00	292
ea Isa	KRIVINSKAS KUNKLE	ASSOCIATE	1994	155.00 365.00	11.40 1.80 **	1.767 657
ISA	KUNKLE	ASSOCIATE	1994	325.00	30 70	9.977
OLLEEN	LADUZINSKI	ASSOCIATE	2001	320.00	170	544
ENNIFER	LEWIS	ASSOCIATE	1995	330.00	2 70 **	891
ENNIFER	LEWIS	ASSOCIATE	1995	315.00	24.60	7,749
OHN	LEWIS	ASSOCIATE	1996	300.00	37.20	11.160
HOSHANA	LITT	ASSOCIATE	2003	155.00	26 70	4,13B
UANGHAO	LU	ASSOCIATE	2001	240.00	12.00	2.880
HILIP	MCCARTY	ASSOCIATE	2003	155.00	24 50	3,797
IICHOLAS	MILLER	ASSOCIATE	1998	285.00	0.80	228
AVID	MILLS	ASSOCIATE	2002	175.00	3.40	595
HOMAS	MOLINS	ASSOCIATE	1993	380.00	30.10	11.438
RIC	MOSIER	ASSOCIATE	1997	320.00	10.30	3.296
ASSANDRA	MOTT	ASSOCIATE	1999	245.00	4.00	980
CELLY	NEFF	ASSOCIATE	2003	210.00	28.00	5,880.
LIASON	OBL ANDER	ASSOCIATE	2000	235.00	41 80	9.823.
JASON	OBLANDER	ASSOCIATE	2006	215.00	104 10	22,381
/IPUL	PATEL.	ASSOCIATE	2003	180.00	120.70 **	21.726.
/IPUL	PATEL	ASSOCIATE	2003	155.00	299.00	46.345.
HANE	PFLEIDERER	ASSOCIATE	2003	155.00	89.80 35.80 **	13,919
CHRISTINE	PRZYBYSZ	ASSOCIATE	2004 2004	160.00 155.00	35 80 ** 9 40	5,728 1,457
HRISTINE HARLES	PRZYBYSZ PUGH	ASSOCIATE ASSOCIATE	2004	155.00	30 90	4,789
TEVEN	RININGER	ASSOCIATE	2004	225.00	1710	3.847
DIANE	ROSE	ASSOCIATE	1984	360.00	410 **	1,476
DIANE	ROSE	ASSOCIATE	1984	355.00	47 10	16,720
ESLIE ESLIE	SCHAFER	ASSOCIATE	2000	290.00	197 20 **	57.188
ESLIE	SCHAFER	ASSOCIATE	2000	260.00	882.40	229,424
TEFAN	SCHNOPP	ASSOCIATE	1997	295 00	183 00 **	53.985
TEFAN	SCHNOPP	ASSOCIATE	1997	280.00	1.222.00	342.160
ABRENA	SILVER	ASSOCIATE	1996	420.00	1.80	756
TUART	STAHL	ASSOCIATE	2004	225.00	21.60	4,860
ATJANA	STOLJAROVA	ASSOCIATE	2003	230.00	172.60 **	39,698
ATJANA	STOLJAROVA	ASSOCIATE	2003	210.00	566.30	118,923
ATJANA	STOLJAROVA	ASSOCIATE	2003	115.00	6.20	713
ATJANA	STOLJAROVA	ASSOCIATE	2003	105.00	19.50 *	2,047
RACY	STRATFORD	ASSOCIATE	1998	300 00	2.40	720.
RACY	STRATFORD	ASSOCIATE	1998	270 00	49 60	13.392
IEAGAN NEDEST	TOOHEY	ASSOCIATE	2003	155 00	38 50	5.967
NDREW	WALKER	ASSOCIATE	2003	155.00 200.00	8.30 63.50 **	1.286
HOMAS HOMAS	WILSON	ASSOCIATE ASSOCIATE	2003 2003	200.00 155.00	1,271 50	12,700. 197,082.
HOMAS	WILSON WILSON	ASSOCIATE	2003	77.50	4.60 *	356.
ASON	WOLFE	ASSOCIATE	4003	225.00	17.50	3,937
ASON GEORGE	ZILICH	ASSOCIATE	2004	155.00	36.80	5,704.
LAREN	CORRIGAN	SR STAFF ATTY	1993	190.00	6.90 **	1.311
LAREN	CORRIGAN	SR STAFF ATTY	1993	185.00	7.00	1.295
YNNE	FISCHER	STAFF ATTY	1996	160.00	152 70	24.432.
1ARCIA	BURSTON	LEGAL ASST		125.00	4.60 **	575.
AARCIA	BURSTON	LEGAL ASST		117.00	239 80 ***	28,056.
IARCIA	BURSTON	LEGAL ASST		115.00	225 40	25.921
	CAHAL	LEGAL ASST		152.00	2 50	380.
ABRINA						
ABRINA AMANDA	COCHRAN	LEGAL ASST		205.00	1 3D	266.

All fees for nonworking travel are charged at one-half the normal hourly billing rate.

^{**} Rate increase effective January 1, 2005

^{***} Rate increase effective July 1, 2004

Title Bar Billing	
JEAN-PIERRE DELABRE LEGAL ASST 127.00	Total Fees
STACY DEZSI LEGAL ASST 155.00 6.30 CARINA DOTSON LEGAL ASST 108.00 1 80 CARINA DOTSON LEGAL ASST 102.00 1 50 GINGER ELLIS LEGAL ASST 230.00 2 40 PATRICIA GARVER LEGAL ASST 130.00 26 90 PATRICIA GARVER LEGAL ASST 125.00 34 40 KELLI HALEY LEGAL ASST 155.00 0 30 MARY HEMANN LEGAL ASST 140.00 24.70 *** MARY HEMANN LEGAL ASST 131.00 184.00 *** MARY HEMANN LEGAL ASST 128.00 64.15 *** LANESHA JOHNSON LEGAL ASST 115.00 5.70 *** LANESHA JOHNSON LEGAL ASST 107.00 40.20 **** LANESHA JOHNSON LEGAL ASST 100.00 3.50 MICHELLE KROFEL LEGAL ASST	
CARINA DOTSON LEGAL ASST 108 00 1 80 *** CARINA DOTSON LEGAL ASST 102 00 1 50 GIGGER GLIS LEGAL ASST 120 00 1 50 GO GO *** GO **** ****	508.00
CARINA DOTSON LEGAL ASST 102.00 1 50 GINGER ELLIS LEGAL ASST 230.00 2 40 PATRICIA GARVER LEGAL ASST 130.00 2 69 PATRICIA GARVER LEGAL ASST 130.00 2 69 KELLI HALEY LEGAL ASST 125.00 34 40 KELLI HALEY LEGAL ASST 155.00 0 30 MARY HEMANN LEGAL ASST 140.00 24 70 *** MARY HEMANN LEGAL ASST 131.00 184.00 *** MARY HEMANN LEGAL ASST 131.00 64 15 *** LANESHA JOHNSON LEGAL ASST 107.00 64 15 *** LANESHA JOHNSON LEGAL ASST 107.00 40 20 **** LANESHA JOHNSON LEGAL ASST 105.00 2 50 JORDAN KEATING LEGAL ASST 150.00 2 50 MICHELLE KROFEL LEGAL ASST <td< td=""><td>976.50</td></td<>	976.50
GINGER ELLIS LEGAL ASST 230.00 2 40 PATRICIA GARVER LEGAL ASST 130.00 26 90 PATRICIA GARVER LEGAL ASST 125.00 34 40 KELLI HALEY LEGAL ASST 155.00 0 30 MARY HEMANN LEGAL ASST 155.00 0 30 MARY HEMANN LEGAL ASST 131.00 184.00 MARY HEMANN LEGAL ASST 131.00 184.00 MARY HEMANN LEGAL ASST 131.00 184.00 LANESHA JOHNSON LEGAL ASST 105.00 5 70 LANESHA JOHNSON LEGAL ASST 107.00 40 20 LANESHA JOHNSON LEGAL ASST 107.00 40 20 LANESHA JOHNSON LEGAL ASST 105.00 3 50 MICHELLE KROFEL LEGAL ASST 150.00 3 50 MICHELLE KROFEL LEGAL ASST 150.00 3 50 MICHELLE KROFEL LEGAL ASST 140.00 2 60 BRADLEY MILLER LEGAL ASST 70.00 18 40 BRADLEY MILLER LEGAL ASST 55.00 4 70 ALISSA ROVNY LEGAL ASST 100.00 3 40 *** TAMARA SARI LEGAL ASST 105.00 2 4 40 DENISE SCIABARASSI LEGAL ASST 122.00 24 40 DENISE SCIABARASSI LEGAL ASST 160.00 3 70 BETTY YAKOVICH LEGAL ASST 139.00 13 00 *** BETTY YAKOVICH LEGAL ASST 145.00 2 00 *** BETTY YAKOVICH LEGAL ASST 139.00 13 00 *** BETTY YAKOVICH LEGAL ASST 137.00 0 30 SUZANNE KOSTON LEGAL SUPPORT 95.00 1 50 ***	194.40
PATRICIA GARVER LEGAL ASST 130.00 26 90 PATRICIA GARVER LEGAL ASST 125.00 34 40 KELLI HALEY LEGAL ASST 155.00 0 39 MARY HEMANN LEGAL ASST 140.00 24 70 *** MARY HEMANN LEGAL ASST 131.00 184.00 *** MARY HEMANN LEGAL ASST 131.00 184.00 *** MARY HEMANN LEGAL ASST 131.00 184.00 *** MARY HEMANN LEGAL ASST 115.00 5 70 *** LANESHA JOHNSON LEGAL ASST 107.00 49.20 **** LANESHA JOHNSON LEGAL ASST 105.00 2.50 DO JODA S.00	153.00
PATRICIA GARVER LEGAL ASST 125.00 34.40 KELLI HALEY LEGAL ASST 155.00 0.30 MARY HEMANN LEGAL ASST 140.00 24.70 *** MARY HEMANN LEGAL ASST 131.00 184.00 *** MARY HEMANN LEGAL ASST 131.00 184.00 *** MARY HEMANN LEGAL ASST 115.00 64.15 *** LANESHA JOHNSON LEGAL ASST 115.00 5.70 *** LANESHA JOHNSON LEGAL ASST 105.00 2.50 JORDAN KEATING LEGAL ASST 105.00 2.50 JORDAN KEATING LEGAL ASST 150.00 6.80 *** MICHELLE KROFEL LEGAL ASST 150.00 6.80 *** MICHELLE KROFEL LEGAL ASST 140.00 2.60 *** BRADLEY MILLER LEGAL ASST 70.00 18.40 *** BRADLEY MILL	552.00
KELLI HALEY LEGAL ASST 155.00 0 30 MARY HEMANN LEGAL ASST 140.00 24.70 *** MARY HEMANN LEGAL ASST 131.00 184.00 *** MARY HEMANN LEGAL ASST 128.00 64.15 LANESHA JOHNSON LEGAL ASST 107.00 64.02 *** LANESHA JOHNSON LEGAL ASST 107.00 40.20 *** LANESHA JOHNSON LEGAL ASST 107.00 40.20 *** JORDAN KEATING LEGAL ASST 105.00 3.50 *** MICHELLE KROFEL LEGAL ASST 150.00 6.80 *** MICHELLE KROFEL LEGAL ASST 140.00 2.60 *** BRADLEY MILLER LEGAL ASST 70.00 18.40 **** BRADLEY MILLER LEGAL ASST 55.00 3.40 **** BRADLEY MILLER LEGAL ASST 100.00 5.00 TAMA	3,497.00
MARY HEMANN LEGAL ASST 140.00 24.70 *** MARY HEMANN LEGAL ASST 131.00 184.00 *** MARY HEMANN LEGAL ASST 128.00 64.15 LANESHA LANESHA JOHNSON LEGAL ASST 115.00 5.70 *** LANESHA JOHNSON LEGAL ASST 107.00 40.20 **** LANESHA JOHNSON LEGAL ASST 105.00 3.50 SO MICHELLE KROFEL LEGAL ASST 150.00 3.50 SO MICHELLE KROFEL LEGAL ASST 140.00 2.60 SO BRADLEY MILLER LEGAL ASST 70.00 18.40 *** BRADLEY MILLER LEGAL ASST 63.00 34.40 *** BRADLEY MILLER LEGAL ASST 100.00 5.00 ATO ALISSA 70 ALISSA 100.00 5.00 ATO ALISSA 100.00 5.00 ATO ALISSA	4.300.00 46.50
MARY HEMANN LEGAL ASST 131.00 184.00 **** MARY HEMANN LEGAL ASST 128.00 64.15 LA **** LANESHA JOHNSON LEGAL ASST 115.00 5 70 **** LANESHA JOHNSON LEGAL ASST 105.00 2.50 **** JORDAN KEATING LEGAL ASST 150.00 3.50 MICHELLE KROFEL LEGAL ASST 150.00 6.80 **** MICHELLE KROFEL LEGAL ASST 150.00 6.80 **** MICHELLE KROFEL LEGAL ASST 170.00 18.40 *** BRADLEY MILLER LEGAL ASST 70.00 18.40 **** BRADLEY MILLER LEGAL ASST 150.00 34.40 **** BRADLEY MILLER LEGAL ASST 100.00 36.00 **** ALISSA ROVNY LEGAL ASST 100.00 5.00 **** TAMARA SARI LEGAL ASST	3.458.00
MARY HEMANN LEGAL ASST 128.00 64.15 LANESHA JOHNSON LEGAL ASST 115.00 5 70 *** LANESHA JOHNSON LEGAL ASST 107.00 40 20 *** LANESHA JOHNSON LEGAL ASST 105.00 2 50 JORDAN KEATING LEGAL ASST 150.00 3 50 MICHELLE KROFEL LEGAL ASST 150.00 6 80 *** MICHELLE KROFEL LEGAL ASST 140.00 2 60 BRADLEY MILLER LEGAL ASST 79.00 18 40 *** BRADLEY MILLER LEGAL ASST 55.00 3 4 70 *** ALISSA ROVNY LEGAL ASST 100.00 5 00 TAMARA SARI LEGAL ASST 100.00 5 00 TAMARA SARI LEGAL ASST 122.00 24 40 THAMARA SARI LEGAL ASST 122.00 24 40 THAMARA SARI LEGAL ASST 185.00 6 28 SUSAN TURK LEGA	24.104.00
LANESHA JOHNSON LEGAL ASST 115.00 5 70 *** LANESHA JOHNSON LEGAL ASST 107.00 40.20 *** LANESHA JOHNSON LEGAL ASST 105.00 2.50 *** JORDAN KEATING LEGAL ASST 150.00 3 50 *** MICHELLE KROFEL LEGAL ASST 150.00 6 80 *** MICHELLE KROFEL LEGAL ASST 140.00 2 60 BRADLEY MILLER LEGAL ASST 70.00 18 40 *** BRADLEY MILLER LEGAL ASST 63.00 34 40 *** BRADLEY MILLER LEGAL ASST 55.00 4 70 *** ALISSA ROVNY LEGAL ASST 100.00 5 00 *** TAMARA SARI LEGAL ASST 125.00 21 70 **** TAMARA SARI LEGAL ASST 122.00 24 40 *** DENISE SCIABARASSI LEGAL ASST 185.00<	8.211.20
LANESHA	655.50
LANESHA	4.301.40
JORDAN KEATING LEGAL ASST 150.00 3 50 MICHELLE KROFEL LEGAL ASST 150.00 6 80 ** MICHELLE KROFEL LEGAL ASST 140.00 2 60 BRADLEY MILLER LEGAL ASST 70.00 18 40 ** BRADLEY MILLER LEGAL ASST 55.00 34 40 *** BRADLEY MILLER LEGAL ASST 55.00 4 70 ALISSA ROVNY LEGAL ASST 100.00 5 00 TAMARA SARI LEGAL ASST 125.00 21 70 *** TAMARA SARI LEGAL ASST 122.00 24 40 DENISE SCIABARASSI LEGAL ASST 185.00 6 20 SUSAN TURK LEGAL ASST 60.00 3 70 BETTY YAKOVICH LEGAL ASST 145.00 2 00 *** BETTY YAKOVICH LEGAL ASST 139.00 13 00 *** BETTY YAKOVICH LEGAL ASST 139.00 13 00 *** BETTY YAKOVICH LEGAL ASST 137.00 0 30 THOMAS DINH LEGAL SUPPORT 250.00 0.30 SUZANNE KOSTON LEGAL SUPPORT 95.00 1 50 ***	262 50
MICHELLE KROFEL LEGAL ASST 150.00 6 80 ** MICHELLE KROFEL LEGAL ASST 140.00 2 60 B BRADLEY MILLER LEGAL ASST 70.00 18 40 *** BRADLEY MILLER LEGAL ASST 63.00 34 40 *** BRADLEY MILLER LEGAL ASST 55.00 4 70 *** ALISSA ROVNY LEGAL ASST 100.00 5 00 *** TAMARA SARI LEGAL ASST 125.00 21 70 **** TAMARA SARI LEGAL ASST 185.00 6 20 *** SUSAN TURK LEGAL ASST 60.00 3 70 *** BETTY YAKOVICH LEGAL ASST 139.00 13 00 *** BETTY YAKOVICH LEGAL ASST 139.00 13 00 *** BETTY YAKOVICH LEGAL ASST 137.00 0 30 *** THOMAS DINH LEGAL SUPPORT 2	525.00
BRADLEY MILLER LEGAL ASST 70.00 18.40 *** BRADLEY MILLER LEGAL ASST 63.00 34.40 **** BRADLEY MILLER LEGAL ASST 55.00 4.70 ALISSA ROVNY LEGAL ASST 100.00 5.00 TAMARA SARI LEGAL ASST 125.00 21.70 **** TAMARA SARI LEGAL ASST 122.00 24.40 *** DENISE SCIABARASSI LEGAL ASST 185.00 6.20 *** SUSAN TURK LEGAL ASST 60.00 3.70 *** BETTY YAKOVICH LEGAL ASST 139.00 13.00 *** BETTY YAKOVICH LEGAL SST 137.00 0.30 *** BETTY YAKOVICH LEGAL SST 137.00 0.30 *** THOMAS DINH LEGAL SUPPORT 25.00 0.30 *** SUZANNE KOSTON LEGAL SUPPORT 95.00 1 50	1,020.00
BRADLEY MILLER LEGAL ASST 63.00 34.40 **** BRADLEY MILLER LEGAL ASST 55.00 4.70 ALISSA ROVNY LEGAL ASST 100.00 5.00 TAMARA SARI LEGAL ASST 125.00 21.70 **** TAMARA SARI LEGAL ASST 122.00 24.40 *** DENISE SCIABARASSI LEGAL ASST 185.00 6.26 *** SUSAN TURK LEGAL ASST 60.00 3.70 *** BETTY YAKOVICH LEGAL ASST 145.00 2.00 *** BETTY YAKOVICH LEGAL ASST 139.00 13.00 *** BETTY YAKOVICH LEGAL SST 137.00 0.30 *** THOMAS DINH LEGAL SUPPORT 25.00 0.30 *** SUZANNE KOSTON LEGAL SUPPORT 95.00 1 50 ***	364 00
BRADLEY MILLER LEGAL ASST 55.00 4 70 ALISSA ROVNY LEGAL ASST 100.00 5 00 TAMARA SARI LEGAL ASST 125.00 21 70 *** TAMARA SARI LEGAL ASST 122.00 24 40 DENISE SCIABARASSI LEGAL ASST 185.00 6 20 SUSAN TURK LEGAL ASST 60.00 3 70 BETTY YAKOVICH 1EGAL ASST 145.00 2 00 *** BETTY YAKOVICH LEGAL ASST 139.00 13 00 *** BETTY YAKOVICH LEGAL ASST 137.00 0 30 *** THOMAS DINH LEGAL SUPPORT 250.00 0.30 ** SUZANNE KOSTON LEGAL SUPPORT 95.00 1 50 ***	1.288 00
ALISSA ROVNY LEGAL ASST 100.00 5 00 TAMARA SARI LEGAL ASST 125.00 21 70 *** TAMARA SARI LEGAL ASST 122.00 22 4 40 DENISE SCIABARASSI LEGAL ASST 185.00 6 20 SUSAN TURK LEGAL ASST 60.00 3 70 BETTY YAKOVICH LEGAL ASST 145.00 2 00 ** BETTY YAKOVICH LEGAL ASST 139.00 13 00 *** BETTY YAKOVICH LEGAL ASST 137.00 0 30 THOMAS DINH LEGAL SST 137.00 0 30 SUZANNE KOSTON LEGAL SUPPORT 95.00 1 50 ***	2.167.20
TAMARA SARI LEGAL ASST 125.00 21.70 *** TAMARA SARI LEGAL ASST 122.00 24.40 DENISE SCIABARASSI LEGAL ASST 185.00 24.40 DENISE SCIABARASSI LEGAL ASST 185.00 3.70 DESTY YAKOVICH LEGAL ASST 60.00 3.70 DESTY YAKOVICH LEGAL ASST 145.00 2.00 *** DESTY YAKOVICH LEGAL ASST 139.00 13.00 *** DESTY YAKOVICH LEGAL ASST 137.00 0.30 THOMAS DINH LEGAL SUPPORT 250.00 0.30 SUZANNE KOSTON LEGAL SUPPORT 95.00 1.50 ***	258 50
TAMARA SARI LEGAL ASST 122.00 24 40 DENISE SCIABARASSI LEGAL ASST 185.00 6 20 SUSAN TURK LEGAL ASST 60.00 3 70 BETTY YAKOVICH LEGAL ASST 145.00 2 00 *** BETTY YAKOVICH LEGAL ASST 139.00 13 00 *** BETTY YAKOVICH LEGAL ASST 137.00 0 30 THOMAS DINH LEGAL SUPPORT 250.00 0.30 SUZANNE KOSTON LEGAL SUPPORT 95.00 1 50 ***	500 00
DENISE SCIABARASSI LEGAL ASST 185.00 6.20 SUSAN TURK LEGAL ASST 60.00 3.70 BETTY YAKOVICH LEGAL ASST 145.00 2.00 *** BETTY YAKOVICH LEGAL ASST 139.00 13.00 *** BETTY YAKOVICH LEGAL ASST 137.00 0.30 *** THOMAS DINH LEGAL SUPPORT 250.00 0.30 SUZANNE KOSTON LEGAL SUPPORT 95.00 1.50 ***	2.712.50
SUSAN TURK LEGAL ASST 60.00 3 70 BETTY YAKOVICH LEGAL ASST 145.00 2 00 *** BETTY YAKOVICH LEGAL ASST 139.00 13 00 *** BETTY YAKOVICH LEGAL ASST 137.00 0.30 THOMAS DINH LEGAL SUPPORT 250.00 0.30 SUZANNE KOSTON LEGAL SUPPORT 95.00 1 50 ***	2,976 80
BETTY YAKOVICH LEGAL ASST 145.00 2 00 ** BETTY YAKOVICH LEGAL ASST 139.00 13 00 *** BETTY YAKOVICH LEGAL ASST 137.00 0 30 THOMAS DINH LEGAL SUPPORT 250.00 0.30 SUZANNE KOSTON LEGAL SUPPORT 95.00 1 50 ***	1,147 00
BETTY YAKOVICH LEGAL ASST 139.00 13 00 *** BETTY YAKOVICH LEGAL ASST 137.00 0 30 THOMAS DINH LEGAL SUPPORT 250.00 0.30 SUZANNE KOSTON LEGAL SUPPORT 95.00 1 50 ***	222.00
BETTY YAKOVICH LEGAL ASST 137.00 0.30 THOMAS DINH LEGAL SUPPORT 250.00 0.30 SUZANNE KOSTON LEGAL SUPPORT 95.00 1.50 **	290.00
THOMAS DINH 1 EGAL SUPPORT 250.00 0.30 SUZANNE KOSTON 1 EGAL SUPPORT 95.00 1 50 **	1.807 00
SUZANNE KOSTON 1 EGAL SUPPORT 95.00 1 50 **	41 10
	75.00
	142.50
SUZANNE KOSTON LEGAL SUPPORT 75.00 4.30	322 50
MELISSA VOTAW LEGAL SUPPORT 160.00 2 40 ** MELISSA VOTAW LEGAL SUPPORT 151.00 20.00 ***	384.00
THE LEGIT OF THE PROPERTY OF T	3.155 90 1.955 10
MELISSA VOTAW LEGAL SUPPORT 147.00 13.30 ANTOINETTE BURRELL PROJECT ASST 65.00 2.60	130.00
DAVREEN DIXON PROJECT ASST 63.00 4.20	264.60
MARK FOWLER PROJECT ASST 70.00 40.00	2,800,00
PAUL KEEN PROJECT ASST 55.00 1 30	71 50
GAIL NASH PROJECT ASST 65.00 59.20 ***	3.848.00
GAIL NASH PROJECT ASST 62.00 106.90	6.627 80
JOHN PAOLANO PROJECT ASST 60.00 155.60	9.336.00
MICHAEL PARRIS PROJECT ASST 45.00 1.30	58.50
NATALIE SAVARESE PROJECT ASST 63.00 12 10	762 30
LLOYD AMSTER STAFF 60.00 1 00	60.00
20,860.75 S	6,423,985.25
LAWYERS TOTAL 19,413.50	6,272,024 75
BL ENDED RATE	5323.08
NON-LAWYERS TOTAL 1,447 25 BLENDED RATE	151,960.50 \$105.00
GRAND TOTAL 20,860.75 S BLENDED RATE	6,423,985.25° \$307.95

^{*} This amount, which differs from the amount of compensation requested by Jones Day for the Compensation Period, reflects the aggregate total of all fees requested by Jones Day in its twelve monthly applications for interim allowance of compensation and for reimbursement of expenses filed with the Court between May 5, 2004 and February 25, 2005 of \$6,423,985 25. The amount of compensation requested by Jones Day for the Compensation Period, \$6,392.348 75, represents the grand total described above, less (a) \$12,598 35 in voluntary reductions taken by Jones Day during the Compensation Period and (b) \$19,038 15 in requested frees (collectively the "Unapproved Fees") not approved in the Order Approving First Interim Fee Application Requests (D.1 2104). Jones Day has decided not to request final approval of the Unapproved Fees in its Final Application

^{*} All fees for nonworking travel are charged at one-half the normal hourly billing rate

^{**} Rate increase effective January 1, 2005

Timekeeper Name		Title	Bar Year	Billing Rate	Hours	Total Fees
Case Administration						210 40
MICHELLE	HARNER	PARTNER	1995	450	1.80	810.00
DAVID	HEIMAN	PARTNER	1971	795 610	3 70 1 00	2.941 50 610 00
CARL	JENKS	PARTNER	1982 1992	525	9 70	5.092 50
HEATHER	LENNOX	PARTNER PARTNER	1992	560	1 20	672.00
DAVID	PORTER RAWSON	PARTNER	1991	375	1 70	637.50
RACHEL ERIN	KARZMER	OF COUNSEL	1990	435	010	43 50
CARL	BLACK	ASSOCIATE	1998	375	0.30 **	112.50
CARL	BLACK	ASSOCIATE	1998	325	36.80	11,960.00
STEPHEN	COOLBAUGH	ASSOCIATE	2001	195	0.20	39.00
LESLIE	SCHAFER	ASSOCIATE	2000	260	0.30	78.00
THOMAS	WILSON	ASSOCIATE	2003	155	23 80	3.689.00
MARCIA	BURSTON	LEGAL ASST		117	20.90	2,445.30
MARCIA	BURSTON	LEGAL ASST		115	43 50	5,002.50
MARY	HEMANN	LEGAL ASST		140	1.40 **	196 00
MARY	HEMANN	LEGAL ASST		131	5 80 ***	759.80
MARY	HEMANN	LEGAL ASST		12B	0.95	121.60
LANESHA	JOHNSON	LEGAL ASST		115	1.70 **	195 50
LANESHA	NOSNHOL	LEGAL ASST		107	2.70	2BB 90
BETTY	YAKOVICH	LEGAL ASST		139	0.20	27 80
DAVREEN	DIXON	PROJECT ASST		63	4.20	264.60
GAIL	NASH	PROJECT ASST		65	48.10 ***	3,126.50
GAIL	NASH	PROJECT ASST		62	92.50	5.735.00
	TOTAL				302 55	44,849.00
Creditor Inquirles	114 DAICD	PARTNER	1995	450	6 10	2.745.00
MICHELLE	HARNER		1971	795	2.50	1.987 50
DAVID	HEIMAN	PARTNER PARTNER	1971	595	0.20	119 00
HEATHER	LENNOX LENNOX	PARTNER	1992	525	1 50	787.50
HEATHER CARL	BLACK	ASSOCIATE	1998	375	070 **	262 50
CARL	BLACK	ASSOCIATE	1998	325	33.40	10,855.00
THOMAS	WILSON	ASSOCIATE	2003	155	010	15 50
MARCIA	BURSTON	LEGAL ASST	2005	117	0.30 ***	35 10
MARCIA	BURSTON	LEGAL ASST		115	0.50	57 50
(A) (A) (A)	TOTAL				45.30	16,864.60
Meetings						
MICHELLE	HARNER	PARTNER	1995	450	37.60	16,920.00
DAVID	HEIMAN	PARTNER	1971	795	54 60	43,407.00
HEATHER	LENNOX	PARTNER	1992	525	41 90	21.997 50
DAVID	PORTER	PARTNER	1981	560	15 30	8.568.00
ERIN	KARZMER	OF COUNSEL	1990	435	1 00	435 00
CARL	BLACK	ASSOCIATE	1998	325	25.00	8,125.00
STEFAN	SCHNOPP	ASSOCIATE	1997	280	2.60	728.00
THOMAS	WILSON	ASSOCIATE	2003	155	0.90	139 50
	TOTAL				178 90	100,320.00
Executory Contracts/L MICHELLE	Inexpired Leases HARNER	PARTNER	1995	450	24.40	10,980,00
DAVID	HEIMAN	PARTNER	1971	795	0 50	397 50
HEATHER	LENNOX	PARTNER	1992	525	17 30	9.082 50
ERIN	KARZMER	OF COUNSEL	1990	435	0.40	174.00
CARL	BLACK	ASSOCIATE	1998	375	6.50 **	2,437 50
CARL	BLACK	ASSOCIATE	1998	325	135.60	44.070.00
MONICA	FERRER	ASSOCIATE	1996	415	2 10	871 50
ERIC	GOODMAN	ASSOCIATE	2003	155	24 70	3.828.50
TIMOTHY	HUDSON	ASSOCIATE	2004	155	10 80	1,674.00
GUS	KALLERGIS	ASSOCIATE	1999	300	0.30	90.00
GUS	KALLERGIS	ASSOCIATE	1999	240	20.10	4.824.00
SHANA	KLEIN	ASSOCIATE	2001	195	70.20	13.689.00
THOMAS	WILSON	ASSOCIATE	2003	200	26.00 **	5.200.00
THOMAS	WILSON	ASSOCIATE	2003	155	135.40	20.987.00
MARCIA	BURSTON	LEGAL ASST		117	43 70 ***	5,112.90
MARCIA	BURSTON	LEGAL ASST		115	3 80	437.00
MARY	HEMANN	LEGAL ASST		131	7 50 ***	982.50
MARY	HEMANN	LEGAL ASST		128	1.30	166.40
LANESHA	JOHNSON	LEGAL ASST		107	37.40	4,001 BO
GAIL	NASH	PROJECT ASST		65	0.30 ***	19 50
GAIL	NASH TOTAL	PROJECT ASST		62	0.30 568.60	18.60 129,044.20

[&]quot; All fees for nonworking travel are charged at one-half the normal hourly billing rate.

^{**} Rate increase effective January 1, 2005

^{***} Rate increase effective July 1 2004

Timekeeper Name	Total Fees
MICHELE	
MICHELE	
DAVID	9.585.00
HEATHER	1.192 50
HEATHER	238.00
CARL BLACK ASSOCIATE 1998 375 0.40 *** CARL BLACK ASSOCIATE 1998 325 62 10 ERIC GOODMAN ASSOCIATE 2003 155 9 00 GUS KALLERGIS ASSOCIATE 1999 240 27 50 SHANA KLEIN ASSOCIATE 2001 195 74 20 PHILIP MCCARTY ASSOCIATE 2001 195 74 20 PHILIP MCCARTY ASSOCIATE 2003 155 24 50 SHANE PFLEIDERER ASSOCIATE 2003 155 89 80 LESLIE SCHAFER ASSOCIATE 2003 155 89 80 LESLIE SCHAFER ASSOCIATE 2003 210 2.00 THOMAS WILSON ASSOCIATE 2003 210 2.00 THOMAS WILSON ASSOCIATE 2003 210 2.00 THOMAS WILSON ASSOCIATE 2003	7,035.00
CARL BLACK ASSOCIATE 1998 325 62 10 ERIC GOODMAN ASSOCIATE 2003 155 9.00 GUS KALLERGIS ASSOCIATE 2003 155 9.00 GUS KALLERGIS ASSOCIATE 1999 240 27 50 SHANA KLEIN ASSOCIATE 2001 195 74 20 PHILIP MCCARTY ASSOCIATE 2003 155 24 50 SHANE PFLEIDERER ASSOCIATE 2003 155 89 80 LESLIE SCHAFER ASSOCIATE 2003 155 89 80 LESLIE SCHAFER ASSOCIATE 2003 155 102 20 TATJANA STOLJAROVA ASSOCIATE 2003 210 2.00 THOMAS WILSON ASSOCIATE 2003 155 102 20 MARCIA BURSTON LEGAL ASST 115 0.70 TOTAL 433.40 PHAR OF Reorganization/Diclosure Statement KATHLEEN BURKE PARTNER 1973 385 27 10 JEFFREY ELLMAN PARTNER 1991 525 0.80 BRAD ERENS PARTNER 1991 550 0.50 PAUL HARNER PARTNER 1990 695 1.40 MICHELLE HARNER PARTNER 1995 525 3.30 ** MICHELLE HARNER PARTNER 1995 450 677 30 MICHELLE HARNER PARTNER 1995 450 677 30 DAVID HEIMAN PARTNER 1991 10 13 00 RICHARD KOSNIK PARTNER 1982 610 13 00 RICHARD KOSNIK PARTNER 1982 610 13 00 RICHARD KOSNIK PARTNER 1992 595 225 313 80 TROY LEWIS PARTNER 1992 595 252 313 80 TROY LEWIS PARTNER 1992 595 252 313 80 TROY LEWIS PARTNER 1997 595 250 ** HEATHER LENNOX PARTNER 1992 595 252 313 80 TROY LEWIS PARTNER 1997 595 250 ** HEATHER LENNOX PARTNER 1997 595 255 313 80 TROY LEWIS PARTNER 1997 595 3250 ** HEATHER LENNOX PARTNER 1997 595 3250 ** H	1.537 50
ERIC GOODMAN ASSOCIATE 2003 155 9.00 GUS KALLERGIS ASSOCIATE 1999 240 27 50 SHANA KLEIN ASSOCIATE 2001 195 74 20 PHILIP MCCARTY ASSOCIATE 2003 155 24 50 SHANE PFLEIDERER ASSOCIATE 2003 155 89 80 LESLIE SCHAFER ASSOCIATE 2003 155 89 80 LESLIE SCHAFER ASSOCIATE 2003 155 89 80 LESLIE SCHAFER ASSOCIATE 2003 210 2.00 THOMAS WILSON ASSOCIATE 2003 210 2.00 THOMAS WILSON ASSOCIATE 2003 155 102 20 MARCIA BURSTON LEGAL ASST 115 0.70 TOTAL 15 115 0.70 TOTAL 16 115 0.70 Plan of Reorganization/Discipsive Statement KATHLEEN BURKE PARTNER 1971 385 27 10 JEFFREY ELLMAN PARTNER 1991 525 0.80 BRAD ERENS PARTNER 1991 550 0.50 PAUL HARNER PARTNER 1991 550 0.50 MICHELLE HARNER PARTNER 1995 525 330 ** MICHELLE HARNER PARTNER 1995 525 330 ** MICHELLE HARNER PARTNER 1995 525 330 ** MICHELLE HARNER PARTNER 1995 525 30 ** MICHELLE HARNER PARTNER 1995 525 31 80 ** MICHELLE HARNER PARTNER 1996 525 31 80 ** MICHELLE HARNER PARTNER 1997 545 22 30 ** MICHELLE HARNER PARTNER 1997 545 22 30 ** MICHELLE HARNER PARTNER 1997 545 22 30 ** MARY LEWIS PARTNER 1997 50 80 ** MARY MALONEY PARTNER 1997 475 18 20 ** DAVID PORTER PARTNER 1996 450 34 20 ** DAVID PORTER PARTNER 1997 475 0.80 ** EDWARD PURNELL PARTNER 1990 455 0.80 ** DAVID PURNELL PARTNER 1990 455 0.80 ** DAVID PURNELL PARTNER 1990 455 0.80 **	150.00
GUS KALLERGIS ASSOCIATE 1999 240 27 50 SHANN KLEIN ASSOCIATE 2001 195 74 20 PHILIP MCCARTY ASSOCIATE 2001 195 74 20 PHILIP MCCARTY ASSOCIATE 2003 155 24 50 SHANNE PFLEIDERER ASSOCIATE 2003 155 89 80 LESLIE SCHAFER ASSOCIATE 2003 155 89 80 LESLIE SCHAFER ASSOCIATE 2003 210 2.00 TATIANA STOLJAROVA ASSOCIATE 2003 210 2.00 THOMAS WILSON ASSOCIATE 2003 155 102 20 MARCIA BURSTON LEGAL ASST 115 0.70 TOTAL 2003 155 102 20 MARCIA BURSTON LEGAL ASST 115 0.70 TOTAL 115 0.70 Plan of Reorganization/Pixclosure Statement KATHLEEN BURKE PARTNER 1973 385 27 10 JEFFREY ELLMAN PARTNER 1991 525 0.80 BRAD ERENS PARTNER 1991 550 0.50 PAUL HARNER PARTNER 1990 695 1.40 MICHELLE HARNER PARTNER 1990 695 1.40 MICHELLE HARNER PARTNER 1995 525 3.30 ** MICHELLE HARNER PARTNER 1995 450 677.30 DAVID HEIMAN PARTNER 1991 795 124.20 CARL JENKS PARTNER 1992 550 76.40 JEFFREY LEAVITT PARTNER 1993 545 22.30 HEATHER LENNOX PARTNER 1992 595 250 ** HEATHER LENNOX PARTNER 1993 540 830 RORY LYONS PARTNER 1983 650 76.40 MARY MALONEY PARTNER 1981 560 27.50 EDWARD PURNELL PARTNER 1990 450 34.20	20.182 50 1.395.00
SHANA KLEIN ASSOCIATE 2001 195 74 20 PHILIP MCCARTY ASSOCIATE 2003 155 24 50 SHANE PFLEIDERER ASSOCIATE 2003 155 89 80 LESLIE SCHAFER ASSOCIATE 2000 260 0.30 TATJANA STOLJAROVA ASSOCIATE 2003 210 2.00 THOMAS WILSON ASSOCIATE 2003 115 102 20 MARCIA BURSTON LEGAL ASST 115 0.70 TOTAL TOTAL 433.40 PARTOR 1973 385 27 10 JEFFREY BURKE PARTNER 1991 525 0.80 BRAD ERENS PARTNER 1991 550 0.50 PAUL HARNER PARTNER 1991 550 0.50 PAUL HARNER PARTNER 1990 695 1.40 MICHELLE HARNER PARTNER 1990	6,600.00
PHILIP MCCARTY	14,469.00
SHANE	3.797 50
TATIANA STOLJAROVA ASSOCIATE 2003 210 2.00 THOMAS WILSON ASSOCIATE 2003 155 102 20 MARCIA BURSTON LEGAL ASST 115 0.70 TOTAL 433.40 433.40 Plan of Regregalization/Disclosure Statement KATHLEEN BURKE PARTNER 1973 385 27 10 JEFFREY ELLMAN PARTNER 1991 525 0.80 BRAD ERENS PARTNER 1991 550 0.50 PAUL HARNER PARTNER 1990 695 1.40 MICHELLE HARNER PARTNER 1995 525 3.30 ** MICHELLE HAR	13.919.00
THOMAS WILSON ASSOCIATE 2003 155 102 20 MARCIA BURSTON LEGAL ASST 115 0.70 TOTAL TOTAL 1115 0.70 Hand DURKE PARTNER 1973 385 27 10 LEFREY ELLMAN PARTNER 1991 525 0.80 BRAD ERENS PARTNER 1991 550 0.50 PAUL HARNER PARTNER 1990 695 1.40 MICHELLE HARNER PARTNER 1990 695 1.40 MICHELLE HARNER PARTNER 1995 450 677 30 DAVID HEIMAN PARTNER 1995 450 677 30 DAVID HEIMAN PARTNER 1991 795 124 20 CARL JENKS PARTNER 1982 610 13 00 RICHARD KOSNIK PARTNER 1982 650 7	78.00
MARCIA BURSTON TOTAL EGAL ASST 115 0.70 433.40	420.00
TOTAL	15,841.00 80.50
Plan of Reorganization/Disclosure Statement KATHLEEN BURKE PARTNER 1973 385 27 10 JEFFREY ELLMAN PARTNER 1991 525 0.80 BRAD ERENS PARTNER 1991 550 0.50 PAUL HARNER PARTNER 1990 695 1.40 MICHELIE HARNER PARTNER 1995 525 330 ** MICHELLE HARNER PARTNER 1995 450 677.30 DAVID HEIMAN PARTNER 1995 450 677.30 DAVID HEIMAN PARTNER 1991 795 124.20 CARI. JENKS PARTNER 1982 610 13.00 RICHARD KOSNIK PARTNER 1983 650 76-40 JEFFREY LEAVITT PARTNER 1973 545 22.30 HEATHER LENNOX PARTNER 1992 595 25.20 **	96.520.50
KATHLEEN BURKE PARTNER 1973 385 27 10 JEFFREY ELLMAN PARTNER 1991 525 0.80 BRAD ERENS PARTNER 1991 525 0.50 PAUL HARNER PARTNER 1990 695 1.40 MICHELLE HARNER PARTNER 1995 525 3.30 ** MICHELLE HARNER PARTNER 1995 450 677.30 ** DAVID HEIMAN PARTNER 1991 795 124.20 ** CARL JENKS PARTNER 1982 610 13.00 ** RICHARD KOSNIK PARTNER 1982 610 13.00 ** RICHARD KOSNIK PARTNER 1982 610 13.00 ** RICHARD KOSNIK PARTNER 1983 650 76.40 ** JEFFREY LEAVITT PARTNER 1983 545 22.30 *** <td>30.320.30</td>	30.320.30
JEFFREY	10 123 50
BRAD ERENS PARTNER 1991 550 0.50 PAUL HARNER PARTNER 1990 695 1.40 MICHELE HARNER PARTNER 1995 525 3.30 ** MICHELLE HARNER PARTNER 1995 450 677.30 DAVID HEIMAN PARTNER 1971 795 124.20 CARL JENKS PARTNER 1982 610 13.00 RICHARD KOSNIK PARTNER 1983 650 76.40 JEFFREY LEAVITT PARTNER 1973 545 22.30 HEATHER LENNOX PARTNER 1992 595 25.20 ** HEATHER LENNOX PARTNER 1992 595 25.20 ** HEATHER LENNOX PARTNER 1992 595 25.20 ** HEATHER LENNOX PARTNER 1992 595 33.0 ** TROY LEWIS<	10,433 50 420.00
PAUL HARNER PARTNER 1990 695 1.40 MICHELLE HARNER PARTNER 1995 525 3.30 ** MICHELLE HARNER PARTNER 1995 450 677.30 DAVID HEIMAN PARTNER 1991 795 124.20 CARL JENKS PARTNER 1981 610 13.00 RICHARD KOSNIK PARTNER 1982 610 13.00 RICHARD KOSNIK PARTNER 1982 650 76.40 JEFFREY LEAVITT PARTNER 1973 545 22.30 HEATHER LENNOX PARTNER 1992 595 25.20 *** HEATHER LENNOX PARTNER 1992 525 313 80 TROY LEWIS PARTNER 1992 525 313 80 TROY LEWIS PARTNER 1992 525 313 80 TROY LEWIS PARTNER 1987 500 8 30 ROY ABA	275.00
MICHELLE HARNER PARTNER 1995 525 3 30 *** MICHELLE HARNER PARTNER 1995 450 677 30 DAVID HEIMAN PARTNER 1995 450 677 30 DAVID HEIMAN PARTNER 1991 795 124 20 CARL JENKS PARTNER 1982 610 13 00 RICHARD KOSNIK PARTNER 1982 650 76.40 JEFFREY LEAVITT PARTNER 1973 545 22 30 HEATHER LENNOX PARTNER 1992 595 25 20 ** HEATHER LENNOX PARTNER 1992 595 25 20 ** HEATHER LENNOX PARTNER 1992 525 313 80 ** TROY LEWIS PARTNER 1987 500 8 30 ** RORY LYONS PARTNER 1985 450 1.60 MARY MALONEY	973.00
MICHELLE HARNER PARTNER 1995 450 677 30 DAVID HEIMAN PARTNER 1971 795 124 20 CARL JENKS PARTNER 1982 610 13 00 RICHARD KOSNIK PARTNER 1983 650 76.40 JEFFREY LEAVITT PARTNER 1973 545 22 30 HEATHER LENNOX PARTNER 1992 595 25 20 ** HEATHER LENNOX PARTNER 1992 525 313 80 TOWN TOWN PARTNER 1992 525 313 80 TOWN PARTNER 1987 500 8 30 RORY LEWIS PARTNER 1987 500 8 30 RORY RORY LYONS PARTNER 1985 450 1.60 MARY MALONEY PARTNER 1987 475 18 20 DAVID PORTER PARTNER 1981 560 27 50 EDWARD PURNEL PARTNER 1990 <td< td=""><td>1.732 50</td></td<>	1.732 50
DAVID HEIMAN PARTNER 1971 795 124 20 CARL JENKS PARTNER 1982 610 13.00 RICHARD KOSNIK PARTNER 1983 650 76.40 JEFFREY LEAVITT PARTNER 1973 545 22.30 HEATHER LENNOX PARTNER 1992 595 25.20 ** HEATHER LENNOX PARTNER 1992 525 313.80 TROY LEWIS PARTNER 1987 500 8 30 RORY LYONS PARTNER 1985 450 1.60 MARY MALONEY PARTNER 1987 475 18 20 DAVID PORTER PARTNER 1981 560 27 50 EDWARD PURNELL PARTNER 1990 475 0.80 ** EDWARD PURNELL PARTNER 1990 450 34.20	304.785 00
CARL JENKS PARTNER 1982 610 13 00 RICHARD KOSNIK PARTNER 1983 650 76.40 JEFFREY LEAVITT PARTNER 1993 545 22 30 HEATHER LENNOX PARTNER 1992 595 25 20 ** HEATHER LENNOX PARTNER 1992 525 313 80 TOWN TOWN PARTNER 1987 500 8 30 TOWN PARTNER 1987 450 1.60 MARY MALONEY PARTNER 1985 450 1.60 MARY MALONEY PARTNER 1987 475 18 20 DAVID PORTER PARTNER 1981 560 27 50 EDWARD PURNELL PARTNER 1990 475 0.80 ** EDWARD PURNELL PARTNER 1990 450 34.20 34.20	98.739.00
JEFFREY LEAVITT PARTNER 1973 545 22 30 HEATHER LENNOX PARTNER 1992 595 25 20 ** HEATHER LENNOX PARTNER 1992 525 313 80 TROY LEWIS PARTNER 1987 500 8 30 8 30 RORY LYONS PARTNER 1985 450 1.60 MARY MALONEY PARTNER 1985 450 1.60 MARY DAVID PORTER PARTNER 1987 475 18 20 27 50 EDWARD PURNELL PARTNER 1990 475 0.80 ** EDWARD PURNELL PARTNER 1990 450 34.20	7.930.00
HEATHER LENNOX PARTNER 1992 595 25 20 ** HEATHER LENNOX PARTNER 1992 525 313 80 TROY LEWIS PARTNER 1987 500 8 30 RORY LYONS PARTNER 1985 450 1.60 MARY MALONEY PARTNER 1987 475 18 20 DAVID PORTER PARTNER 1981 560 27 50 EDWARD PURNELL PARTNER 1990 475 0.80 ** EDWARD PURNELL PARTNER 1990 450 34.20	49,660.00
HEATHER LENNOX PARTNER 1992 525 313 80 TROY LEWIS PARTNER 1987 500 8 30 RORY LYONS PARTNER 1985 450 1.60 MARY MALONEY PARTNER 1987 475 18 20 DAVID PORTER PARTNER 1981 560 27 50 EDWARD PURNELL PARTNER 1990 475 0.80 ** EDWARD PURNELL PARTNER 1990 450 34.20	12.153 50
TROY LEWIS PARTNER 1987 500 8 30 RORY LYONS PARTNER 1985 450 1.60 MARY MALONEY PARTNER 1987 475 18 20 DAVID PORTER PARTNER 1981 560 27 50 EDWARD PURNELL PARTNER 1990 475 0.80 •• EDWARD PURNELL PARTNER 1990 450 34.20	14,994.00
RORY L YONS PARTNER 1985 450 1.60 MARY MALONEY PARTNER 1987 475 18 20 DAVID PORTER PARTNER 1981 560 27 50 EDWARD PURNELL PARTNER 1990 475 0.80 ** EDWARD PURNELL PARTNER 1990 450 34.20	164,745.00 4,150.00
MARY MALONEY PARTNER 1987 475 18 20 DAVID PORTER PARTNER 1981 560 27 50 EDWARD PURNELL PARTNER 1990 475 0.80 ** EDWARD PURNELL PARTNER 1990 450 34 20	720.00
DAVID PORTER PARTNER 1981 560 27 50 EDWARD PURNELL PARTNER 1990 475 0.80 •• EDWARD PURNELL PARTNER 1990 450 34.20	8.645.00
EDWARD PURNELL PARTNER 1990 450 34.20	15,400.00
	380 00
RACHEL RAWSON PARTNER 1991 395 8.80 **	15.390.00
	3,476.00
RACHEL RAWSON PARTNER 1991 375 20.00	7,500.00
EDWARD SEBOLD PARTNER 1991 370 82-10 TOM SMITH PARTNER 1972 685 0-30	30,377,00 205,50
TOM SMITH PARTNER 1972 685 0.30 RICHARD WERDER JR PARTNER 1984 645 26.10	16.834.50
RRIN KARZMER OF COUNSEL 1990 465 7 20 **	3.348.00
ERIN KARZMER OF COUNSEL 1990 435 137 30	59,725 50
TANVIR ALAM ASSOCIATE 2003 240 89 80	21,552.00
KATHLEEN AMER ASSOCIATE 2004 160 11.40	1.824.00
JEREMY BEYDA ASSOCIATE 225 8.60	1.935.00
CARL BLACK ASSOCIATE 1998 375 38 80 **	14,550.00
CARL BLACK ASSOCIATE 1998 325 547 90 PEARSON BOWNAS ASSOCIATE 1997 280 45.00	178.067 50 12.600.00
PEARSON BOWNAS ASSOCIATE 1997 280 45.00 GEOFFREY BROW ASSOCIATE 1999 360 4.90	1,764.00
HOWARD CHU ASSOCIATE 2004 155 8.00	1,240,00
JONATHAN COLE ASSOCIATE 2001 320 980	3.136.00
STEPHEN COOLBAUGH ASSOCIATE 2001 220 1 20 **	264.00
STEPHEN COOLBAUGH ASSOCIATE 2001 195 8.20	1.599.00
PATRICIA ESCHBACH-HALL ASSOCIATE 1999 275 180 **	495.00
PATRICIA ESCHBACH-HALL ASSOCIATE 1999 245 46.70	11,441 50
MONICA FERRER ASSOCIATE 1996 430 22.40 **	9,632.00
MONICA FERRER ASSOCIATE 1996 415 657 50 ANDREW FIORELLA ASSOCIATE 2003 155 37 40	272,862.50 5.797.00
ANDREW FIGRELA ASSOCIATE 2003 155 37.40 KYLE FOLEY ASSOCIATE 2003 240 8 90	2.136.00
SCOTT FRIEDMAN ASSOCIATE 1998 380 41 30	15,694 00
ILANA GLAZIER ASSOCIATE 2000 325 580	1,885.00
ERIC GOODMAN ASSOCIATE 2003 180 10 70 **	1.926.00
ERIC GOODMAN ASSOCIATE 2003 155 476 90	73.919.50
MELISSA HORN ASSOCIATE 2003 155 78 80	12.214.00
RYAN HOUSEAL ASSOCIATE 2004 230 142 50 ***	32.775.00
RYAN HOUSEAL ASSOCIATE 2004 225 185 50 TIMOTHY HUDSON ASSOCIATE 2004 155 31 60	41.737.50 4,898.00
	20.136 00
GUS KALLERGIS ASSOCIATE 1999 240 83 90 LEA KRIVINSKAS ASSOCIATE 155 11 40	1.767 00
LISA KUNKLE ASSOCIATE 1994 325 1.00	325.00
JENNIFER LEWIS ASSOCIATE 1995 315 20 00	6.300 00
SHOSHANA LITT ASSOCIATE 2003 155 0.50	77 50
NICHOLAS MILLER ASSOCIATE 1998 285 0.80	228 00
CASSANDRA MOTT ASSOCIATE 1999 245 400	980.00
VIPUL PATEL ASSOCIATE 2003 180 150 **	270 00

2

^{*} All fees for nonworking travel are charged at one-half the normal hously billing rate.

^{**} Rate increase effective famility 1, 2003

[&]quot; ** State increase effective July 1, 2004.

Timekeeper Name		Title	Bar Year	Billing Rate	Hours	Total Fees
VIPUL	PATEL	ASSOCIATE	2003	155	4.00	620 00
STEVEN	RININGER	ASSOCIATE		225	9.70	2.182.50
DIANE	ROSE	ASSOCIATE	1984	355	9 80	3,479,00
LESLIE	SCHAFER	ASSOCIATE	2000	290 260	2.70 ** 49.60	783.00 12,896.00
LESLIE	SCHAFER	ASSOCIATE ASSOCIATE	2000 1997	295	410 **	1.209.50
STEFAN STEFAN	SCHNOPP SCHNOPP	ASSOCIATE	1997	280	107 90	30,212.00
STUART	STAHL	ASSOCIATE	2004	225	21.60	4,860.00
TATJANA	STOLJAROVA	ASSOCIATE	2003	210	0.10	21.00
THOMAS	WILSON	ASSOCIATE	2003	200	0.20 **	40.00
THOMAS	WILSON	ASSOCIATE	2003	155	507 50	78,662 50
MARCIA	BURSTON	LEGAL ASST		117	25 50 ***	2.983 50
MARCIA	BURSTON	LEGAL ASST		115	18.60	2.139.00
MARY	HEMANN	LEGAL ASST		140	1 50 **	210.00
MARY	HEMANN	LEGAL ASST		131	23 70 ***	3.104 70
MARY	HEMANN	LEGAL ASST		128	6.20	793.60
LANESHA	JOHNSON	LEGAL ASST		105	0.50	52 50
DENISE	SCIABARASSI	LEGAL ASST		185	0.50	92 50
BETTY	YAKOVICH	LEGAL ASST		145	1 50 3.00 ***	217.50 195.00
GAIL	NASH	PROJECT ASST		65 62	1 80	111.60
GAIL	NASH TOTAL	PROJECT ASST		92	5,102.20	1,733,885.40
Use, Sale, Lease of Asse	ets					
CHARLES	HARDIN JR	PARTNER	1987	510	1 50	765.00
MICHELLE	HARNER	PARTNER	1995	450	53,40	24.030.00
DAVID	HEIMAN	PARTNER	1971	825	0.30	247 50
DAVID	HEIMAN	PARTNER	1971	795	38 10	30,289 50
HEATHER	LENNOX	PARTNER	1992	595	0.10 **	59 50
HEATHER	LENNOX	PARTNER	1992	525	45.70	23,992 50
DAVID	PORTER	PARTNER	1981	560	1 90	1.064.00
EDWARD	SEBOLD	PARTNER	1991	370	1 80	665.00
ERIN	KARZMER	OF COUNSEL	1990	435	0.50	217 50
CARL	BLACK	ASSOCIATE	1998	325	73 90	24.017.50
STEPHEN	COOLBAUGH	ASSOCIATE	2001	195	6.00	1,170,00
ERIC	GOODMAN	ASSOCIATE	2003	155 240	0 50 15.00	77 50 3,600.00
GUS	KALLERGIS KLEIN	ASSOCIATE ASSOCIATE	1999 2001	195	88 30	17.218.50
SHANA STEFAN	SCHNOPP	ASSOCIATE	1997	280	3.00	840 00
THOMAS	WILSON	ASSOCIATE	2003	155	54 80	8,494.00
MARCIA	BURSTON	LEGAL ASST	4003	117	7.00	819.00
MARY	HEMANN	LEGAL ASST		131	1,00	131.00
GAIL.	NASH	PROJECT ASST		65	0.20	13.00
	TOTAL				393.00	137,712.00
Cash Collateral/DIP F			, dan			F 435 NO
RACHEL	ALLEN	PARTNER	1989	335	15.00	5,025 00
DULCIE	BRAND	PARTNER	1981	520	0.50	260.00
CHRISTOPHER	CARSON	PARTNER	1965	615	4.30 **	2,644 50
CHRISTOPHER	CARSON	PARTNER	1965	590	0.50	295.00
ANDREW	DEMETRIOU	PARTNER PARTNER	1979 1995	520 450	3.60 8 90	1,872.00 4,005.00
MICHELLE DAVID	HARNER HEIMAN	PARTNER	1971	795	46.10	36,649.50
WILLIAM	HERZBERGER	PARTNER	1987	405	17 80 **	7.209.00
WILLIAM	HERZBERGER	PARTNER	1987	390	17 20	6,708.00
MARK	KNOWLES	PARTNER	1984	485	9.00 **	4.365.00
MARK	KNOWLES	PARTNER	1984	475	10.80	5.130.00
RICHARD	KOSNIK	PARTNER	1983	650	0.70	455.00
HEATHER	LENNOX	PARTNER	1992	525	137 30	72,082.50
MARY	MALONEY	PARTNER	1987	525	280 **	1,470.00
MARY	MALONEY	PARTNER	1987	475	3 30	1,567 50
STEPHEN	MIXTER	PARTNER	1986	455	84.00 **	38,220,00
STEPHEN	MIXTER	PARTNER	1986	440	151 10	66,484.00
RACHEL	RAWSON	PARTNER	1991	395	54 10 **	21.369.50
RACHEL	RAWSON	PARTNER	1991	375	245 50	92.062.50
RICHARD	REPPERT	PARTNER	1974	350	110	385 00
JAMES	SALERNO	PARTNER	1993	560	7.00 **	3,920.00
IAMES	SALERNO	PARTNER	1993	540 370	16 50 14 50	8,910.00 5,365.00
EDWARD	SEBOLD SNOW IP	PARTNER PARTNER	1991 1987	370 365	0.60	219 00
EDGAR	SNOW IR SPECHT	PARTNER	1987	515	1.00	515.00
SCOTT RICHARD	WERDER JR	PARTNER	1979	645	6.40	4,128.00
ERIN	KARZMER	OF COUNSEL	1990	435	0.20	87 00
TRACY	PLOTT	OF COUNSEL	1991	370	6.60	2,442.00
FREDERICK	RERKO	OF COUNSEL	1973	495	8 50	4,207 50
	WACH	COUNSEL	1994	360	2 50	900.00
			2003	240	92.20	22,128.00
MARTHA TANVIR	ALAM	ASSULIATE:				
TANVIR	AL AM BLACK	ASSOCIATE ASSOCIATE	1998	325	100.60	32.695.00

^{*} All fees for nonworking travel are charged at one-half the normal hously billing rate.

^{**} Rate increase effective January 1, 2005

Limekeeper Name		Title	Bar Year	Billing Rate	Hours	Total Fees
SCOTT	FRIEDMAN	ASSOCIATE	1998	380	23 30	8.854.00
CARRIE	GIOVINE	ASSOCIATE	2000	305	1.00	305 00
CHRISTOPHER	GLEASON	ASSOCIATE	2000	220	7.50	1,650.00
ERIC	GOODMAN	ASSOCIATE	2003	155	25 20	3.906.00
CHELSEA	GRAYSON	ASSOCIATE	1998 1999	355 360	10.80 26.30	3,834.00 9,468.00
BRIAN	GREER	ASSOCIATE ASSOCIATE	2003	160	102 50 **	18,450 00
TRAVIS TRAVIS	HEIDORF HEIDORF	ASSOCIATE	2003	155	242 70	37,618 50
RYAN	HOUSEAL	ASSOCIATE	2004	230	3.00	690.00
SHANA	KLEIN	ASSOCIATE	2001	195	23.00	4,485.00
LESLIE	SCHAFER	ASSOCIATE	2000	290	194.50 **	56,405.00
LESLIE	SCHAFER	ASSOCIATE	2000	260	767 10	199,446,00
SABRENA	SILVER	ASSOCIATE	1996	420	1 80	756.00
TATJANA	STOLJAROVA	ASSOCIATE	2003	230	172.60 **	39,698.00
TATJANA	STOLJAROVA	ASSOCIATE	2003	210	559 20	117,432.00
THOMAS	WILSON	ASSOCIATE	2003	155	61 20	9,486.00
MARCIA	BURSTON	LEGAL ASST		125	3.00 **	375.00
MARCIA	BURSTON	LEGAL ASST		117	0.40	46.80
MARCIA	BURSTON	LEGAL ASST		115	1 20	138.00
CARINA	DOTSON	LEGAL ASST		108	1 80	194.40
GINGER	ELLIS	LEGAL ASST		230 131	2.40 3.00	552.00 393.00
MARY	HEMANN	LEGAL ASST		150	3.50	525.00
JORDAN MICHELLE	KEATING KROFEL	LEGAL ASST LEGAL ASST		150	6.80	1,020.00
MICHELLE	KROFEL	LEGAL ASST		140	2.60	364.00
BRADLEY	MILLER	LEGAL ASST		70	17 10 **	1.197.00
BRADLEY	MILLER	LEGAL ASST		63	34.40 ***	2.167.20
BRADLEY	MILLER	LEGAL ASST		55	4.70	258 50
DENISE	SCIABARASSI	LEGAL ASST		185	5 70	1,054 50
BETTY	YAKOVICH	LEGAL ASST		145	0.50	72 50
SUZANNE	KOSTON	LEGAL SUPPORT		95	1 50 **	142.50
SUZANNE	KOSTON	LEGAL SUPPORT		75	4.00	300.00
GAIL	NASH	PROJECT ASST		62	2 80	173.60
MICHAEL.	PARRIS	PROJECT ASST		45	1 30	58.50
	TOTAL				3,411 30	981,117.00
Chains Administration		DARTMER	1987	510	0.30	153.00
CHARLES	HARDIN JR	PARTNER	1987	450	9.70	4.365.00
MICHELLE HEATHER	HARNER LENNOX	PARTNER PARTNER	1993	595	0.50 **	297 50
HEATHER	LENNOX	PARTNER	1992	525	12 40	6,510.00
CARL	BLACK	ASSOCIATE	1998	375	3.60 **	1.350.00
CARL	BLACK	ASSOCIATE	1998	325	61 10	19,857.50
ILANA	GLAZIER	ASSOCIATE	2000	325	17 90	5.817 50
ERIC	GOODMAN	ASSOCIATE	2003	155	27.60	4.278.00
GUS	KALLERGIS	ASSOCIATE	1999	300	4.10 **	1.230.00
GUS	KALLERGIS	ASSOCIATE	1999	240	35 90	8,616.00
THOMAS	WILSON	ASSOCIATE	2003	200	2.70 **	540.00
THOMAS	WILSON	ASSOCIATE	2003	155	36.10	5.595 50
MARCIA	BURSTON	I EGAL ASST		117	4 40	514 80
STACY	DEZSI	LEGAL ASST		155	6.30	976.50
MARY	HEMANN	LEGAL ASST		131	14.70	1.925 70
BETTY	YAKOVICH	LEGAL ASST		139	2.00	278.00
NATALIE	SAVARESE TOTAL	PROJECT ASST		63	3 40 242 70	214 20 62,519.20
Covert Hoselese						
Court Hearings KATHLEEN	BURKE	PARTNER	1973	385	1 30	500.50
MICHELLE	HARNER	PARTNER	1973	385 450	74 20	33.390.00
DAVID	HEIMAN	PARTNER	1971	795	25 50	20.272.50
HEATHER	LENNOX	PARTNER	1992	595	2 80 **	1,666 00
HEATHER	LENNOX	PARTNER	1992	525	233 10	122.377 50
RACHEL.	RAWSON	PARTNER	1991	375	8.00	3,000.00
EDWARD	SEBOLD	PARTNER	1991	370	99 10	36,667.00
RICHARD	WERDER JR	PARTNER	1984	645	145 10	93.589.50
CARL	BLACK	ASSOCIATE	1998	375	0.50 **	187.50
CARL	BLACK	ASSOCIATE	1998	325	104 70	34.027 50
PEARSON	BOWNAS	ASSOCIATE	1997	280	12.80	3,584,00
ERIC	GOODMAN	ASSOCIATE	2003	155	1 10	170.50
BRIAN	GREER	ASSOCIATE	1999	360	27.00	9.720.00
SHANA	KLEIN	ASSOCIATE	2001	195	7.00	1.365.00
THOMAS	WILSON	ASSOCIATE	2003	155	13 70	2.123 50
MARCIA	BURSTON	LEGAL ASST		117	0.70	81 90
MARCIA	BURSTON	LEGAL ASST		115	5 80	667.00
MARY	HEMANN	LEGAL ASST		131	6.80	890.80
GAIL	NASH	PROJECT ASST		62	3 80	235.60
LLOYD	AMSTER	STAFF		60	1.00	60.00
	TOTAL				774.00	364,576 3

^{*} All fees for nonworking travel are charged at one-half the normal hourly billing rate

^{**} Rate increase effective

^{***} Rate increase effective July 1: 2004

Limekeeper Name		Title	Bar Year	Billing Rate	Hours	Total Fee
0	Patrita					
General Corporate/Real SHARON	ESTRIC ALEXANDER	PARTNER	1990	410	0,60	246.0
RACHEL	ALLEN	PARTNER	1989	335	2 20	737.0
ROBERT	AVERY	PARTNER	1971	550	7 80	4,290.0
KATHLEEN	BURKE	PARTNER	1973	385	0.10	38 5
THOMAS	DANIELS	PARTNER	1986	540	1.00	540.0
CHARLES	HARDIN JR	PARTNER	1987	530	0.50 **	265.0
CHARLES	HARDIN JR	PARTNER	1987	510	9 70	4,947.0
MICHELLE	HARNER	PARTNER	1995	450	57.60	25.920.0
DAVID	HEIMAN	PARTNER	1971	825	0.50 ** 5.00	412.50 3.975.00
DAVID	HEIMAN	PARTNER	1971 1974	795 450	0.90	405.0
RONALD	JANKE	PARTNER PARTNER	1974	610	11.00	6,710,0
CARL RICHARD	JENKS KOSNIK	PARTNER	1983	650	98.20	63,830.0
EFFREY	LEAVITT	PARTNER	1973	545	6.00	3,270.0
HEATHER	LENNOX	PARTNER	1992	595	3 80 ••	2,261 0
IEATHER	LENNOX	PARTNER	1992	525	49 80	26,145.0
TROY	LEWIS	PARTNER	1987	500	3 10	1,550.0
RORY	LYONS	PARTNER	1985	450	1.00	450,0
ERIC	MAKI	PARTNER	1987	550	2.00	1.100.0
MARY	MALONEY	PARTNER	1987	525	170 **	892 5
MARY	MALONEY	PARTNER	1987	475	15 10	7.172 5
STEPHEN	MIXTER	PARTNER	1986	440	1 70	748.0
DAVID	PORTER	PARTNER	1981	575	43 30 **	24.897 5
DAVID	PORTER	PARTNER	1981	560	386.60	216.496.0
EDWARD	PURNEL L	PARTNER	1990	475	0.50 **	237 5
EDWARD	PURNELL	PARTNER	1990	450	49.20	22,140.0
RACHEL	RAWSON	PARTNER	1991	375	17.30	6.487 5
JOHN	REGO	PARTNER	1988	475	3 90	1.852 5
RICHARD	REPPERT	PARTNER	1974	390	150 **	585 ()
RICHARD	REPPERT	PARTNER	1974	350	0.20	70.0
JEANNE	RICKERT	PARTNER	1980	530	1.30	689.0
LOUIS	RORIMER	PARTNER	1975	430	6.00	2.580.0
ERIN	KARZMER	OF COUNSEL	1990	465	98.00 ••	45.570.0
ERIN	KARZMER	OF COUNSEL	1990 2004	435 160	578 70 2 00	251.734.5 320.0
KATHLEEN	AMER	ASSOCIATE ASSOCIATE	2004	225	7.00	1.575.0
JEREMY	BEYDA BLACK	ASSOCIATE	1998	375	310 **	1,162.5
CARL CARL	BLACK	ASSOCIATE	1998	325	41 10	13.357 5
STEPHEN	COOLBAUGH	ASSOCIATE	2001	220	137.40 **	30,228.0
STEPHEN	COOLBAUGH	ASSOCIATE	2001	195	856 90	167.095 5
MATTHEW	COSENTINO	ASSOCIATE	****	225	4.00	900.0
MATTHEW	ENGOTT	ASSOCIATE	2001	215	2.20	473.0
PATRICIA	ESCHBACH-HALL	ASSOCIATE	1999	275	8.60 **	2.365.0
PATRICIA	ESCHBACH-HALL	ASSOCIATE	1999	245	\$1.00	12.495.0
MONICA	FERRER	ASSOCIATE	1996	430	130,20 **	55.986.0
MONICA	FERRER	ASSOCIATE	1996	415	469 70	194.925 5
SCOTT	FRIEDMAN	ASSOCIATE	1998	380	0.40	152.0
CARRIE	GIOVINE	ASSOCIATE	2000	305	1 50	457 5
ERIC	GOODMAN	ASSOCIATE	2003	155	5 20	806.0
TRAVIS	HEIDORF	ASSOCIATE	2003	155	6,00	930.0
KAREN	HONG	ASSOCIATE	2064	160	10.20	1,632.0
RYAN	HOUSEAL	ASSOCIATE	2004	230	92.00	21,160.0
MARY ELIZABETH	HUBER	ASSOCIATE	1997	290	0.50	145.0
GUS	KALLERGIS	ASSOCIATE	1999	240	0.90	216,0
SHANA	KLEIN	ASSOCIATE	2001	195	3,40	663.0
LISA	KUNKLE	ASSOCIATE	1994	365	100 **	365.0
LISA	KUNKLE	ASSOCIATE	1994	325	28.80	9.360.0
IENNIFER	LEWIS	ASSOCIATE	1995	330	2.70 **	891.0
JENNIFER	LEWIS	ASSOCIATE	1995	315	4 60	1,449.0
GUANGHAO	LU	ASSOCIATE	2001	240	12.00	2.880,0
THOMAS	MOLINS	ASSOCIATE	1993	380	30.10	11,438.0 416.0
ERIC	MOSIER	ASSOCIATE	1997	320 235	130 4180 **	9.823.0
R JASON	OBLANDER	ASSOCIATE	2000 2000	215	104 10	22.381
R JASON	OBLANDER PATEL	ASSOCIATE ASSOCIATE	2003	180	119.20 **	21.456.0
VIPUL VIPUL	PATEL	ASSOCIATE	2003	155	295.00	45,725.0
CHRISTINE	PRZYBYSZ	ASSOCIATE	2003	160	35.80 **	5,728.0
CHRISTINE	PRZYBYSZ	ASSOCIATE	2004	155	9 40	1,457.0
STEVEN	RININGER	ASSOCIATE	****	225	7 40	1.665.0
DIANE	ROSE	ASSOCIATE	1984	360	4 10 **	1,476.0
DIANE	ROSE	ASSOCIATE	1984	355	37 30	13.241
LESLIE	SCHAFER	ASSOCIATE	2000	260	60.70	15.782.0
STEFAN	SCHNOPP	ASSOCIATE	1997	295	178 90 **	52.775.5
STEFAN	SCHNOPP	ASSOCIATE	1997	280	1.104.10	309.148.0
TATJANA	STOLJAROVA	ASSOCIATE	2603	210	0.70	147.0
MEAGAN	TOOHEY	ASSOCIATE	2003	155	38.50	5.967.5
			*****		****	P

^{*} All fees for nonworking travel are charged at one-half the normal hourly billing rate.

5

^{*} Rate increase effective

^{***} Itale increase effective July 1 2004.

Timekeeper Name		Title	Bar Year	Billing Rate	Hours		Total Fees
THOMAS	WILSON	ASSOCIATE	2003	200	5 30	••	1.060.00
THOMAS	WILSON	ASSOCIATE	2003	155	10.30		1,596.50
JASON	WOLFE	ASSOCIATE		225	17.50		3.937 50
GEORGE	ZILICH	ASSOCIATE	2004	155	36 80		5,704.00
KAREN	CORRIGAN	SR STAFF ATTY	1993	190		••	1.311.00
KAREN	CORRIGAN	SR STAFF ATTY	1993	185	7.00		1.295.00
MARCIA	BURSTON	LEGAL ASST		117		•••	140.40
MARCIA	BURSTON	LEGAL ASST		115	1 10		126.50
SABRINA	CAHAL	LEGAL ASST		152	2 50		380 00 266 50
AMANDA	COCHRAN	LEGAL ASST		205 102	1 30 1 50		153.00
CARINA	DOTSON	LEGAL ASST		130	4 50		585.00
PATRICIA	GARVER	LEGAL ASST		155	0.30		46.50
KELLI	HALEY	LEGAL ASST LEGAL ASST		115	4,00		460.00
LANESHA	JOHNSON	LEGAL ASST		70	1 30		91.00
BRADLEY	MILLER	LEGAL ASST		125	21 70	***	2,712 50
TAMARA	SARI SARI	LEGAL ASST		122	19.00		2.318.00
TAMARA SUSAN	TURK	LEGAL ASST		60	3 70		222.00
DETTY	YAKOVICH	LEGAL ASST		137	0.30		41 10
THOMAS	DINH	LEGAL SUPPORT		250	0.30		75.00
SUZANNE	KOSTON	LEGAL SUPPORT		75	0.30		22 50
MELISSA	VOTAW	LEGAL SUPPORT		160	2.40	••	384.00
MELISSA	VOTAW	LEGAL SUPPORT		151	20 90	•••	3.155 90
MELISSA	VOTAW	LEGAL SUPPORT		147	13 30		1,955.10
GAIL	NASH	PROJECT ASST		62	0.40		24 80
NATALIE	SAVARESE	PROJECT ASST		63	B 70		548 10
	TOTAL-				5,617.40		1,799,759.40
Schedules/SOFA/U.S. Tr	ustee Reports						
MICHELLE	HARNER	PARTNER	1995	450	30.60		13,770.00
HEATHER	LENNOX	PARTNER	1992	525	0.30		157 50
CARL	BLACK	ASSOCIATE	1998	375	1 20	••	450.00
CARL.	BLACK	ASSOCIATE	1998	325	106.40		34,580 00
SHOSHANA	LITT	ASSOCIATE	2003	155	26.20 2.40		4,061 00 480.00
THOMAS	WILSON	ASSOCIATE	2003	200 155	710		1,100 50
THOMAS	WILSON	ASSOCIATE	2003	115	27 30		3,139 50
MARCIA	BURSTON	LEGAL ASST		128	9 10		1.164.80
MARY	HEMANN	LEGAL ASST PROJECT ASST		62	3.40		210.80
GAIL	NASH TOTAL	PROJECT ASSI		· ·	214.00		59,114 10
Employee Matters							
MICHELLE	HARNER	PARTNER	1995	450	22.60		10,170.00
DAVID	HEIMAN	PARTNER	1971	795	4.50		3.577 50
JEFFREY	LEAVITT	PARTNER	1973	545	0.20		109.00
HEATHER	LENNOX	PARTNER	1992	595	0.20	••	119.00
HEATHER	LENNOX	PARTNER	1992	525	21 50		11.287 50
RORY	LYONS	PARTNER	1985	450	0.30		135.00
MARY	MALONEY	PARTNER	1987	525	5 30	**	2.782 50
MARY	MALONEY	PARTNER	1987	475	31 10		14,772 50
EDWARD	SEBOLD	PARTNER	1991	370	17 90		6.623.00
ERIN	KARZMER	OF COUNSEL	1990	465	0.50		232 50
CARL	BLACK	ASSOCIATE	1998	375	1 10	••	412 50
CARL	BLACK	ASSOCIATE	1998	325	46.70		15.177 50
STEPHEN	COOLBAUGH	ASSOCIATE	2001	195	0.30		58 50
PATRICIA	ESCHBACH-HALL	ASSOCIATE	1999	275	17 80	**	4.895.00
PATRICIA	ESCHBACH-HALL	ASSOCIATE	1999	245	53 40		13.083.00
MONICA	FERRER	ASSOCIATE	1996	415	0.50 20.50		207 50 6.662.50
ILANA	GLAZIER	ASSOCIATE	2000	325			198.00
ERIC	GOODMAN	ASSOCIATE	2003	180	01.1		
ERIC	GOODMAN	ASSOCIATE	2003	155	91 90		14.244.50 1,875.50
MELISSA	HORN	ASSOCIATE	2003	155 240	12 10 15 70		3.768.00
GUS	KALLERGIS	ASSOCIATE	1999	240 105	2.00		390.00
SHANA	KLEIN PUNKUE	ASSOCIATE	2001 1994	195 365	0.80	••	292.00
LISA	KUNKLE	ASSOCIATE ASSOCIATE	1994	325	0.50		162 50
LISA	KUNKLE		1997	320	9.00		2.880,00
ERIC	MOSIER	ASSOCIATE ASSOCIATE	2003	200	0.30	••	60.00
THOMAS	WILSON WILSON	ASSOCIATE	2003	155	3.80		589.00
THOMAS MARY	HEMANN	LEGAL ASST	¥003	131	2.20	***	288 20
MARY	HEMANN	LEGAL ASST		128	0.80		102.40
*******	TOTAL	anner son a seder of the feet of		7	384.60		115,155.10
Environmental Matters							
Environmental Matters HEATHER	LENNOX	PARTNER	1992	525	0.40		210.00

^{*} All fees for nonworking travel are charged at one-half the normal hourly billing rate.

^{**} Rate increase effective January 1 2005.

Rate increase effective July 1-2004

OGLEBAY NORTON COMPANY								
Timekeeper Name		Title	Bar Year	Billing Rate	Hours	Total Fees		
<u>Tax Advice</u> CARL	JENKS	PARTNER	1982	610	6.00	3,660.00		
RORY	LYONS	PARTNER	1985	450	4 60	2,070.00		
MARY	MALONEY	PARTNER	1987	525	4.80 **	2,520,00		
MARY	MALONEY	PARTNER	1987	475	2.80	1.330.00		
EDWARD	PURNELL	PARTNER	1990	475	11 50 ••	5,462 50 6.030,00		
EDWARD	PURNELL	PARTNER PARTNER	1990 1988	450 525	13.40 0.30	157 50		
CANDACE ERIN	RIDGWAY KARZMER	OF COUNSEL	1990	465	0.60	279.00		
CHARLES	STEINES	COUNSEL	1977	330	1.00	330.00		
CARL	BLACK	ASSOCIATE	1998	325	2 20	715 00		
MONICA	FERRER	ASSOCIATE	1996	430	3.40	1,462.00		
LJSA	KUNKLE	ASSOCIATE	1994	325	0,40	138.00 544.00		
COLLEEN	LADUZINSKI	ASSOCIATE	2001 2003	320 155	1 70 19 90	3,084 50		
THOMAS	WILSON TOTAL	ASSOCIATE	2003	:55	72.60	27,774 50		
Litigation/Adversary	Duranadinas							
KATHLEEN	BURKE	PARTNER	1973	385	5 10	1.963 50		
MICHELLE	HARNER	PARTNER	1995	450	91 90	41.355.00		
DAVID	HEIMAN	PARTNER	1971	795	19 50	15.502.50		
HEATHER	LENNOX	PARTNER	1992	595	1 90 **	1.130.50		
HEATHER	LENNOX	PARTNER	1992	525	68 20	35,805 00		
JOHN	NEWMAN JR	PARTNER	1970	650 370	1 30 84.80	845.00 31.376.00		
EDWARD EDWARD	SEBOLD SEBOLD	PARTNER PARTNER	1991 1991	0	0.00	0.00		
RICHARD	WERDER JR	PARTNER	1984	645	25 60	16,512.00		
TANVIR	ALAM	ASSOCIATE	2003	240	4.50	1,080.00		
CARL	BLACK	ASSOCIATE	1998	375	1.00 ••	375.00		
CARL	BLACK	ASSOCIATE	1998	325	69 50	22.587 50		
ANDREW	FIORELLA	ASSOCIATE	2003	180	0.10 **	18 00		
ANDREW	FIORELLA	ASSOCIATE	2003	155	196 20	30,411.00		
ERIC	GOODMAN	ASSOCIATE	2603 2004	155 155	38 30 15.00	5,936.50 2,325.00		
ALEXANDER GUS	JUNGE KALLERGIS	ASSOCIATE ASSOCIATE	2004 1999	240	3 10	744.00		
DAVID	MILLS	ASSOCIATE	2002	175	3 40	595.00		
KELLY	NEFF	ASSOCIATE	2003	210	23 70	4.977.00		
LESLIE	SCHAFER	ASSOCIATE	2000	260	3.00	780.00		
TATJANA	STOLJAROVA	ASSOCIATE	2003	210	1 20	252.00		
TRACY	STRATFORD	ASSOCIATE	1998	300	2 40 **	720.00		
TRACY	STRATFORD	ASSOCIATE	1998 2003	270 155	49.60 44.50	13.392.00 6,897.50		
THOMAS MARCIA	WILSON BURSTON	ASSOCIATE LEGAL ASST	2003	117	2.20 ***	257.40		
MARCIA	BURSTON	LEGAL ASST		115	2.30	264 50		
SHEILA	DEITRICK	LEGAL ASST		127	1 80	228.60		
JEAN-PIERRE	DELABRE	LEGAL ASST		127	4.60	508.00		
PATRICIA	GARVER	LEGAL ASST		130	9.10	1.183.00		
PATRICIA	GARVER	LEGAL ASST		125	34.40	4,360.00		
MARY	HEMANN	LEGAL ASST		140 131	1.00 ** 5.60	140.00 733.60		
MARY LANESHA	HEMANN JOHNSON	LEGAL ASST LEGAL ASST		105	2.00	210.00		
ALISSA	ROVNY	LEGAL ASST		100	5.00	500.00		
TAMARA	SARI	LEGAL ASST		122	5.40	658 80		
BETTY	YAKOVICH	LEGAL ASST		139	10.80	1,501 20		
ANTOINETTE	BURRELL	PROJECT ASST		65	2.00	130.00		
MARK	FOWLER	PROJECT ASST		70	40.00	2.800.00		
GAIL.	NASH	PROJECT ASST PROJECT ASST		65 62	2.50 *** 1.00	162 50 62 00		
GAIL JOHN	NASH PAOLANO	PROJECT ASST		60	83.60	5,016.00		
201114	TOTAL	THOTEOT HAR			966 50	254,235.60		
Professional Retenti	on/Fee Issues							
MICHELLE	HARNER	PARTNER	1995	450	0 50	225.00		
DAVID	HEIMAN	PARTNER	1971	795	0.50	397 50		
HEATHER	LENNOX	PARTNER	1992	525	8 70	4.567 50		
CARL	BLACK	ASSOCIATE	1998	375	0.20 **	75.00		
CARL.	BLACK	ASSOCIATE	1998	325 155	85.40 5.50	27.755.00 852.50		
ERIC GUS	GOODMAN KALLERGIS	ASSOCIATE ASSOCIATE	2003 1999	240	0.90	216.00		
SHANA	KLEIN	ASSOCIATE	2001	195	0.50	97 50		
LESLIE	SCHAFER	ASSOCIATE	2000	260	0.20	52 00		
THOMAS	WILSON	ASSOCIATE	2003	200	4.40 **	880,00		
THOMAS	WILSON	ASSOCIATE	2003	155	90.20	13.981.00		
LYNNE	FISCHER	STAFF ATTY	1996	160	110.70	17.712.00		
MARCIA	BURSTON	LEGAL ASST		117	5.60 ••• 24 10	655 20 2,771 50		
MARCIA MARY	BURSTON HEMANN	LEGAL ASST LEGAL ASST		115 140	3 90 **	546.00		
MARY	HEMANN	LEGAL ASST		131	41 70 ***	5,462.70		
				•				

[^] All fees for nonworking travel are charged at one-balf the normal hourly billing rate.

^{**} Rate increase effective

Rate increase effective

Timekeeper Nar	ne .	Title	Bar Year	Billing Rate	Hours	Total Fees
MARY	HEMANN	LEGAL ASST		128	18.00	2.304.00
PAUL	KEEN	PROJECT ASST		55	1 30	71 50
GAIL.	NASH	PROJECT ASST		62	0.90	55.80
	TOTAL				403.20	78,677.70
Fee Application Pr						ama no
MICHELLE	HARNER	PARTNER	1995	450	0.60	270 00 3.034 50
HEATHER	LENNOX	PARTNER	1992	595 525	5 10 ** 19 30	10,132.50
HEATHER	LENNOX	PARTNER ASSOCIATE	1992 1998	375	520 **	1,950.00
CARL CARL	BLACK BLACK	ASSOCIATE	1998	325	71.40	23.205.00
THOMAS	WILSON	ASSOCIATE	2003	200	22 20 **	4,440.00
THOMAS	WILSON	ASSOCIATE	2003	155	81.00	12.555.00
LYNNE	FISCHER	STAFF ATTY	1996	160	42.00	6,720.00
MARCIA	BURSTON	LEGAL ASST		125	1.60 **	200.00
MARCIA	BURSTON	LEGAL ASST		117	126.50 ***	14,800.50
MARCIA	BURSTON	LEGAL ASST		115	96.50	11,097 50
MARY	HEMANN	LEGAL ASST		140	16.90 **	2,366.00
MARY	HEMANN	LEGAL ASST		131	72.00 ***	9,432.00
MARY	HEMANN	LEGAL ASST		128	27 80	3,558.40
LANESHA	JOHNSON	LEGAL ASST		107	0.10	10.70
GAIL	NASH	PROJECT ASST		65	5 10	331.50
	TOTAL				593.30	104,103.60
Nonworking Trave		B + B 77 17 B	lance	725	47.00	10 575 00
MICHELLE	HARNER	PARTNER	1995 1971	225 397 5	47.00 * 16.00 *	10.575.00 6.360.00
DAVID	HEIMAN	PARTNER PARTNER	1971	297 5	10.30	3,064.25
HEATHER HEATHER	LENNOX LENNOX	PARTNER	1992	262 5	126.90 *	33.311.25
RACHEL	RAWSON	PARTNER	1991	187.5	10.50	1.968.75
EDWARD	SEBOLD	PARTNER	1991	185	25 50 *	4.717.50
CARL	BLACK	ASSOCIATE	1998	162.5	24 80 *	4,030.00
SHANA	KLEIN	ASSOCIATE	2001	97.5	3.00 •	292.50
TATJANA	STOLJAROVA	ASSOCIATE	2003	115	6.20 •	713 00
TATJANA	STOLJAROVA	ASSOCIATE	2003	105	19 50 *	2,047 \$0
THOMAS	WILSON TOTAL	ASSOCIATE	2003	77 5	4.60 * 294.30	356.50 67,436.25
Ashestos Matters						
MICHELLE	HARNER	PARTNER	1995	450	63 20	28,440 00
DAVID	HEIMAN	PARTNER	1971	795	27 20	21,624.00
HEATHER	LENNOX	PARTNER	1992	595	2.00 **	1.190.00
HEATHER	LENNOX	PARTNER	1992	525	97.00	50,925.00
RACHEL	RAWSON	PARTNER	1991	375	1 30	487 50
EDWARD	SEBOLD	PARTNER	1991	370	23,40	8,658.00
RICHARD	WERDER JR	PARTNER	1984	645	2 50	1,612 50
CARL.	BLACK	ASSOCIATE	1998 1998	375 325	710 ** 41 <i>9</i> 0	2,662 50 13.617 50
CARL PEARSON	BLACK BOWNAS	ASSOCIATE ASSOCIATE	1998	280	53 10	14.868.00
MONICA	FERRER	ASSOCIATE	1997	415	10.10	4,191 50
ANDREW	FIORELLA	ASSOCIATE	2003	155	54.00	8,370.00
ILANA	GLAZIER	ASSOCIATE	2000	325	1 80	585.00
ERIC	GOODMAN	ASSOCIATE	2003	155	40.90	6,339 50
GUS	KALLERGIS	ASSOCIATE	1999	240	79.00	18.960.00
KELLY	NEFF	ASSOCIATE	2003	210	4.30	903.00
CHARLES	PUGH	ASSOCIATE	2004	155	30.90	4,789 50
LESLIE	SCHAFER	ASSOCIATE	2000	260	1 20	312.00
TATJANA	STOLJAROVA	ASSOCIATE	2003	210	3 10	651.00
THOMAS	WILSON	ASSOCIATE	2003	155	79.00	12.245.00
MARCIA	BURSTON	LEGAL ASST		117	1.40	163.80
PATRICIA	GARVER	LEGAL ASST		130	8.30	1,079.00
JOHN	PAOLANO	PROJECT ASST		60	72.00 704.70	4.320.00 206,994 30
	TOTAL					

^{*} All feet for nonworking travel are charged at ene-half the normal hourly billing rate.

^{**} Rate increase effective January 1, 2005.

^{***} Rate increase effective July 1, 2004

Timekeeper Nat	ne	Title	Bar Year	Billing Rate	Hours	Total Fees
Shareholder Invest	lentlon					
MICHELLE	HARNER	PARTNER	1995	450	1.00	450.00
DAVID	HEIMAN	PARTNER	1971	795	0.50	397 50
HEATHER	LENNOX	PARTNER	1992	595	1.60 **	952.00
HEATHER	LENNOX	PARTNER	1992	525	8 10	4.252.50
JOHN	NEWMAN JR	PARTNER	1970	650	1 80	1.170.00
DAVID	PORTER	PARTNER	1981	560	6.30	3.528.00
EDWARD	SEBOLD	PARTNER	1991	370	14 40	5.328.00
ERIN	KARZMER	OF COUNSEL.	1990	435	6.60	2,871.00
CARL	BLACK	ASSOCIATE	1998	325	0.80	260.00
ANDREW	FIORELLA	ASSOCIATE	2003	155	57 40	8,897.00
ERIC	GOODMAN	ASSOCIATE	2003	155	12 70	1.968.50
IOHN	LEWIS	ASSOCIATE	1996	300	37 20	11.160.00
STEFAN	SCHNOPP	ASSOCIATE	1997	280	4.40	1.232.00
PATRICIA	GARVER	LEGAL ASST		130	5.00	650.00
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	TOTAL				157.80	43,116.50
	GRAND TOTAL				20,860.75	\$6,423.985.25

^{*} This amount, which differs from the amount of compensation requested by Jones Day for the Compensation Period, reflects the aggregate total of all fees requested by Jones Day in its twelve monthly applications for interim allowance of compensation and for reimbursement of expenses filed with the Court between May 5, 2004 and February 25, 2005 of \$6,423,985 25. The amount of compensation requested by Jones Day for the Compensation Period, \$6,392,348,75, represents the grand total described above. less (a) \$12,598.35 in voluntary reductions taken by Jones Day during the Compensation Period and (b) \$19,038.15 in requested fees (collectively, the "Unapproved Fees") not approved in the Order Approving First Interim Fee Application Requests (D I 2104). Jones Day has decided not to request final approval of the Unapproved Fees in its Final Application.

^{*} All fees for nonworking travel are charged at one-half the normal hourly billing rate.

nn Rate increase effective January 1, 2005.

Jones Day Disbursement Summary Third Interim Fee Period October 1, 2004 through January 31, 2005 Oglebay Norton Company

EXPENSE CATEGORY		October		November		December		January	7	TOTAL EXPENSES
Duplication and General Services										
Conference Call Charges			৬১	135.34			69	784.27	69	919.61
Сору	69	1,478.70	69	1,079.40	69	511.95	643	946.20	ଜ	4,016.25
Postage	69	4.90	64)	2.95	ଜ	1.98	69	24.50	69	34.33
Delivery										
Courier Services	(••)	6.30	69	129.28	6-9	4.00	69	27.25	Θĵ	166.83
Federal Express	6-9	299.42	ଜ	115.81	69	35.93	69	592.64	69	1,043.80
Long Distance	69	487.30	6/3	520.77	εn	281.22	6/ 3	182.21	649	1,471.50
Research and Document Retrieval										
Lexis	6-9	2,922.58	69	5,221.94	6-9	559.66	69	2,327.18	69	11,031.36
Westlaw	69	2,748.68	69	4,940.64	69	1,202.68	69	1,307.99	6/ 9	10,199.99
Document Retrieval/Other Corp.									ક્ત	\$
Other	6-9	1,149.61	69	1,466.85	69	821.64	69	2,972.64	69	6,410.74
Consultant/Agents Fees							60	2,035.00	69	2,035.00
Court Related										
Court Reporter Fees			69	2,615.20					69	2,615.20
Filing Fees	છ	10.00			69	577.75	69	120,522.45	€9	121,110.20
Travel										
Air Fare	€9	6,435.43	69	6,557.49	69	2,491.91	6/9	1,158.31	69	16,643.14
Food and Beverage Expenses	⇔	242.84	69	1,805.36	S	169.64	69	940.10	69	3,157.94
Hotel Charges	69	2,870.72	6/3	2,503.77	69	501.60	69	2,972.65	69	8,848.74
Taxi Charges*	69	191.11	69	•	69	397.80	69	150.82	6-9	739.73
Train Charges			69	372.00					6/9	372.00
Car Rental Charges					69	110.13			69	110.13
Tips, Parking, Mileage	69	181.13	6-9	166.70	69	103.29	6/3	32.22	69	483.34
TOTAL EXPENSES	89	19,028.72	69	27,633.50	69	7,771.18	69	136,976.43	69	191,409.83

^{*}These taxi charges reflect a compromise reached with the Fee Auditor (as such term is defined in this Final Application).

Jones Day Disbursement Summary FINAL Fee Application February 23, 2004 through January 31, 2005 Oglebay Norton Company

Train Charges Car Rental Charges Tips, Parking, Mileage TOTAL EXPENSES \$6	Taxi Charges	erage Expenses	Air Fare	Filing Fees	Court Reporter Fees	Consultant/Agents Fees	Other	Document Retrieval/Other Corp.	Westlaw		Research and Document Retrieval	Long Distance	Federal Express	Couner Services	Delivery	Printing	Postage	Facsimile	Copy \$1	Conference Call Charges	Duplication and General Services	EXPENSE CATEGORY F
\$58.00 \$ 6,599.05	\$25.00	\$8.36							\$674.37	\$3,138.63		\$57.72						\$1.00	\$1,944.37			February
\$126.44 \$30,742.12	\$629.32	\$512.70	\$11,796.75				\$566.88	\$9,428,18				\$89.98	\$210.29				S12.40	\$60.50	\$4,242.74			March
\$358.25 \$37,145.10	\$2,223.70	\$2,264.42	\$9,200.30				\$2,193.20	\$1,064.78	\$4,129.57	\$5,430,44		\$317.34	\$506.32				\$88.02	\$60.50	\$5,712.06			April
	\$1,878.29	\$837.12	\$6,489.08				\$1,777.86	\$200.00	\$2,463.00	\$2,357.31		\$400.68	\$222.39	\$22.80			\$70.76	\$13.75	\$1,714.70	\$40.90		May
\$62.50 \$ 15,449.72	\$1,859.37	\$311.48	\$2,972.50				\$1,154.17	\$4,069.54	\$1,593.70	\$1,218.67		\$791.70	\$297.76	\$49.38			\$33.32		\$416.85	\$618.78		June
\$678.43 \$14.00 \$15,271.05	\$663.89	\$1,403.50	0	\$310.21 \$206.50		\$215.66	\$350.00	\$948.61	\$3,626.20		\$1,223.23	\$126.53					\$1.66		\$5,255.98			July
\$155.26 \$22,541.30	\$1,345.01	\$1,427.34	\$4,833.79	\$1,518.00	\$935.00		\$3,653.43		\$1,942.34	\$2,967.93		\$308.92	\$85.23	\$10.80			\$10.34		\$1,615.05	\$156.06		August
\$12,033.21		\$285.08	\$710.40				\$628.00		\$404.71	\$2,689.72		\$147.54	\$414.01	\$4.00		\$32.00	\$7.28		\$6,323.27	\$387.20		August September
\$181.13 \$20,223.75	\$1,386.14	\$242.84	\$6,435.43	\$10.00			\$1,149.61		\$2,748.68	\$2,922.58		\$487.30	\$299.42	\$6.30			S4.90		\$1,478.70			October
	\$661.72				\$2,615.20		\$1,466.85		\$4,940.64	\$5,221.94		\$520,77	\$115.81	\$129.28			\$2.95		\$1,079.40	\$135.34		November
\$110.13 \$103.29 \$8,068.26	\$694.88	\$169.64	\$2,491.91	\$577.75			\$821.64		\$1,202.68	\$559.66		\$281.22	\$35.93	\$4,00			\$1.98		\$511.95			November December
\$32.22 \$ 137,498.94	\$673.33	\$940.10	\$1,158.31	\$120,522.45		\$2,035.00	\$2,972.64		\$1,307.99	\$2,327.18		\$182.21	\$592.64	\$27.25			\$24.50		\$946.20	\$784.27		January-05
\$1,480.43 \$234.26 \$1,233.79 \$352,964.72*	\$15,456.72	\$13,365.88	\$69,289.10	\$244,048.61 \$206.50	\$6,165.40	\$4,285.66	\$23,145.02	\$15,711.11	\$35,233.87	\$39,865.42	S1,223.23	\$5,183.41	\$3,823.60	\$420.64		\$32.00	\$292,44	\$135.75	\$35,257.52	\$3,042.16		Total

^{*} This amount, which differs from the amount of expense reimbursement requested by Jones Day for the Compensation Period, reflects the aggregate total of all expenses for which reimbursement was requested by Jones Day in its twelve monthly applications for interim allowance of compensation and for reimbursement of expenses filed with the Court between May 5, 2004 and February 25, 2005 (collectively, the "Monthly Applications") of \$352,964.72. The amount of expense reimbursement requested by Jones Day for the Compensation Period, \$345,913.75, represents the grand total described above, less (a) \$6,577.70 in voluntary reductions taken by Jones Day; and (b) \$473.27 in requested reimbursement of expenses not approved in the First Interim Fee Order. This amount (and the voluntary reductions described above) reflects a compromise Jones Day has reached with the fee auditor appointed in these chapter 11 cases (the "Fee Auditor") with respect to certain local transportation charges.

UNITED STATES BANKRUPTCY COURT DISTRICT OF DELAWARE

In re:

ONCO INVESTMENT COMPANY, :

a Delaware corporation, et al., : Jointly Administered

Case No. 04-10558 (DDS)

Debtors. : Objection Deadline: May 2, 2005

Chapter 11

Hearing Date: To be determined.

THIRD INTERIM AND FINAL APPLICATION OF JONES DAY FOR COMPENSATION FOR SERVICES RENDERED AND REIMBURSEMENT OF EXPENSES FOR THE PERIOD FROM FEBRUARY 23, 2004 THROUGH JANUARY 31, 2005

Pursuant to (a) sections 330 and 331 of the Bankruptcy Code,

11 U.S.C. §§ 101-1330 (the "Bankruptcy Code"), (b) Rule 2016 of the Federal Rules of

Bankruptcy Procedure (the "Bankruptcy Rules"), (c) the Administrative Order, Pursuant to

Sections 105(a) and 331 of the Bankruptcy Code, Establishing Procedures for Interim

Compensation and Reimbursement of Expenses of Professionals (D.I. 225), entered on

March 22, 2004 (the "Interim Compensation Order"); and (d) the Order Appointing Fee Auditor

and Establishing Related Procedures Concerning the Allowance and Payment of Compensation

and Reimbursement of Expenses of Professionals and Members of Official Committees and

Consideration of Fee Applications (D.I. 944), entered on May 28, 2004 (the "Fee Order"), Jones

Day hereby files this Third Interim and Final Application of Jones Day for Compensation for

Services Rendered and Reimbursement of Expenses for the Period from February 23, 2004

through January 31, 2005 (the "Final Application"). By this Final Application, Jones Day seeks

final allowance of compensation for services rendered to the above-captioned reorganized

debtors (collectively, the "Debtors") of \$6,392,348.75¹ and reimbursement of related expenses of \$345,913.75² for a total of \$6,738,262.50 for the period February 23, 2004 through January 31, 2005 (the "Compensation Period"). In support of this Final Application, Jones Day respectfully represents as follows:

PRELIMINARY STATEMENT

From the outset of these cases, the Debtors demonstrated their commitment to completing the chapter 11 process as quickly as possible. As counsel to the Debtors, Jones Day aggressively pursued the Debtors' goals of achieving an expeditious reorganization of their businesses, deleveraging a heavily-burdened balance sheet, returning the Debtors to profitability

CLI- 1283389v4 -2-

This amount reflects the aggregate total of all fees requested by Jones Day in its twelve monthly applications for interim allowance of compensation and for reimbursement of expenses filed with the Court between May 5, 2004 and February 25, 2005 (collectively, the "Monthly Applications"), as described *infra*, of \$6,423,985.25, less (a) \$12,598.35 in voluntary reductions taken by Jones Day during the Compensation Period and (b) \$19,038.15 in requested fees (collectively, the "Unapproved Fees") not approved in the Order Approving First Interim Fee Application Requests (D.I. 2104) (the "First Interim Fee Order"). Jones Day has decided not to request final approval of the Unapproved Fees in this Final Application.

² This amount reflects the aggregate total of all expenses for which reimbursement was requested by Jones Day in the Monthly Applications of \$352,964.72, less (a) \$6,577.70 in voluntary reductions taken by Jones Day; and (b) \$473 27 in requested reimbursement of expenses not approved in the First Interim Fee Order. This amount (and the voluntary reductions described above) reflects a compromise Jones Day has reached with the fee auditor appointed in these chapter 11 cases (the "Fee Auditor") with respect to certain local transportation charges. In the Fee Auditor's Final Report Regarding the Interim Fee Application of Jones Day for the First Period (the "First Fee Auditor Report"), the Fee Auditor objected to \$1,566.71 in expenses attributable to local transportation charges, which expenses were not approved on an interim basis by the First Interim Fee Order, but with respect to which Jones Day, in in its response (D.I. 1795) to the First Fee Auditor Report, reserved its right to request final approval. In the Fee Auditor's Final Report Regarding the Interim Fee Application of Jones Day for the Second Period (D.I. 2188) (the "Second Fee Auditor Report"), the Fee Auditor objected to \$3,147.92 in expenses attributable to local transportation charges, with respect to which Jones Day, in its response (D.I. 2239) to the Second Fee Auditor Report, reserved its right to request final approval. Jones Day and the Fee Auditor have agreed that: (a) Jones Day will not request final approval of any expenses attributable to local transportation charges incurred by its professionals outside the hours of 9:00 p m to 5:00 a m, during the first and second interim fee periods (i.e., \$1,903 42); (b) Jones Day will voluntarily reduce its request for reimbursement of expenses for the third interim period by the amount necessary to exclude those expenses attributable to local transportation charges incurred by Jones Day professionals outside the hours of 9:00 p m to 5:00 a m (i.e., \$2,676.34); (c) the Fee Auditor will withdraw its objection to the reimbursement of all expenses attributable to local transportation charges incurred by Jones Day professionals within the hours of 9:00 p m to 5:00 a m during the first and second interim fee periods (i.e., \$3,244.29); and (d) the Fee Auditor will not object to the reimbursement of those expenses attributable to local transportation charges incurred by Jones Day professionals within the hours of 9:00 p m to 5:00 a m. during the third interim fee period (i.e., \$739.73).

and maximizing the value of their estates for the benefit of all parties. With these goals in mind, the process of developing a plan of reorganization began in earnest even prior to the commencement of these cases on February 23, 2004 (the "Petition Date").

Prepetition Restructuring Negotiations

In the weeks leading up to the Petition Date, in an effort to restructure their funded debt, the Debtors, with the assistance of Jones Day and the Debtors' financial advisors and investment bankers: (i) solicited interest from (A) potential equity investors with experience in investing in financially troubled companies and (B) various alternative financing sources regarding the refinancing of all, or a portion of, certain of the Debtors' prepetition credit facilities; and (ii) entered into lengthy discussions with (A) an ad hoc committee consisting of certain holders (collectively, the "Old Senior Subordinated Noteholders") of the Debtors' 10% senior subordinated notes due February 1, 2009 in the aggregate principal amount of \$100 million and (B) certain holders (collectively, the "Old Senior Secured Noteholders") of the Debtors' 18% senior secured notes due October 25, 2008 in the aggregate principal amount of \$75 million (the "Old Senior Secured Notes"), regarding the restructuring of such debt obligations. Also prior to the Petition Date, the Debtors entered into a commitment agreement (as amended, the "Commitment Agreement") that, among other things, contemplated an investment in the reorganized Debtors by certain Old Senior Subordinated Noteholders and certain third party accredited investors, the proceeds of which were intended, among other things, to redeem (and, ultimately, did redeem) the Old Senior Secured Notes.

Jones Day further assisted the Debtors in taking substantial steps towards obtaining, negotiating the terms of and documenting an initial and a second debtor in possesssion financing facility and exit financing by executing two letter agreements with Silver Point Finance, LLC ("Silver Point") pursuant to which Silver Point committed to provide the Debtors

CLI- 1283389v4 -3-

with: (i) an interim debtor in possession credit facility with availability of up to \$75 million to cover the Debtors' working capital needs upon the commencement of the bankruptcy cases; (ii) a \$305 million debtor in possession credit facility that contemplated (A) the refinancing of the interim debtor in possession credit facility and (B) the refinancing and repayment of amounts outstanding under certain of the Debtors' prepetition credit facilities; and (iii) a \$310 million senior secured credit facility to be entered into by the Debtors upon the effective date (the "Effective Date") of the Second Amended Joint Plan of Reorganization of Debtors and Debtors in Possession (as amended or modified, the "Plan"), which was filed with the Court on July 30, 2004.

The Plan Confirmation Process

Subsequent to the Petition Date, Jones Day, on behalf of the Debtors, continued to negotiate the terms of the Debtors' proposed plan of reorganization with their stakeholder constituencies. For example, Jones Day participated in extensive discussions and negotiations with, among others: (i) the statutory committee of unsecured creditors appointed in these chapter 11 cases (the "Creditors' Committee") with respect to nearly every issue germane to the Debtors' reorganization, including the treatment of claims held by the Old Senior Subordinated Noteholders and the Old Senior Secured Noteholders and amendments to the Commitment Agreement; (ii) an ad hoc committee of holders of the Old Senior Secured Notes regarding the potential treatment of claims held by Old Senior Secured Noteholders under a plan; and (iii) counsel to certain of the Debtors' asbestos- and silica-related personal injury tort claimants (collectively, the "Tort Claimants") regarding the Debtors' proposed pass-through treatment of such claimants under the Plan as well as the possibility of settlement of the underlying tort claims of such claimants.

CLI- 1283389v4 -4-

With the significant assistance of Jones Day, these discussions and negotiations led to the filing with this Court of: (i) the Joint Plan of Reorganization of Debtors and Debtors in Possession, on April 27, 2004; (ii) the Disclosure Statement Pursuant to Section 1125 of the Bankruptcy Code for the Joint Plan of Reorganization of Debtors and Debtors in Possession, on May 21, 2004; (iii) the First Amended Joint Plan of Reorganization of Debtors and Debtors in Possession and First Amended Disclosure Statement Pursuant to Section 1125 of the Bankruptcy Code for the Joint Plan of Reorganization of Debtors and Debtors in Possession, on July 1, 2004; and (iv) the Plan and the Second Amended Disclosure Statement Pursuant to Section 1125 of the Bankruptcy Code for the Joint Plan of Reorganization of Debtors and Debtors in Possession (the "Disclosure Statement"), on July 30, 2004.

Both (i) the hearing to approve the Disclosure Statement as containing adequate information and (ii) the five-day hearing (replete with testimony and evidence) held to consider confirmation of the Plan were hotly contested by various creditor constituencies (including certain of the Old Senior Secured Noteholders and Tort Claimants), as well as certain of the Debtors' shareholders and a consortium (the "Consortium") of potential buyers seeking to purchase substantially all of the Debtors' assets. Jones Day advised the Debtors throughout this adversarial plan confirmation process, responded to the various objections filed and conducted the hearings in question, ultimately helping the Debtors to achieve successful outcomes to both. In close connection therewith, Jones Day assisted the Debtors in (i) responding to, and ultimately obtaining summary judgment upon, an adversary complaint filed by certain of the Old Senior Secured Noteholders and (ii) negotiating a settlement of approximately 30,000 claims held by the Tort Claimants. On August 4, 2004, the Court entered an order approving the Disclosure Statement as containing adequate information within the meaning of section 1125 of the

CLI- 1283389v4 -5-

Bankruptcy Code (D.I. 1447). On November 17, 2004, the Court entered an order confirming the Plan (D.I. 1945).

Implementing the Plan

The success of the Plan development, confirmation and implementation process required the coordinated and dedicated efforts of numerous Jones Day bankruptcy, finance, securities, corporate, tax, litigation and employee benefits attorneys over the course of these cases to address the myriad of complex restructuring issues faced by the Debtors.

In particular, the relatively novel restructuring of the Debtors' businesses contemplated by the Plan required sustained and creative effort on the part of Jones Day's teams of corporate and securities attorneys. The Plan provided for, among other things, the issuance by the Debtors of: (i) 90,000,000 shares of new common stock; (ii) warrants to be distributed to the Debtors' former shareholders that entitled them to puchase fractional shares of new common stock; and (iii) 30,000,000 shares of preferred stock to be distributed among (A) those Old Senior Subordinated Noteholders, as well as certain third-party accredited investors, party to the Commitment Agreement and (B) those Old Senior Subordinated Noteholders that were not party to the Commitment Agreement, pursuant to a rights offering. In connection with these securities offerings, Jones Day, on an expedited basis, assisted the Debtors with preparing and submitting numerous filings to the United States Securities and Exchange Commission, including: (i) a form S-1 registration statement (the "S-1"), filed on May 14, 2004; (ii) an amendment to the S-1, filed on November 19, 2004; (iii) a resale form S-1, filed on January 27, 2005; and (iv) various other documents (e.g., an S-8, a 10-K, various 8-Ks and 10-Os).

The Administration of the Debtors' Chapter 11 Cases

Concurrently with all of these Plan-related activities, Jones Day took a leading role in both the day-to-day administration of the Debtors' chapter 11 cases and in the effort to

CLI- 1283389v4 -6-

minimize the adverse impact of the Debtors' chapter 11 filings on the ongoing operation of the Debtors' businesses. For example, upon the commencement of these cases, Jones Day assisted the Debtors in stabilizing their businesses and achieving a "soft landing" in chapter 11 through a series of motions in the initial weeks of these cases to address a variety of specific business concerns. Among other things, these motions and related activities permitted the Debtors to (i) pay prepetition employee wages and benefits without interruption, (ii) honor prepetition obligations to customers necessary to preserve key business relationships, (iii) pay the prepetition claims of critical vendors and service providers essential to the continued operation of the Debtors' businesses, (iv) establish and maintain essential cash management procedures, (v) obtain interim and final debtor in possession financing, as described above, (vi) cement both the Debtors' insurance coverage and their ability to obtain bonds necessary to their businesses, and (vii) resolve numerous other important administrative issues.

Throughout these cases, Jones Day also assisted the Debtors in numerous other matters in order to (i) reduce the complexity and expense associated with these chapter 11 cases and (ii) maximize the value of the Debtors' estates for the benefit of all stakeholders. For example, Jones Day prepared and filed objections on the Debtors' behalf to motions filed by certain of the Debtors' shareholders and Tort Claimants seeking the appointment of official committees to represent their interests, which motions were denied. Further, Jones Day assisted the Debtors in evaluating and responding to the numerous offers from the Consortium to purchase substantially all of the Debtors' assets, and the multiple motions filed by the Consortium in connection therewith.

During these cases, Jones Day also devoted significant time to, among other things, the following: (i) assisting in the preparation of voluminous schedules of assets and

CLI- 1283389v4 -7-

liabilities, statements of financial affairs and other documents required by the Court or the United States trustee (the "U.S. Trustee"); (ii) addressing and resolving requests for relief from the automatic stay imposed by section 362 of the Bankruptcy Code and other requests by creditors for relief from the Court; (iii) completing the steps necessary for the Debtors to retain estate professionals and resolve other issues relating to the retention and payment of professionals; and (iv) addressing numerous other bankruptcy and corporate issues that arose in the ordinary course of the Debtors' businesses during the pendency of these cases.

Conclusion

In sum, Jones Day's services in connection with the foregoing matters and the other matters described in this Final Application and the Monthly Applications demonstrate

Jones Day's central role in enabling the Debtors to achieve their business and legal objectives in these cases. Jones Day believes that its efforts on these various matters were instrumental in

(i) achieving confirmation of the Plan less than nine months after the Petition Date, which Plan provided for a 100% payout to all of the Debtors' secured claimants and their general unsecured creditors; (ii) accomplishing the Debtors' expeditious emergence from chapter 11 on the

Effective Date, less than one year after the Petition Date; (iii) addressing the various issues that arose in these cases efficiently and effectively, with minimal disruption to the Debtors' businesses or, whenever possible, the need for involvement of the Court; and (iv) maximizing the value of the Debtors' estates for the direct benefit of the Debtors' stakeholders. Because of the substantial success that Jones Day helped bring to these cases, Jones Day submits that it is entitled to the interim and final allowance of the fees and reimbursement of the expenses requested herein.

CLI- 1283389v4 -8-

BACKGROUND

General Background

- The Debtors commenced their respective reorganization cases on the

 Petition Date by filing voluntary petitions for relief under chapter 11 of the Bankruptcy Code.

 The Debtors' chapter 11 cases have been consolidated for procedural purposes only and are being administered jointly.
- 2. The Court has jurisdiction over this matter pursuant to 28 U.S.C. §§ 157 and 1334 and Section XII.2 of the Plan. This is a core proceeding pursuant to 28 U.S.C. § 157(b)(2).

Retention of Jones Day

- 3. On February 24, 2004, the Debtors filed the application to retain and employ Jones Day as their counsel (the "Retention Application"). On March 23, 2004, the Court entered an order (D.I. 221) (the "Retention Order") authorizing the retention of Jones Day as the Debtors' counsel to perform any and all necessary or appropriate legal services on behalf of the Debtors in connection with these chapter 11 cases, <u>nunc pro tunc</u> as of the Petition Date. A copy of the Retention Order is attached hereto as Exhibit A and incorporated herein by reference.
- As described in the Retention Application, Jones Day charged for its services in these cases in accordance with its ordinary and customary hourly rates in effect on the dates that services were rendered. These rates were identical to those charged by Jones Day for similar services in other bankruptcy and nonbankruptcy matters.
- 5. In this Final Application, Jones Day seeks the final allowance of compensation for services rendered and reimbursement of related expenses incurred in the Debtors' chapter 11 cases. Pursuant to section III.A.1 f.ii.A of the Plan, all applications for final

CLI- 1283389v4 -9-

allowance of compensation and reimbursement of related expenses are due no later than 60 days after the Effective Date, or April 1, 2005. To the best of Jones Day's knowledge, this Final Application complies with: (a) sections 330(a) and 331 of the Bankruptcy Code; (b) Bankruptcy Rule 2016; (c) the Interim Compensation Order; (d) the applicable provisions of the Guidelines for Applications for Compensation and Reimbursement of Expenses of Professionals adopted by the Office of the U.S. Trustee (the "Guidelines"); (e) Rule 2016-2 of the Local Rules for the United States Bankruptcy Court for the District of Delaware (the "Local Rules"); and (f) the Fee Order.

COMPENSATION PAID TO JONES DAY AND ITS SOURCES

Jones Day from the Debtors in connection with services rendered during the Compensation
Period totals \$5,307,007.37. Jones Day has not received payment from any source other than the
Debtors in connection with these chapter 11 cases. None of the above-referenced payments has
been shared by Jones Day with any other party. No agreement or understanding exists between
Jones Day or any third person for the sharing of compensation, except as permitted by
section 504(b) of the Bankruptcy Code and Bankruptcy Rule 2016 with respect to sharing of
compensation between and among partners of Jones Day. All the services for which
compensation is requested in this Final Application were rendered at the request of, and solely on
behalf of, the Debtors, and not on behalf of any other entity.

Fee Statements

7. Jones Day has previously filed Monthly Applications corresponding to the following periods:

CLI- 1283389v4 -10-

Dated	Filed	Period Covered	Requested Fees	Requested Expenses	Date of Certificate of No Objection	Paid Fees	Paid Expenses
5-05-04	5-05-04 (D.I. 576)	2-23-04 through 2-29-04	\$178,160 35	\$6,599.05	5-26-04 (D I. 935)	\$169,084.68	\$6,599.05
5-27-04	5-27-04 (D I. 943)	3-01-04 through 3-31-04	\$606,299.50	\$30,742.12	6-17-04 (D.I. 1215)	\$602,741.58	\$30,742.12
6-09-04	6-09-04 (D I. 1069)	4-01-04 through 4-30-04	\$805,529.85	\$37,145.10	6-30-04 (D.I. 1279)	\$786,015.23	\$37,145.10
6-23-04	6-23-04 (D.I. 1238)	5-01-04 through 5-31-04	\$591,218.30	\$19,097.00	7-16-04 (D.I. 1358)	\$590,250.92	\$19,097.00
8-11-04	8-11-04 (D.I. 1483)	6-01-04 through 6-30-04	\$479,292 00	\$15,449.72	9-01-04 (D.I. 1579)	\$383,433 60	\$15,449.72
9-02-04	9-02-04 (D I. 1581)	7-01-04 through 7-31-04	\$600,379.75	\$15,271.05	10-18-04 (D.I. 1778)	\$480,303 80	\$15,271 05
10-19-04	10-19-04 (D.I. 1789)	8-01-04 through 8-31-04	\$492,027.55	\$22,541.30	11-08-04 (D.I. 1894)	\$416,163.34	\$22,541.30
11-10-04	11-10-04 (D.I. 1903)	9-01-04 through 9-30-04	\$677,695 55	\$12,033.21	12-03-04 (D.I. 2064)	\$542,156 44	\$12,033 21
12-09-04	12-09-04 (D.1. 2082)	10-01-04 through 10-31-04	\$609,595.75	\$20,233 75	12-30-04 (D.I. 2134)	\$487,676.60	\$20,233.75
1-05-05	1-05-05 (D.I. 2140)	11-01-04 through 11-30-04	\$503,873.70	\$28,295.22	1-27-05 (D.I. 2178)	\$403,098.96	\$28,295.22
1-26-05	1-26-05 (D.I. 2180)	12-01-04 through 12-31-04	\$288,258.05	\$8,068.26	2-16-05 (D.I. 2258)	\$230,606.44	\$8,068.26
2-25-05	2-25-05 (D.I. 2272)	1-01-05 through 1-31-05	\$589,533.15	\$137,498.94	3-18-05 (D.I. 2315)	\$0	\$0

8. Comprehensive fee details are attached to each of the Monthly

Applications previously filed with the Court and are incorporated herein by reference.³ These
fee details contain contemporaneous, daily time records that provide complete descriptions of

Jones Day will provide the Court with complete copies of all previously-filed Monthly Applications (and all related documentation) prior to the hearing on this matter.

activities performed by Jones Day professionals and paraprofessionals during the Compensation Period.

Summary of Services Rendered by Jones Day

The Jones Day partners, associates and paraprofessionals who have rendered services to the Debtors, as well as the hourly billing rates of, number of hours worked by and total fees attributable to each professional and paraprofessional, are all identified on the cover sheets attached hereto. In connection with the Debtors' chapter 11 cases, Jones Day attorneys and paraprofessionals expended a total of 20,860.75 hours during the Compensation Period.

10. The services rendered to the Debtors by Jones Day during the Compensation Period can be organized into the subject matter categories generally described below. More detailed explanations of the actual services provided to the Debtors are provided in the time details attached to the Monthly Applications.

a. Case Administration.

Fees: \$44,849.00 Total Hours: 302.55

This category includes all matters related to the daily case administration of the Debtors' complex chapter 11 cases, including the maintenance of a detailed work in process report and an internal pleadings index.

b. <u>Creditor Inquiries</u>.

Fees: \$16,864.60 Total Hours: 45.30

This category includes all matters related to responding to general inquiries from creditors.

CL1- 1283389v4 -12-

c. Meetings.

Fees: \$100,320.00 Total Hours: 178.90

This category includes all matters related to preparing for and attending meetings with the Debtors and the various parties in interest in these chapter 11 cases, including, among others, the Creditors' Committee, the U.S. Trustee, the Debtors' financial advisors and the Debtors' various lenders and bondholder constituencies.

d. Executory Contracts/Unexpired Leases.

Fees: \$129,044.20 Total Hours: 568.60

This category includes all matters related to counseling the Debtors about their rights and obligations under certain executory contracts and unexpired leases, as well as all matters related to the assumption, assumption and assignment or rejection of such contracts and leases.

e. Automatic Stay/Adequate Protection.

Fees: \$96,520.50 Total Hours: 433.40

This category includes all matters related to the imposition of the automatic stay under section 362 of the Bankruptcy Code and the adequate protection of creditor interests.

f. <u>Plan of Reorganization/Disclosure Statement.</u>

Fees: \$1,733,885.40 Total Hours: 5,102.20

This category includes all matters related to: (1) the formulation, negotiation and drafting of the various iterations of the Plan and Disclosure

Statement, as described in the Preliminary Statement above; (2) the promulgation,

CLI- 1283389v4 -13-

solicitation of acceptances and rejections, confirmation and implementation of the Plan; and (3) the drafting and filing of responses to the various objections filed with respect to the Plan and the Disclosure Statement.

g. <u>Use, Sale, Lease of Assets</u>.

Fees: \$137,712.00 Total Hours: 393.00

This category includes all matters related to the acquisition, disposition and other postpetition use of estate property.

h. <u>Cash Collateral/DIP Financing/Other Financing</u>.

Fees: \$981,117.00 Total Hours: 3,411.30

This category includes all matters related to the negotiation, documentation and closing of the Debtors' interim and final debtor in possession financing facilities, as well as the Debtors' confirmation/exit facility, and all related cash collateral issues.

i. Claims Administration.

Fees: \$62,519.20 Total Hours: 242.70

This category includes all matters related to the administration of claims against the Debtors, including any objections by the Debtors thereto, and all related contested matters.

i. Court Hearings.

Fees: \$364,576.30 Total Hours: 774.00

This category includes all matters related to preparation for, attendance at and participation in the various omnibus hearings regularly held before the Court throughout these chapter 11 cases, as well as the contested initial four-day hearing

CLI- 1283389v4 -14-

to consider confirmation of the Plan and the further evidentiary hearing on the re-opened record.

k. General Corporate/Real Estate.

Fees: \$1,799,759.40 Total Hours: 5,617.40

This category includes all matters related to the general corporate governance of the Debtors, as well as the various securities and corporate matters integral to the implementation of the Plan, including the preparation and filing of the S-1 (and all amendments thereto) and the resale form S-1, the negotiation of the Commitment Agreement and the various amendments thereto as well as assisting with the Debtors' numerous 10-K, 10-Q and 8-K filings.

1. Schedules/SOFA/U.S. Trustee Reports.

Fees: \$59,114.10 Total Hours: 214.00

This category includes all matters related to the preparation of the Debtors' schedules of assets and liabilities and statements of financial affairs, as well as the Debtors' monthly operating reports and other reports required by the U.S. Trustee or the Court.

m. Employee Matters.

Fees: \$115,155.10 Total Hours: 384.60

This category includes all matters related to employee wages and benefits, pensions, certain stock, incentive and severance programs, key employee retention, issues implicating the Employee Retirement Income Security Act of 1974 and retiree benefits.

CLI- 1283389v4 -15-

n. Environmental Matters.

Fees: \$210.00 Total Hours: 0.40

This category includes all matters related to the Debtors' environmental obligations.

o. Tax Advice.

Fees: \$27,774.50 Total Hours: 72.60

This category includes all matters related to, among others, federal and state income, property, employment, excise and franchise taxes, as well as various tax issues related to the Plan.

p. <u>Litigation/Adversary Proceedings</u>.

Fees: \$254,235.60 Total Hours: 966.50

This category includes all matters related to the following adversary proceedings: (1) MW Post Portfolio Fund Ltd, et al. v. Norwest Bank Minnesota, N.A., n/k/a Wells Fargo Bank, MN, N.A., et al., Adv. Proc. No. 04-54122 (DDS); (2) Oglebay Norton Marine Servs. Co., LLC v. Huron Lime, Inc., Adv. Proc. No. 04-54136 (DDS); and (3) Oglebay Norton Co. v. Port, Adv. Proc. No. 04-54939 (DDS).

q. <u>Professional Retention/Fee Issues.</u>

Fees: \$78,677.70 Total Hours: 403.20

This category includes all matters related to the review and/or preparation of: (1) applications to retain and/or compensate other professionals; and (2) objections to applications for compensation filed by other professionals in these chapter 11 cases.

CLI- 1283389v4 -16-

r. <u>Fee Application Preparation</u>.

Fees: \$104,103.60 Total Hours: 593.30

This category includes all matters related to the preparation of Monthly Applications, interim fee application requests and this Final Application.

s. Nonworking Travel.

Fees: \$67,436.25 Total Hours: 294.30

This category includes all travel time not otherwise chargeable. In accordance with Local Rule 2016, Jones Day has only invoiced the Debtors for 50 percent of its professionals' nonworking travel time. Accordingly, the fee amount set forth above represents 50 percent of the nonworking travel fees incurred by Jones Day during the Compensation Period.

t. Asbestos Matters.

Fees: \$206,994.30 Total Hours: 704.70

This category includes all matters related to asbestos- and silica-related personal injury tort claims against the Debtors, and the settlement of a significant portion thereof.

u. <u>Shareholder Investigation</u>.

Fees: \$43,116.50 Total Hours: 157.80

This category includes all matters related to a complaint, filed

December 15, 2004, by one of the Debtors' former equity holders against certain

of the Debtors' current and former directors and officers.

CLI- 1283389v4 -17-

Legal Argument

- 11. Section 330(a)(1) of the Bankruptcy Code provides, in pertinent part, for the payment of:
 - (A) reasonable compensation for actual, necessary services rendered by the trustee, examiner, professional person, or attorney and by any paraprofessional person employed by any such person; and
 - (B) reimbursement for actual, necessary expenses.

11 U.S.C. § 330(a)(1) (2004). To grant a request for compensation pursuant to section 330 of the Bankruptcy Code, a court must find that such request is reasonable. The reasonableness of a compensation request is determined by taking into account the nature, extent and value of the services provided by the professional and the cost of comparable services in nonbankruptcy contexts. See Zolfo Cooper & Co. v. Sunbeam-Oster Co., 50 F.3d 253, 258 (3d Cir. 1995); In re Busy Beaver Bldg, Ctr., Inc., 19 F.3d 833, 849 (3d Cir. 1994). The Third Circuit has adopted a "market-driven approach" to compensation requests that focuses primarily on the cost of comparable services in nonbankruptcy contexts. See Zolfo Cooper, 50 F.3d at 258; see also Busy Beaver, 19 F.3d at 849-50 (recognizing that Congress intended as a matter of policy that bankruptcy practitioners should be compensated at the same rates as nonbankruptcy practitioners in order to attract and retain top caliber attorneys to the practice of bankruptcy law); In re Fine Paper Antitrust Litig., 751 F.2d 562, 583 (3d Cir. 1984) ("The value of an attorney's time generally is reflected in his normal billing rate."). This market-based approach permits flexibility in billing arrangements. Although the "lodestar" method (hourly rate multiplied by hours worked) is currently the most widely utilized method for compensation arrangements, the Third Circuit recognizes that, if the market were to dictate some other form of compensation arrangement, section 330 of the Bankruptcy Code is flexible enough to accommodate requests

CLI- 1283389v4 -18-

for compensation on that basis. <u>See Busy Beaver</u>, 19 F.3d at 849 n.21, 856. Regardless of the manner in which compensation is calculated, however, "the baseline rule is for firms to receive their customary rates." <u>Zolfo Cooper</u>, 50 F.3d at 259.

- The rates charged by Jones Day in these chapter 11 cases are the same rates charged by Jones Day for comparable nonbankruptcy services rendered during the Compensation Period, and application of the foregoing criteria amply justifies the compensation and expense reimbursement requested in this Final Application. Moreover, Jones Day's fees are not unusual given the complexity and size of the Debtors' chapter 11 cases, and they are commensurate with fees that Jones Day has been awarded in other chapter 11 cases and that other attorneys of comparable experience and expertise charge on a regular basis in chapter 11 cases.
- 13. Jones Day has utilized the lodestar method for calculating its compensation requests submitted in this Final Application. Jones Day's lodestar calculation is based upon hourly rates that are well within the range of rates that are charged by comparable firms in other large bankruptcy cases. Accordingly, Jones Day's lodestar calculation is reasonable under section 330 of the Bankruptcy Code. See Pennsylvania v. Del. Valley Citizens' Council for Clean Air, 478 U.S. 546, 565 (1986); In re Drexel Burnham Lambert Group, Inc., 133 B.R. 13, 22 (Bankr. S.D.N.Y. 1991).
- 14. The professional services rendered by Jones Day during the Compensation Period required a high degree of professional competence and expertise so that the numerous issues requiring evaluation and response by the Debtors could be addressed with skill and dispatch. The provision of such services, therefore, required the expenditure of substantial time and effort. Jones Day submits that the services rendered to the Debtors were performed

CLI- 1283389v4 -19-

efficiently, effectively and economically and that the results obtained have provided a significant benefit to the reorganized Debtors.

Actual and Necessary Expenses Incurred by Jones Day

- Day in rendering services to the Debtors during the Compensation Period are attached to each of the Monthly Applications previously filed with the Court and are incorporated herein by reference.⁴
 - 16. Jones Day maintains the following policies with respect to expenses:
 - No amortization of the cost of any investment, equipment or capital outlay is included in Jones Day's request for reimbursement of expenses. In addition, for those items or services that Jones Day justifiably purchased or contracted from a third party (such as outside copy services), Jones Day seeks reimbursement only for the exact amount billed to Jones Day by the third party vendor and paid by Jones Day to the third party vendor.
 - Photocopying by Jones Day was charged at \$.15 per page in accordance with the Local Rules. To the extent practical, Jones Day utilized less expensive, outside copying services.
 - Telecopying by Jones Day was charged at the cost of the long distance call required to send the facsimile. The Firm does not charge clients for local facsimiles, inbound facsimiles, interoffice facsimiles or facsimile costs of less than \$1.00.
 - Mileage was charged at the prevailing rate allowed by the Internal Revenue Service for tax deductions for mileage.
 - All airfare expenses are for coach class travel. Charges for airline travel include the cost of each airline ticket used in connection with the provision of services to the Debtors' estates plus, for each airline ticket issued by the travel service regularly used by Jones

CL1- 1283389v4 -- 20-

...

As noted above, Jones Day will provide the Court with complete copies of all previously-filed Monthly Applications (and all related documentation) prior to the hearing on this matter.

Day, a \$40 transaction fee to cover travel service expenses.⁵ Jones Day professionals are to incur only reasonable meal, lodging and car rental costs when traveling on client matters

- Computer assisted legal research was used when time pressures rendered it impracticable to conduct such research manually or where the use of such computer services was determined to be more cost efficient. Computer-assisted research is billed on a per-search and/or per-minute basis, depending upon the provider. Jones Day used computer research in the following instances in connection with certain internal legal analysis and in preparation of internal memoranda and pleadings filed with the Court:
 - case law research regarding particularly important issues;
 and
 - shepardization of cases cited in pleadings filed with the Court. With computer assistance, the total shepardization and research time was greatly reduced. To complete this shepardizing and research manually would have taken significantly more lawyer or paraprofessional time, resulting in a greater cost to the Debtors' estates.
- Jones Day generally does not charge for postage less than \$1.00. Postage is billed at actual cost for postage over \$1.00 and for large mailings even if individual item postage is less than \$1.00. Overnight delivery services and messenger services were used when time pressures rendered it impracticable to use regular mail services. Messenger services are billed at the actual rates charged by comparable, outside delivery services or the actual cost of such services.
- Jones Day does not charge for telephone calls between its offices or for local or long distance calls less than \$1.00. Long distance telephone charges over \$1.00 and operator assisted conference calls are billed at actual cost.
- Jones Day bills for the actual cost of staff overtime only when staff
 overtime services are used for the needs of its clients and not for
 Jones Day's own convenience.

CLI- 1283389v4 -21-

The \$40 transaction fee described above represents the amount charged by Jones Day's travel service at the close of the Compensation Period. Prior to the adjustment of this transaction fee during the Compensation Period, Jones Day's travel service had charged a transaction fee of \$30.

Sections 330(a)(1)(B) and 503(b)(4) of the Bankruptcy Code permit reimbursement for actual, necessary expenses. See Zolfo Cooper, 50 F.3d at 258; White Motor Credit Corp., 50 B.R. 885, 891-92 (Bankr. N.D. Ohio 1985). Jones Day believes that those expenses for which final approval of reimbursement is sought in this Final Application satisfy the standards set forth in section 330(a)(1)(B) of the Bankruptcy Code, the Local Rules and the Guidelines.

Certification

In accordance with Local Rule 2016(f) and the Guidelines, the Certification of Heather Lennox is attached hereto as Exhibit B.

Notice

Pursuant to the Interim Compensation Order, notice of this Final Application has been given to

(a) the Debtors, (b) the U.S. Trustee, (c) counsel to the former Creditors' Committee, (d) counsel to the Post-Confirmation Lenders, (e) counsel to the former ad hoc committee of senior secured noteholders and (f) the Fee Auditor. In light of the nature of the relief requested herein, the Debtors submit that no other or further notice is required.

WHEREFORE, Jones Day respectfully requests (i) allowance on an final basis of (A) compensation of \$6,392,348.75 for services rendered in connection with these chapter 11 cases during the Compensation Period and (B) reimbursement of expenses incurred during the Compensation Period of \$345,913.75, for a total of \$6,738,262.50; (ii) authorization of the payment to Jones Day by the Debtors of all amounts requested herein, less those amounts already

CLI- 1283389v4 -22-

paid to Jones Day by the Debtors in accordance with the Interim Compensation Order; and (iii) such other and further relief as the Court may deem just and proper.

Dated: March 31, 2005 /s/ Heather Lennox

David G. Heiman (OH 0038271)
Heather Lennox (OH 0059649)
Carl E. Black (OH 0069479)
JONES DAY
North Point
901 Lakeside Avenue
Cleveland, Ohio 44114
(216) 586-3939

ATTORNEYS FOR REORGANIZED DEBTORS

CLI- 1283389v4 -23-